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Ledger Accounts,Trial Balance andRectification of Errors
Ledger : Principal Book of Accounts -

Utility of a Ledger
The usefulness of a ledger may be summarised as below :
(1) It provides complete information about all the accounts at one place.
(2) Itenables to ascertain which are the assets and of what values.
(3) Iltenable to ascertain which are the liabilities and of what amounts.
(4) It provides the complete information regarding the main items of revenues.
(5) TItenables to ascertain what are the main items of expenses.
(6) It)provides useful summary for the preparation of final accounts, :

In the previous chapters, we have learnt how to prepare ledger accounts ? First of all. all the
ransactions of financial nature are recorded in the books of accounts. With the help of subsidiary books and
the Journal we prepare ledger accounts. These ledger accounts have debit or credit balances. One very
important aspect of the double entry accounting system is that for each transactions there is debit and credit
of equal amounts in two or more accounts. Thus the total of the debit balance must be equal to the total of
credit balance. After balancing ledger accounts, we shall learn the method of verifying the correctness of
posting to ledger accounts in terms of the debit and credit amounts, by preparing a trial balance.

Meaning of Trial Balance : )

Trial balance is a statement, prepared with the debit and credit balances of ledger accounts to test
the arithmetical accuracy of the books of accounts, Ifthe totals of the debit and credit amount columns of the
trial balance are equal, it is presumed that the posting to the ledger in terms of debit and credit amounts is
dccurate but we cannot take it as the conclusive proof of arithmetical accuracy. Thus, a trial balance has the
following main characteristics : e

(1) A trial balance is prepared on a specific date. This is why, we use the word “as on....."_wlrh its
heading. It may be prepared at any time but it must be prepared at the close of the accounting vear

() A trial balance contains the list of all ledger accounts including cash account.

(3)  The total of the debit and credit columns of the amount of the trial balance must bc_equal. e

(4)  Ifboth the debit and credit columns have the same total, it does not mean that there is no mistaké in
accounting. : : o et

(5) The difference between the debit and credit side of the trial balance points out that certain mistakes

have been committed somewhere. ]
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(&) Wisa statement prepared in a tabular form. 1t has two columns one for debit balances and Wh-""r.

credit balances,

(7} The trial balance may be prepared with the balances or totals of balances and tolals ul‘ltd;u%

Objects and Functions of Preparing Trial Balance :
The following are the main objectives and functions of preparing the trial balance :
1] ‘l'nlm‘:rlaiulhudlhmr:liuimunt_rnl'lodgqrmlnu:A:indluwddmvelriulhhn,

in knowing the arithmetical accuracy ofthe accounting entries. This is because aceording 1o the dgy

aspect concept of accounting, for every debit there must be an equivalent credit, Trial

represents a summary of all ledger balances and therefore, if correet journalising and Posting s
ledger accounts has been made, the debit and credit columns total of the trial balance fbust
However. there may be centaln errors in the books of account ingpite of an agreed trial balance.

can be abtained a1 aglance from the trial balance. The position of a particular account can be j

To gel summarised infarmation of ledger accounts : The summarised position of ledger acooumy

simply by looking al the trial balance. The ledger may be sten only when details regarding de
Bocoums are required. infact, it would have been very difficult 1o assess the position of differes

ledger accounts from various subsidiary books and ledger accounts.
33

To use as basis for preparation of the final accounts : The ultimate end of maintaining books o

accounts is o ascenain the result of the business in (emms of peofit and to ascertain thé finascis
podition in terms of the value of different assets and liabilities. Preparation of trial balance facilitss
the preparation of final sceounts. For preparing the final accounts, ane need not refer to the kdgee
Infact, the availability of a vallied wriol balsnce is the first step in the preparation of final aceouns.

@) To use for making adjustments : While preparing final sccounts eertain adjustments

» the trial balance.
(5}

fegantiog
outstanding and prepaid expenses, sccrued and uneamed incomes and elosing stock etc. are w b
made. While idemtifying such items for adjustments, we will have o use the information fumished

by

To belp in locating errors ; Mmeﬂmmlhqcmnb«dlnhermmww&hlw

does not tally, the accountant i3 to face with the problem of locating and correcting the crrors. Thes,

when a trial balance does not tally, steps may be taken 1o locate the errors.
Preparation of Trial Balance :

record the b XS in

After completing the two steps of recording business transactions in the books of account as : (/%
d i bisidiary books and journal proper, and (ij) to prepare ledger sccoms

on the basis of subsidiary book and joumal proper, the third step is the preparation of trial balanee, whichmy

be prepared in the following format :
Trial Balanceason.._...........

. Particulars LE
. Debit Credit
Rs.
i @) [i7] [l
Total
Methods of preparing Trial Balance

There are three methods of preparing trial balance, The otal of both the debit and eredit columa
trial balance must be equal in all the methods. These methods are as under - ]

(1} Totalamount method : Under this method the totals of debits and credits, instead of the palances !

each account is separately written in the debit and credit columns of the trial balance. The 04
Dbodh the debit and credit column must be equal,

g0l

jod

(2) Balance Ii'llI'Jlud:T\!prme trial balance by this method, first of all every ledger WILKW:
balanced. msm-sdmimmedmrmfwhumofpmmrmmsomisw"ju
the ledger. Excess of the to1al of the debit side of an acconnt over its credit side fs kivown 4

Accounts, Triel Balance W“"’fﬁmﬁmg 5
b.muhw?li :::rmﬁj'l:b:r.::eﬂm! Mﬂmﬂm 1#ial balance. Sin}u‘lu'}'- encess of credit side of an
palance. The |Ioul o:lbwt‘:e mﬂmi"t mﬁ“""n‘:Lﬁ;:lm at the credit side of the trial

Total and Balance Met 3 ‘hmm‘MMMmuﬁl rgETEL

Balance is divided

N al mut Iec Sl ESct i ke s e ouvied

jotal of the debit and credit under each micthod must be cqual

e A8 I balance by T | Method

Prepare a trial balance by Total Method sccording 1o folloi ‘Actousts) information :
Cash Rs. 13,575 (Debit), Rs. 7250 (Credi, o (Tasal of i
Capital Rs. 44,650, Sales Rs. 13,930,

Purchases Rs. 34,200 (Debit), Rs. 10,558 (Credi)

Ram & Company Rs. 2,950 (Debit), Rs. 2.950 (Credil),

Furniture Rs. 1 7,400, Discount Rs. $0{Debit), Rs. 20{Credi),

Deawings Rs. 500 {Debit), Salaries Rs. 2,500 (Debit), Rest Rs. 3,200 (Debit)

(]

Solailon : Trial Balaace a3 on........
By Todals Method)
[s.¥a. | Nameof Ledger Account LE Dbkl Tota! Credil ToRI:
Rs.
L Cash Ale 18575 2%
1 | Copitl Ake - HE
1 Purchases Afc HaW :;ﬁ
: S 23; 2950
i Rtam & Company’s Afc e .
& Furniture Afc o =
1 Discount Afe P fns
i Drawings Ale 250 i
% | Salaries Afc Pt i
o Rent Adc T
Total o
1S (ST
ml il btance o henforaanghe et . by Buboce Mthod
Soluilgy . b Tria] Bialande a3 00
By B Credit Balanee
[E - Aecount LE mm =
T S Name of Ledger 5
| G wol
5| Purchases Ave 7400 sk
: | e 2 =
L3 i turg S0 =
b scount Allowed Alc 2300 —
': Dnm'ny Al 1200 =
gy Salaries Adc
Rem Aje - |___ 8,600 SE600
e

Debit and Credit sides of Ram &
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8.5
Solution : (1) In the above irial balance_ Turniture
Ilustration §.3 : 5

i ; debit 5ide (2) Similarly, Purchase Return A‘e and
fal balance from the information given in illustration 9.1 by total & balance megyy, iscount Received Afe have been shown on debit side
Prepare a trial

: whereas these thould be shown an credit silc, Hence.
ed trial balance will be a% under :
Salution 1'|-|n|.|mum--m--:mI & Corrected Trial Balance a5 u
Total of & Balances Met — v
| anics un LE | Debit Balances Credit Balances
S. | Namesof Accounts L Totake — | Rs. .
o, E | Detit Credit Debit Cool || [ 0000
Rs. Rs. Rs. Bll | pachinery 17000 N
Lo| Cashace 18575 7250 1328 - R ol - 7600
2 | capitalak - - M5 ] Bad debts 2300 -
% | Perchaies Ak 20 10555 BS =1 | costh ta hana L -
b Sales Ae o 1ass = o Discount Received o b
5 | Bam& Company's Alc 2950 550 — - Bl Livan -, 12000
6 | Fuminge Alc 17,400 - 17,400 = | e 5,000
T Discoant Alc ki) 1] 0 - i 100000 .
8 | Drawings v 0 i 50 - S . 73600
9 | Salaricsak 2500 - 2500 - | i 15400 -
10. | Rentise 3200 e 3200 - | Farminure - 104,000
Towl| [7937s 7375 SBE00 sk | bicn 20,000 -
Mustration 5.4 : | Debtors -
Froen the bucks of Jui Vijay Traders, following trial balance was prepared in which iomals ofd#| | Inierest Received - T
uﬁhoﬂmm«mlﬂmhmwﬁmmgmuuﬂéhmg | Tousl 265,500 .
Trial Balance ason.,, 1 Mustragion 8.5 -
Name of Account Debid Batances MNameof Account Credit Balane | Prepare o trial balance o the basis of following balasces - =
Rs. R Rs 20000
Buildings 000 | Copi 20| | Selaries ave saon | Sales A !
Machinery LTE | 200 Purchases Al 235000
17000 Fuimiture 150 Rent & Taxes Asc R K 20000
Return outwards 260 | Ssies 1| || Prinding & Suatianery Ate it B i 15000
Bad debis 29 | Debtors 0| | Raibvay Freigh are Ol 350000
i -}
Cash in hand o | i 280 | | Discount Allowed Al 20 S 130.000
Discount Reeeived 200 q Trade Creditors e Drawings Alc 140,000
Bask Loan 160 || e Debtors !mm Cxplulie 500,000
Creditors . Stow 1| L Pumiggre Fittings Al e e balances are debit or credit, Before preparing fhe
Purchuses : 20000 il g Ol0tbon : In this illastration, it S EOUERSE T et which accounts are related 10 debit
P : . e b Balance, it s (o, be scen on the “‘i"'“:“f.",,.:beacmumf ' g
L " e R
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(i) Accounts of expenses and losses-Debit Balances R
i) Accounts of Asseis-Debil Balances
(in} Accounts of Liabilities- Credit Balances
(v} Drawings Account-Debit Balance
(v Sales Aic and Purchases Rerurns Adc-Credit Balances
fvi) Purchases A'c and Sales Retumn Afe-Debin Balances
On deciding the balances of accounts as above trial balance may be prepared as under :
Trisl Balance as om.....
{Balanee Method)
SMo.|  Nameof Accounts LF |  DebitAmount Credil Amogal |
R, Rs.
L Salaries Ale 58,000 -
z Rent & Taxes Alc 12,000 =
3 Printing & Stationary Afc B.000 =
4 Railway Freight Afc 15,000 i
5 Discount Allowed Ade 22000 -
& Trade Creditors 3 400000
T Trade Debtors 300000 -
3 Fumilure and Fittings Afe 25000 -
9 Sales Al - 420000
[} Purchases Ale 255,000 -
1. Sales Retum Ade 20,000 -
iz Purchases Return Afc u 15,000
13 Building Ade 350,000 =
4, Cash Al 130,000 =
15 Drawings Afe 140,000 i
16 Capital Al - 50000 |
Tutal 13,35,000 133500 |
Hlustration 8.6 :
Prepare a Trial Balance from the following balance cxiracted from the books w‘,\,dily.mm
ason 3]st March, 2015 :
j MName of Accounis s, Name of Accaunts
Capital 1 85000 Loan From Vijay
Purchases MREEEL Travelling Expenses
Drawings 1500 Opening Stock
Sales 123450 Fuxtures and Fittings
Cartage 00 Bank Bakance

Ledger Accounts, Trial Balance aud

Rectificarioy of Ervory

Interew o Loan given
: 2700
Hllﬁlﬂs’ BA0 | Rewt from Tenanss 8100
wachinery & Plant 0| Cashin Haed A050
ission on Purchases
mﬂi 1200 | Suedry Crediters 13650
[ncome: X0 | Commission® Received TAN
Discount on Purchases L] Mlstor Car Expenes 1300
salaries and . Wages I Professional Foe Received 4.200
andl Taxes E k] Dok Charges 1300
If there is any difference in Trial Balnce it i s be written in SWSPETNEE ACCOUM
Solution :
Trial Balamee of Aditya amd Company
axon 117 March, 2013
(Batasce Method)
5No. | MNameof Accounts LE Debit Amount CreditAmount
[T R
T | ol 12
i Purchases Alc L
) | Oawings A B
4 P - | 25450
L Cartage Afe - G
6 Purchases Retums Afc I:“ o
1 Building Afc S0
8 Machinery Alc '
L] 2 wee
d Commission on Purchases 1300 -
I ;
I“- Income Tax . ! 8278
L Discount on Purchases (Received) L1
i ; i
| Salaries and Wages k1] 7
3. Insurance and Taxes 500
:* Looan from Vijay 2400 :
1" Travelling Expenses 1915
1‘* Opening stock 1730
11' Finwures and Fittings 350
]" Bank Balance o =
;: Interest given on Loan = -
Aol L IR e
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Sl , Trial Balance and i
2. CashinHand 4050 | g Ao Rectification of e, i
i mﬁlvﬁdhﬂfm“““‘f""hmwmumw -

n Crediters - 1385 such an error will he Lermed 2538 error of amigyg Sloos i :: il in the Retums Inward Book.
B Commission Received - 740 credit entry, therefore, the two sides of the tralbajce willnothe h‘i?&":lfiii:::." s s
M Motor Car Expenses 3,300 s (@) Errors of Principle : If there is an ey invelving accounting principle such 4 where proper
i - distinction between revenue and capita| jlems i# ot made, the frial balsnce will siill agree. Such
-] Professional Fee Received - 4200 errors also are difficult to be locaied. Examples of such errors are treating :n expense :! P

2. Dock Charges 1300 - treating; an ’:m:”%mﬁ'l“iﬂmimliabdm} of viee versa et
e Suspense Alc (Bafam Compensating Errors : As the name indicates compenati are.thase crrors by which the
=t citg figure) LEr —_— ] @ effect of cenain errors is recutralised by the effect of anather x::;:i;;n::;mu;q;:rrlg:uk
Total 360475 360475 agreement of the trial balance and, therefore, (ke loeation is alsa diffieul. Example of such error is
Errors affecting the Trinl Balance : 'Sll!ﬂfpﬁ::]s o L:'r. X for nuﬁmmm b Mr, X's Alc with Rs. 500 oaly and Rs. 5,000
1t is very often found that centain errors may be there in recording, classifying and summarising jhe recejved fom Rs. ¥ was credited 1o Y's A with Rs. 500 only. The effict of the crror in the trial
financial iransactions whe trial y balance will hemulheloulu]‘lhdw:aﬂuwnsmmunl b bess by Rs. 4,500 and Doth sides

cial iransactions whether the balance tallies or does not tally. S«neuﬂheermrsatrumnm of rial batance will tally i I

o!’rheuh!bnluﬂ.Suchtrmnmeem-mbermmsmmqmmmmuguﬁ,,m“mﬂ 4 :
balance in case of this agreement is said to be out of balance, Following errors responsible for dis. ) Errors of Commission : These are errors which are caused due 10 wrong posting cither of an amount

of trial balaree : or on the wrong side of an account or in the wrong accosnt, wrong totalling, weong balancing. nr;n,_
/rong bsidi of amount in the beoks of original entry ete. For
() Mo totaling or casting of the subsidiary books :Ervors oftotaling and subsiractions may occe mw:l;ge;:lﬂﬁwmmmmmkmdimwhis.mmtu 5. 350, this
in the subsidiary books or in the ledger accounts or even in the trial balance fiself. The trial balasce G ieros of L i bl o e e tal balksa TRy
Will be out due to these ervors if they are not nestralised by some other compensating errors. Fee e Emrs_ ¥

example, under casting or over casting of subsidiary books, ermors in the balancing or totalling of «
ledger accounts, wrong totalling of iril balance etc. s MMMCII& “d‘:::.'! balance does not agree the accosmtant mist immediately spot out the emors and
(2) Posting of the wrong amount : In case the posting of cenain entry from a subsidiary book 1o hm.}.::.m'rar: following steps can be suggested for the bocation of errors -
cencemed ledger account has been made by wrong amount, the trinl balance will no agree. For M) We should find w_nﬁ‘ re of the difference between the total of the debit and crodit columns of the
mlqﬂm&nmu m?ni.a writing 52 in place oF 25, emor of sliding figure i.c. writing trial hmu:mdﬂmiumhuuymofuum amount been omatied !rummpmi““t: i
in place of 70,000, error of doubling the fe. wri i ERENNRR Al
duplicate posting ete. 10 1he wrong figure e writing 377 in place of 397, emrorol @ If one amount has been shown for a gresp of accounts 1 ¢ suadry .

31 Posting at the wrong side of an accouni - While posting of jounal entries in the concemned bedger Yotal of the Hat.of such sccousts.

= halancing ol the various accoants. : i
accounts if it s made at the wrong side of any specific accoun, ihe trial balance will not tally. % :;M ﬂ;:f is no mhurl:cmﬂ ang to the differemce or urhﬁﬁumgo::‘:"::!ﬂ;ﬁ
@) Omission of an amount framcdger-mu-u:Alldnmiwmwngplminmimorhﬂrﬂ $ n ﬂ.:?;u d.ndwd |:.1 the balances of all accounss including the cash and sition of figure
balance will make the irial balance our, for exmnple. omission of total of any subsidiary book in leds” been written in the trial balance. It should be checked that ““""""':,‘.:Ti.';'f;’fﬁmmny. there
accounts, omission of posting of certain item from subsidiary boaks 1o ledger aceounts, omission el thm&m mmaﬂmnﬂwfﬂmrdhhmt i

7 figure may mcchmgcdlhri(plmc
) ’l:“ be a mm“mwim-:"!‘i‘:ggrm:mm In toealling or carrying
the difference is in the round figure, the misia! ounis.
m :ﬂ‘lﬂd the total of the M:&f:;ml J¢ that the certain bedger account may have been
the difference is of a large amour
L]
)

pasting the balance of any ledper accounts o trial balance ec.
) :1"“3 posting im the trial balance - Ifthe credit balance has been posted at the debit side of the it
ance andior the debit balance of an sccount has been pasted a the it 5i ial balance.
trial balance will ot ally, pasted @ the credit side of irial bal
Errors not affecting the Trial balance : - : ) 1d be chicked.
: : . omitted from trial balance. . the dilference shoul . :
There are cenain emors which do not affet the agreement of the trial balance, Their localion & Posting of all amounts corresposding 19 ﬁﬂuwnrimlliwb‘“‘"" pg,nn;aﬁ:::mmg
thersfore, a difficuk k. They are usually found ou vhen statement of accounts are received by e busine In the last, thorough checking of subsidiry secounts 1o trial balance should also mﬁn :
o v o o uring the course o nteral o extcmmal wudit and someties by chagce. As 4800 Fledger accounts and posing o 00 g iirnce il raemed o supense
earlier even if both the debit and credit columas of ttial balance are equal to each other, it can niever be 1ke? Mspite of all the alove efforts if the emors 16

of conclusive proof of accuracy. It means (hat there are certain emmors which remain undetecied by ! Trial Balance be closcd: o
balance. Such errors are committed in two or morc accounts. The errors may b:merl:mwd gt et R‘q*“:wﬁcﬂymu::d: Tia ecoumtat, all the rors 4% :;m«tdr::ln?::::!
(1} Errors of Omission : Thesc errors are incurred when a trmagél.im completely omitted from an g final aceounts,

of

3 despite the best efforts

books of accounts. It happens when a transaction is nod recorded in the books of eriginal ertry ¥ h‘*‘«dne,n:::;y |,||:,¢|, .we.w""”"m
e,

e Age
various subsidiary books including Joumal proper For example, il goads worth Rs. 12,000 has bee? i transferred in o newly Opeoed S * baclosed
’ . EArac I A Y sccoust 2
: . Will e cantined and SUSpEnse

delay inprePanTE B that, sincere efforts 1o lacate
|ﬁlflﬂ" pectification of all the errors. IF
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suspense account still shows a balance it will be shown in the Balance Sheet on gm assets side f iy Showg

debit balance of on te liabilities side. if it shows a credit balance. Thus, the opening of the SUSPRNSE fgogy

does not mean that the errors may be forgotten,
| Rectification of Errors

The old statement “To Err is human™ s true for accounts also. As discussed above. an accountan g
& human being is likely 1o commit mistakes of omission, commission and principles in maintaining books of
accounts. Errors should never be cormecied by overwriling. However, errors commitied in the books of
mnrrumbemirmd:tlheeadi:u.[li:bmmurmifymﬂm;suwuyuwmlnmIl'im i
after passing an entry, it is clear that an error has been committed, il may be comected by neatly crossing o
the wrong enary and making the correct emry. IF however, the errors are located afier sometime, the em
should be rectified only by making a suitable entry, called rectification entry,
Each error has to be dealt with on its merit. The guiding lines are :

Think about the transactions which have been wrongly recorded. See which account should have
been debited and which account should have been credited. Now consider what has actually been dore, [
oeder 1o nscertain the rectifying entries if some account should have been debited but could not be debited.
should be debited now. On the other hand if some account should have been eredited but could nat be
credited should be credited now, Similarly, if some sccounts have been debited wrongly. the same. Accoun
should be credited now to remove the debit and on the other hand if some account has been credited wionglh
should be debited now to remove the unwanted credit, Thas the 1pic “Rectification of errors™ means lo

remove lberrrmol'lhlermrlndwrmmthemmﬂ rosition.
Intact, the rectification of an error depends on at which stage it has been detected. An ermor iy be
detected 31 any one of the following stages :
(1} Before preparation of irial balance.
) Afeer irial balance but before the final actounts sre drawn,
(3] After final accounts fe. in the next accounting period.
(1) Before Preparation of Trial Balance :
There may be certain errors which are found before firk be
fm::huifw:?::heﬁﬂhuﬁngmn iy preparation of irial balance, Such errors may
n DneSqud Errors :Th:mmhrmuinﬂ'mwtichall‘mm:ideoranmnmrmmlhﬂm‘
m!mmﬁ:whti:isn«pmib]empmawmmmcmﬂury and can be
rectificd, by making simply rectification statements in the appropriate side (s) of concerned mecosn!
(5). Rectification of such errons is iflustrated in following illustration -
IMustration 8.7 :
{1} The sales book for Navember is undercast by Rs. 400, The effect of thi i Sales

Account has been credited short by Re. 400, Since the mmﬁgw Lﬁ.ﬂ;ﬂrm sales
!:or.!k._ there is no emor in the accoums of the eustomers since they are posted with the amounts of
individual sales. Hence, only the Satemctwmsnwdaobewrmwd. This will e done by making
an enlry fos . -Imﬁmhcmdnside"liyundtrmun. of Sates Book for November Rs, 400."
Rs. 5.000 received from M., & has been entered by mistake on the debit side of his sccount. Since 1%
cash book seems 1o have been correctly written, the error 0l in the account of Mr. X, e shoukd
have been credited and not debited by Rs. 5,000. Mot anly s the wrong debit (o be removed but 2l
ncreuitnl'lh,sm&whgim.Tmsmbndmmwhymuimh 10,000 on the credil side afhis

account. The entry will be *By posting on the wrong side of X's Afe s, 10,000,
Rs. 71 paid to Mr. ¥ has been posted s Rs, |7 1o the debit of

s be his account. Mr. ¥ has been debited
short by Rs. 54. The rectifying entry is “To mistake in posting on,.... s, ﬁ.'r

@

3

M

“

g5, Trial Balance and Recilfication of Erpyey
Mpurcllased from Ram for Rs. 4,000 wars wy

we cannol pass a complete joumal eniry for rectification even though rwo accounts are inmvolved
The rectification will be done by the eniry “To wrang posting ... Rs: 400" i the debit of Ram’s
gecount and * By omission of posting on..... Rs. 4,000 in the credit of Ram's acesunt.

811
ngly eredited 1o Raim s account by Rs. 400. Again

ion 8. ) :
N“.:{':w would you mlil}’ﬂ‘lﬁ Fl:l"nwll'lgcms in the books of X & Co. -

1]
@
#
L
m

The total to the Purchases Book has been undercast by Rs 400,
The Returns Inward Book has been undercast by Re. 500, |
Asum of Rs. 630 written off as depreciation on Machinery has not been dehited 1o depreciation

acoount.
mrnnlﬂfkt 200 for Salaries (to Gopal) has been posted iwice to Salaries Account
'Ir'lle total of Bills Receivable Book Rs. 6,300 has been posted to the credit of Bill Receivable Account
Anamount of Rs. 372 for a credit sake 1o *M” although correctly entered in the Sales ook, has been
Rs. 273.
Dimu:al;;wtd 1o Mohit Rs. 33 has not been entered imthe Discount Column of the Cash Book but
it has been posted to his personal account

Solwlion :

L
Ll
[}
L
]

L]
m

B Two-Sided Errors :

iy
1y
(4]
L]
(4

\nﬁ“ﬂh errors is illustrated in the following
lion

" kol
%hh-':‘_‘@"mingt:wrsw found inthe o0

1y
)
0y

The Purclases Account should rmh:mu&ﬁdahitoﬂh.m«siluﬂm:l.debllcd short previously.
“To undercasting of Purchases Book for the month of ......... Rs. 400, . e
Due to this error the Retums Inward Account bas been posted shost by Rs. SDO._mc cotect entry wil
“To nnd:n-.utlngﬂrMmllnMMhrlenr{td._..R; Sﬂ;). e
The omission of the debit to the Depreciation Accout will be rectified by the entry

fposting on ... Rs. 650.7 _ .
m :::‘:nd:b: \fi‘::b:gmwd by a credil in the Salaries account by the entry
"By double posting on H“dg:iﬁw‘;w
Rs. have been 10
mn:';?ruuﬂn::':t:vu:e Bills Receivable .w;:urrmgh debised by Re

reccived of .. 2.600."

:a“ﬁ‘:mm“m:fﬂ?,rﬁm hwm.mmuﬁummm will be
e WEORy pestiagon — of K it debited shoet by Rs. 35 The required enery 15
Due 1@ this error, the discount aceount has been e
“To omission of discount allowed to Mohiton .. RS-

il i Account and pot should be credred. To
B 12600 by the cntry

mmw'r"'“"“"” be pectificd by means of Journal Enigies,
RIS i s
When :‘m"n: ::: :::zemdu in one account "“;':f::::i';:r.ﬁ -;m:llh'r aoount,
When there is an excess debit in o #‘M‘:‘: chout credit in another account. Restification of
When there is mmdebkinmﬂm::mﬁm:

89 . ue Bros. Give the necessary Journal emries wo

Refecy

5 n“dmﬁmhmmm

; 1sed has been
Rs, 4.Iiﬂﬂ paid For furmiture pure - :::mm““m. Sﬂf!. ol 30 his Been debibet 05 Trude
= irs macle were debited 1o Bul h:IMP"’P'W for hiis persd d

EMaant of s, 2, 100 withdrawe

accaunt.
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0]
(3)
()
m
®

Rs. 3, 100 paid for rent debited to Landlord's account.
Salary Rs. 2,125 paid to a clerk due 1o him has been debited ta his personal accouny.
Rs. 4,100 received from Lal & Co. has been wrangly entered in Lalu & Co.

Rs. 2,700 paid in cash for a typewriter was charged to Office Expenses account,

Purchases of goods from Dev for Rs. 8,000 was wrongly recorded in Day Sales Book.
Solution :

Journal

Particulars LK

Fundamentals of Busingss 4
S Ao,

Furniture Ale 4_-3
To Purchases Ade

(Correction of wrong debit to Purchiases for furniture)

Repairs Al
To Building Ade
I_Cam:imufmdobitmbuilding fnﬂ-ewirsnndu}

Drawings Alg
To Trade Expenses Alc
(Correction of wrong debit to Trade Expenses Afc
for cash withdrawn by the proprictor
for his personal use),
Rent Alc
To Landlord’s Personal Ade
(Correction of wrong debit to Jand lord’s Ale for rent paid)

2,100

Salaries Afc
To Clerk™s (Personal) Afe

[Cmimnfmmgdnhkmclnrt'spmmlm for
salaries)

Lalu & Co.
ToLal & Co.

(Correction of wrong credit to Lals & Co. instead of
Lal & Co).

4,100

Typewriter Afe
To Office Expenses Ale
{Correction of wrong debit of Office Expenses Afe

for purchase of typewriter).

Purchaes Ale
Sales Ade
To Dev's Afg
(Goods purchased, wrongly entered in sales day book, now

F ¥

rectified.)

[

450

Liw

300

218

4w

270

Accoun’s, Tﬁdaammﬂmq&mqrm

813

" . __-_-____'_——-__
Tustration 8.10 :
ing ermors i =
The following were I'uundmm NW{RM “M-G'mlhen::tssar}- enilries o cormect
them: " -
) Rs. 350 paid for Rent debited tnl.:l.l'ldl'uﬁ'spum|mﬂ|
@ AsumofRs. 4,000 Wm extension of Buildings was debited 10 Repairs 1o Buildings Account.
@ Aclerk of the firm was pﬂllﬁh 3,600 a5 Salary, This ameant was debited fo his Personal Accoun
() Acheque of Rs. 6,300 paid to Mr. Saleem bad been debited 1o Mr. Raheern's Account
5 hqumnr Rs. 8,000 received from ¥ & Co., was dishomoured and debited to Allow ances Accoum
2] Rs. T00 posted 1o Ihdebilﬁﬂnﬁmlm instead of Shri Ram's Account for payment of his
dues.
(7 Interest acerued on Investments Rs. 1,340 not recorded in books.
# Goods worth Rs. 400 were retmed to Shyam was wrongly entered in Return Inmasd Book
Salation
Reetifying Journal Enteries Lr br.
SNo. | Particulars LE | Bs Ki.
| Rem Ak Dx 30
“To Landlord’s Personal A/c =
(For rent debited to Landlord's A, now corested) .
™ Dx.
ra
Buildings A/c A
To Repairs Ale e
(For extension of buildings, wroagly debited in Repairs A
I'Inwm'mcledl De 10
1 | salaries Avc 0
To Clerk’s Personal A'c
‘ camected)
i (For salaries wrongly debiled to clerk SA% P2 7 ————— 6300
M. Saleem's A/c 6300
To Mr. Raheem's Al
410 Rabeesm, now
{For cheque paid to Saleem wrongly debiled
" ___—_______—-——_‘ummumw B0
¥ & Co, 8000
To Allowances Afe debited 10
(For ¥ & Co's, cheque dishonoused a8 V080
Allowances Afe, now comected) Dx. 0
6, T
Shree Ram's Afc
To Stationery Afc i o instead of Sree
(For Stationery account wrongly debi
R‘M
P S e )
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1. Accroed Inténest Ale Dx 1340
To Ineress Alc 134
(For interest accrued on investmend, now recorded)
8 Shyam's AJe Dx. 00
To Purchases Return Alc P
To Sales Retumn Ade H 4
(Purchases retums wrongly recorded in sales return book,
now comected) -
Thus, it can be said that errors.d 1 before the prep af trial ba can be rectified cither

through rectification statements or through rectification enfries,
(2) After preparation of Trial Balance but before Final Accounts :

There may be certain errors which are found before the end of the accounting period or preparation
ul‘l’::lm'l accounts bul afier preparation of irial balance. Sometimes the trial balance is artificialy made Lo agree

Mustration 8.11 :

Pass Joumal Entries 1o rectify the following errors assuming

s the existence of necessary Suspeit

m '::«;d;mbwﬂﬂ from Mr. Mukesh amounting to Rs. 7,800 was posted to the credit of his sccount

@) Sales book was avercast by Rs. 3,400,
&)

=

While earrying forward the total of ane page of the Purchases Book to the néxt, the amount of
Rs. 1,465 was wrilten as Rs, 1,546,

{4) Canage Rs. 370 paid on Machinery newly acquired was debited o Carriage |nward Accoun

(%) Purchases retum 1o Z and Zee Bros. Rs. 2,400 were not recorded in Purchase Returms Book bt #*
Account of Z & Zee Bros, was duly debited for the amount.

(€) Drawings of goods costing 6,700 were not recorded in the books of Account.
(M Whitewashing expenses, Rs. 203 were posted from cash baok 10 the nominal account as ks, 302

f Also prepare Suspense Account starting with debit balance of Rs. 107 Have you any comments ®
offer on Suspense Account 7

Mﬂ"‘w& Trial Balance and Reetification of Erpye,

et ©
ﬂ' o

. Journal Enyrie;

Particulars

Suspense Account
To Mr. Mukesh

(For rectification of short credit to M. Mukesh's Ajc)

——— e

B.15

—— e

LFE

Amgunt

De

Sales Account
To Suspense Account
(For rectification ol wrong total of Sales Book)

Suspense Account

To Purchases Account
(For rectification of wrong carry forward of total ffrom one
page to another in the Purchases Book)

Machinery Account

To Carriage Inwards Afc g
(For rectification of wrong debit to carriage imvards for
cartage paid on newly acquined Machinery)

--._=__________________-————

. costing Rs. 6,700 by the proprietar)

Suspense Account

To Purchase Refums Afc
{For rectification of omission of credit to Parchaies
Returns Afc for goods retarned to Z & Zee Bros)

Drawings Account
To Purchases Account
(For rectification of omission of drawings of goods

Suspense Account
To Whitewashing or Repairs Account
i Account)
(For rectification of excess debit in Whitewashing

e —

Dx

6,700

JA0

6,00

Suspenst Account

Fartieulars
To Balance big

To Mukesy

To Purchases Account Afc
Ta Puschase Returns

To Whitewashing Ale
T“B!lmce cid

Pariicalars

LE

.

By Sales Account

3400

3A0

e ¢ all errors have not yet been



’ Acconnts, Trial Balance and Rectification of Ermes .17
8.16 Pundamentols of Businss Jicomg, e mation 813 :
Ulustration 8.12 ¢ : » The books of A could nol be taied. The accounast iransferred the difference of K 1,270 in the
The following ervors were located after closing the accounting books of & trading concemn org, mﬂw‘:{“‘“‘:‘:ﬁit side. The following mistake werc found laer o:wl't‘::ii[\ lF‘\l:sr.-:rrnll“s by
Ravi Shaker : Joumal entries Pprepare Supense Accoun| : C
(1) Goods purchased from Mr. X Rs. 4,000 was pasted to debit side of his persanal accoun,, (1) The purchase of Rs. 400 from X was entered into sales book butX’s personal account was rightly
@) Goodssold to Mr. Y. Rs. 10,549 was posted to debit side of his personal account as Rs. 10,45¢ credited.
(3)  Sales Day Book was erroncously undercast by Rs. 7,100, @ Thesaleof Rs. 1,430 toY was credited in his sccoent as Rs. 1,340,
4} Purchase Day Book was erroneously undercast by Rs. 4,500. @ The sale of old furniture Rs. 540 was credited in his Account a5 s, 340
(5} Payment of Rent Rs. 1,459 was posted to Rent Account as Rs, 1,495, @ Goodsworth Rs. 100 were taken by the proprietor which was ndt recorded.
Assume that on closing the books of the business the difference in Trial Balance Rs. 10,546 waspy (5) The sales of Rs. 2,296 10 Z was emtered in sales book as Rs. 2,260,
on the credit side of Suspense sccount. The errors were subsequently Found out before i {6) Sales recurn books balance of Rs. 210 was not included in the Account (RLL BCA 2007)
;@mu Pass necessary Journal entries 1o rectify the errors and also prepare the Suspense Account Solution Journal Entries for Rectification of Errors
ution : ] Tk
n Journal of Shri Ravi Shaker Rectification Enter D .
Rectification Enteries De [ Duie | Particulars L | Amount | Amount
Deate | Particulars LE | Amount | Amsous | Purch Al Dr. a0
L | Suspense Atc Dx. £000 Sales Ale O o
To M. X P To Suspense Account B i =
(Being rectification of posting of credit purchases from e g ] e = -
e ¥ o side 1 Y'sAlc d ™
2 ———““"‘3—-1“ Y To Suspense Account ) '
- Dr. € (Sales to Y Rs. 1,430 wrongly credited to his scoount
To Suspense Ale L a3 Rs. 340, now comrected)
(Sali of Rs., 10,549 10 Mr. ¥ was posted in his Sales Ale i o
account as Bs. 10,459, now reciified) | Suspenses "“';‘“ " 0
1 S To Furn Account
3 me_x; :\rJ: - Dr. 7,100 i (Sale of fumiture wrongly credited to sales Afc now
{being rectification of the undercasting of 4“"—6.%;;;,.5 3 L
Sales Book by Rs. 7,100) To Purchases Account =
4 Purchases Afc Dx wods withdrawn' now recorded) -
izl S W0 || [T et ottt 75 »
(Bei tification of th " To Sales Account :
eing rectification of the undercasting of {Salumz.ns.lﬁwmﬂ'wwmd"mm”m
Purchase Book by Rs. 4,500 [T i ™
[ correc [ 2
o = s || [T ek 20
© Rent To Suspense Account I
(Payment of Rent Rs. 459 was wrongly posted as | LS (u,w“rsﬂ’ Return book not incheded, now rectified)
Rs. 493, now rectified) unt
Suspense Acool =
Suspense Account Rs. 5 %00
) By Purchases Afe
Date | Particulars LE Rs. Date | Particulars l.n Balanee bid '-Ex By Sales Alc 0
To Mr. X 8,000 By Balance brd Ta Fumiture Are ¥ By Y's Alc ™
To Sales Alc 7,100 By Purcahises Al To Balance eid Adc By Sales Retorn Al 210
L.T80
To Rent Afe 3% By Mr, ¥ 1780 -
15,136




8.18 Fundamentals of Business A
(3) Rectification of Errors after preparation of Final Accounts or Rectification in |henumm.“
FPeriod or Profit & Loss Adjustment Account,

Sometimes errors of one accounting period are to be rectified in the nexl accounting period. Iy,
case care his to be taken that rectifying entey, docs not affect the trading result of the subsequen CCoun
period. Sinee the profit or loss of each accounting period should be separately ealeulated, it s, Uhtrejg,

account *Profit & memmmxwm'hwmm i appeariy
in the Trading & Profit & Loss Account. The balance is this newly opened, Profit & Loss Adjustment Accogs

is transferred to Capital Afc or to Profit & Loss Appropriation Account. In this way Profit & Loss of the cuerey
year remains unaffected from the errors of the previous year.

IMustration 8.14 ;

Rectify the following : (a) If there is no suspense account; (b) If there is a suspeng
account ; and (c) If rectification is to be donc in the next accounting period,

m J\num-rorﬂnguod:suldlnmdhwlhrlu.Mdmpusndwmmunruas.z-lo.

(@) Rs. 200 being the monthly total of discount allowed to customers was entered 1o dispous
received account in the ledger,

(i) Rs. 550 received from Sohan credited to Mohan as Rs. 750,
(W) The total of Purchases Book was Rs. 2,000 short.

(v} Saleof old fumiture for Rs. 350 to Furniture Mart was recorded in Sales Book. Book value ofth:
furniture was Rs. 500,

Salution : (1) If there is no Suspense Account :
(M  Credit Madhav with Rs. 36 suying “By Exeess debit for sales on..... Rs. 36,

(& Debit the Discount Received Account with Rs, 400 saying “To rectification of wrong creditsl
R, 200 for discesnt allowed ..., Rs, 400,
(i) Credit Sohan with Rs. 550 and debit Mohan with Rs. 750,
(v} Debit Purchase Account with Rs. 2,000 ﬁying“?b:hx’lrwdqﬂ‘wﬁmq Book... Rs, 2,000."
(v} Debit Sales Account with Rs, 350 and Loss on sales of Fumiture with Rs. 150 and credit Fumitet
Account with Rs. 500,
(b} If there is 3 Suspense Account :
Journal Enteries (Withoot Narraillons)
Particulars LE | Amount | Amesat
Rs. | Re
(i) Suspense Account %
To Madhav L
(i Discount Allowed Account Dx. 400
To Suspense Account 40
(iil) | Mohans Account 750
To Schan Afe 550
To Suspense Al 0
(iv) | Purchase Account i Dr. 2000
To Suspense Account __Iiﬂf‘d

10

Accounts, Trial Balance ang k.-d:',ﬁm,m of Errors

819
Sales Account
Loss on Sales of Furniture B
To Furniture Accoun 2
500
br. Suspense Aceqy at =
[ate | Particulars - 2
To Difference in
Trial balance )
(balancing figure) =
it | To Madhayv E
2600
e} IF Rectification is to be done in Newt Accounling .
Journal Enteries (Without Narrations)
- Particulars . :
L Rs.
i) | Suspense Account 3 :
To Madhav )
fii) | Profit and Lass Adjustment Alc a0
To Suspense Account -
fiij} ["Mohan's Al -
To Suspense Alc o
Tio Sohan 's Afc .
) | Profit and Loss Adjustment Alc | s
To Suspense Ale "
g and Loss Adjustment Ale N
To Fumniture Afc . s
) [ Capial Ade s
Adjustment A
— To Profit & Loss Adjus
Profit & Loss Adjusimeat Account e B
—~ Particulars =
iy :.:kuh" ByCapialAml[Mj 2
© Suspense Ale
:ﬂu To Suspense ave
] To Furniture Ale =




820

Mustration 815 :
The books of Mr. X were closed on March 31, 2015 with a Suspense Account showing a ¢reg,
balance of Rs. 410, During 2014-15 the following errors were located :
fi) In November, 2014 the total of Sales Book on one page was carried forward to the nexp Page 2y
Rs. 27,130 instead of Rs. 22,630
i) Famiture of the book value of Rs. 3,500 was sold for Rs. 4,100 to.Rakesh but the amount was eney
in the Sales Book. In 2014-15 10% depreciation was charged on the closing balance of all Az,
Accounts.
{iii) The wtal of the Discount Columm (Cr.) for March, 2015 Rs. 440 was not posted in the Ledger,
fiv) Goods returned to Mr. Y in January, 2015 (costing Rs. 450) were not recorded in the Books ai all,
v Rs. 3,100 goods purchased from Mr. Sunil a supplier, were debited to the account of Mr. Somesh,
customer the amownt wis comectly entered in the Purchases Book.
Pass Jowrnal entries 10 rectify the errors and make any comments that you may like,
Solation :

Fundanentals af Business AW‘E

Journal Enteries

Particulars LF

D,
Amount
Rs.
) | Profit and Loss Adjusiment Afc Dr. 4,500
To Suspense Accounl
|Rectification of excess amoant credited 1o Sales Account
in 2014 because of wrong carry forward (Rs. 27,130-22,630))
Profit and Loss Adjustment Ale Dr.
Yo Furniture Account
[Furniture Afe for Bs. 3,150 Le., Rs. 3,500 {book value dep.)]
Suspense Account Dr.
To Profin & Loss Adjustment Account
{Rectification of the omission 1o post in the
discount column)
Mr. Y
To Profit & Loss Adjustment Account:
(Reetification of the omission of goods
Suspense Accourt
To Mr. Somesh
To Mr. Sunil
(Entry to remove the wrong debit to Mr, Somesh and to
give credit to Mr. Sunil in respeet of goods purchased)
Capital Account D,
To Profit & Loss Adjustment Aceoun:
(Transfer of the balance to P&L Adjustment Alc
representing the net effect of erors affecting profit)

Note : The balance of Profit & Loss Adjustment Afe being Debi 7601
i o Capital A, ing Debit (Rs. 4,500 + 3,150 - 440 - 450) RS

(i) 3150

i

(iv) Dr.

1o Mr Y)
Dr.

¥)
3,100
00

(i) 6760

6760

11
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The Suspense Account will now appear as under -
Suspense Account
particulars LE Bs. Date | Particulars LF Rs.
ms
To P& L Adjustment Afe 40 |lan, || By Blance bid 410
[ Ta Mr. Somesh A (o] By P & L Adjustment A/c 4,500
| T Mr. Sunil 3,000 By Blance o/d 1730
G540 6,640
To Balance bid 1,740 J

n‘lnl-uf Rectification of errors on Profit and Loss Account and Balance Sheet :

As stated above there are many errors which affect Profit & Loss Account and many ather errors
ahich, affect the balance sheet. However, certain ermors may not affect either Profit & Loss Account or the
fsbmee Sheet. In this regard it should be noted that on rectification. errors affecting Profit & Loss Account
wch as Wages, Salaries, Rent, Commission, Purchases and Sales Account ete. will reduce the profit if these
s debited in the rectifying entry and will increase the profit it they are credited in the rectifying entry
Hewever, il errors are committed in those accounts in rectifying entries which are related 1o the Balance Sheet,
Frofit & Loss Account will remain unaffected.

Destration $.16 : . :
The annual ec:wmofﬂupi mmwm 315t March, 2015 disclosed a net profit of Rs
W57 and the balance sheet total of Rs. 135427, The following matters were, however, ignored before
faj ‘mmﬁ:p?ﬂ Rs. 450 were purchased, received and taken it stock; but were not recarded in the
b Expenses outstanding : Wages Rs. 750; Salarics s 450; Advertisement Rs. 350; Law Charges Rs,
© :W:Elwrkhydmm Rs. 275, i
<) Interest Acerued on Investment : Rs. 373, :
W Goods S ubmwi}'hf“*mﬁ'.h“ww use. 1
® mﬂﬂﬂol?i\::fnnbt ﬁ::m Building Rs. 2,300; Machinery Rs. 10,500; Motor vehicle Rs. 3,500;
Fumiture Rs. 300, D
?g o Reserve of Rs. "SMBWMM‘NM::MM“:L 1 Suspense Account
Bl Rs, 1,650 Cash stolen by an ex-employee 3 o thiey would affect the net prafit and the
Give journal entries to recond these maters ind shory .

gl
Hldn:ﬂh“ sheet,
: il ries
MW’"M” e Cr
Amoant Amount
Rs. s,
450
450
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e _"_:-—-—-__"‘—_:—-——__________‘—
8) | Wages Ale Dr. 70 0 - - r_‘ ;
SalariesAle . 450 o 4 16,800 i = =
Advertising Alc D 30 i a0 16
Law Charges Afe Dr 100 = 5 185 1500
Electricity Charges Afc Ix. s = 1459 = 1650 - 1650
To Ollsm::rg Expenses Aie 1 625 12625 m 02% 3000 2875
(Being outstanding expenses omitted to be 22,000
recorded, now recorded) < =L =
fe) | Acerued Imerest Afc Dx 375 Thus, et profit = Rs. 48,576~ Rs. 22,000 = Rs. 26,574,
To Interest Ade n Balance sheet total = Rs, 1,35427-Rs. 19,875 =R, 115,552
Being: acenaed interest omitied, now recorded) astration 817 :
fd) | Drawings Afc D 20 Rectify the following errors :
To Purchases Afc F- ] (a) Creditsalesto Mohan Rs. 40,000 were recorded in Purchases Book
mdngmumlmhyhuw.mmuj {b) Credit sales to Sohan Rs. 40,000 were recorded in Purchases Book, However, Mohan secount
ey Depreciation Afe [+ 16,500 was correctly debited.
To Building Ac 250 (£) Credit puchases from Arjun Rs. 25,000 were recordsd in Sales Book
nmmm 10500 (d) mkwmmmmhzmumm&ns:h Bock However, Arjun’s accoum
To Motor Vehicles Alc 330 was correctly credited.
To Famiture Afc L f¢) Goods returned 10 Khusghi Rs. 18,000 were recorded in Sabes Return Book : "
(Being rectification of depreciation on assets not (f Goods retumed to Khushi Rs. 18,000 were recorded in Sales Retum Book, However, Khushi's
recorded) account was correetly debited.
] Profit & Loss Ac 2 De. 1,800 @ mmmunmgmumWhmmkmmﬂmk pigis
To Provision for bad and doubiful debes A/ 180 (k) Goods returned from Ashish Rs. 2,000 werereconded in Puschase Renam Book. However, Ashish's
(Being provision made for bad debts) i account was comeetly credited.
i) | Profit & Loss Alc D 1650 Solution
To Suspense Al 1650 Jonal Enterics
&ﬁ;m:mhhyuwpbwaﬁ:ﬁw A i ,,.T(:m
Mwmmmmﬂﬂcﬂ) Date Particulars - m“: Rs.
Capital Ade Dx. 22,000 E0,000
To Profit & Loss Ase e 5] Mohan's Alc - 0000
l_ (Being balance of profit and loss account iransferred To Sales Ale e
10 capital account) _—-J To Purchases Afe purchases book
. Book)
Fffectof theabave Entrics (Afer Rectiication) (Credit sales to Mohan wrangly recoeded it > #0000
___——_____-__________
SNo.|  Profi & Lass Account Bal, Shieet __‘..-_..I L] Suspenses Alc e
| NetProm Assels Liabilitics To Sales Ale s
Increase Decrease Increase Decrease Incresse Decredt To Purchases Afc —— Y
Lm rR . i Fr | (Credit sales 1o Mohan wrongly ik :mn s
: However, Mohan's acopunt was coresty 1.3 25000
fa) - 480« 450 @ g H 50
w |- 1925 1925 1928 g e 2000
fe) | 378 x | ™ ] - A ) To Arjun’s Afe resorded in sles book.
L (Credit puchases from Adun

12
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(d) | Purchases Alc Dr. 25,000
Sales Ak De /25000
To Suspense Alc 50,000
(Credit purchases from Arjun wrongly recorded in sales Book.
However, Arjun’s account was corectly crediied)
) | Khushi's Arc 36,000
To Purchases Return Ade 18,00
To Sales Retum Alc d 18,000
(Guod:remnedlul{haslﬁmﬂymminulsmbwﬂ
] Suspenjse Ale De. 36,000
To Purchase Retum Adc i 18,000
To Sales Return Alc 18000
(Goods returned to Khushi wrongly recarded in sales retum book
However, Khushi's account was comectly debited)
(8) | Sales Retum Ale Dr. 2000
Purchases Return Alc Dx. 2,000
To Aashish's Afe 4000
(Goods returned from Aashish wrongly recorded in purchases
retumn book)
(hy | Sales Return Afe Dx. 2000
Purchases Reum Ase De 2,000
To Suspense Alc 4,000
(Goods returned from Aashish wrongly recorded in purchases
retumn book. However, Aashish's account was correcily credited)

IMustration 8.18
Pass the rectification entries and show the suspense account in the books of a partnership firm, from
the following particulars :
(i) The total of sales return day book was aver-cast by Rs. 4,000,
(i) Purchase of equipment, from Raj Mohan, worth 12,000, in cash, was entered through the purchase
day book and accordingly, credited 1o the Supplier's account,
(i) Discount Rs. 2,500 allowed by Sahoo, a creditor, has not been entered in the books of account.

(iv)  Rs. 1,350 paid for carriage on sale of goods was credited 1o camiage inward account when posted
from the cash book.

() Billreceivable worth 4,800 reccived from a debtor was entere in the bills payable book though
correctly entered in the deblor's account.
{vi) A sum of Rs. 12,500 collected from Suraj a debtor, whose dues were already witten off as bad
debt, was posted to the credit side of Suraj account,
(vii) Goods worth Rs. 4,500 bought by the partner Mr. B for his personal use without any payment
being made as yet, was wrongly entered in the purchase day book.

13
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tion
S* ““'"l‘hl-hwr Enteries
i
e e
Date pREiee LE | Amouwnt Amount
Rs, Rs.
[
I Suspense Afc e 4000
z To Sales Retun Ade g 00
(Sales retumn book over-castly Rs. 4,000)
@ | Equipmeatilc Dx 12000
Raj Mohan Ak Dx 12000
To Cash Ade 12000
To Purchases Afe 12000
(Purchase of equipment in cash wrongly entered through the
purchase day book)
(@ | Sahoo's Afc Dx 2500 >
To Discount Received Alc
(Discount allowed by Sahoo not estered in the books)
1350
{iv) | Camiage Qutward Afc ; e
Carriage Inward Afe _—
To Suspense Afc o
(Carriage on sale of ghods credited io cariage inward account.
now comrected) = i
) | Bills Receivable Ale I:)r 4500
BIIIsPay:bIeN‘e D500
To Suspense Afc ) ) bock
(Bils receivable wrongly enerd in e WS PUDEE.
| though correarly entrednthe U5 IETE—m|
O | Sumjsae 12500
To Bad Debt Recovered Al¢ eomgly crediedto
(Bad debis recovered from Suraj was
his personal Account) > 4500 -
i 4,
i) | g Drawings Alc
To Purchase Ale B mlﬂﬁlﬂ"’
(Goods bo:sh. for personl :ﬂ:“"‘“
| “mtered in the purchase day b7 ___———
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(V'3 Suspense Account
Rs.
To Difference in Trial Balance By Carriage Outward Afe
(Bafancing Figure) 2300 | By Carriage Inward Al
To Sales Return Ale 4000 | By Bills Receivable Afe
By Bills Payable Afe
6300
Hlustration .19
Trial Balance of Mr. Shyam, a trader did notagree. He puts the difference to Suspense Account and
discovered the following emrors :
) Inthe Sales Book for the month of January total of Page No. 12 was carried forward to Page No.
13 a5 Rs. 4,000 instead of Rs. 4,200 and total of Page No. 16 was caried forward to Page Mo, |75
Rs. 15,600 instead of Rs. 15,000,
() Wages paid for installation of Machinery Rs, 3,500 was posted to wages Account as Rs, 550,
(i) Machinery purchased from Sridhar for Rs. 40,000 on eredit was entered in Purchass Book as Rs.
36,000 and posted thereform to Shridhar's Adeas Rs. 31,000,
(i) Credit Sales to Mohan Rs. 5,000 were recorded in Purchases Book,
(¥)  Goods returned to Ram Rs, 1,000 were recorded in Sales Book.
() Credit Purchases from Sanjay Rs. 16,000 were recorded in Sales Book. However, it was comestly
credited to Sanjay's Account. =
{vil)  Credit Purchases from M Rs. 26,000 were recorded in Sales Book as Rs. 22,000 and posted there
from 1o the eredit of M's Alc as Rs. 21,000,
(viiil) Credit Sales to Raman Rs. 44,000 posted 10 the credit of Raghvan as Rs. 41,000,
(&) Bill receivable for Rs. 4,600 from N was dishonoured and posted (o debit of Allowances Account
() Cash paid vo Mani Rs. 5,000 against our acceptance was debited to Many.
(xd) Ol furniture sold for Rs. 13,000 was posted 1o Sales Account as Rs, 11,000,
(xi)  Depreciation provided on furniture Rs. 4,800 was not pasted.
(i) Muaterial Rs. 40,000 and Wages Rs. 30,000 were used fo construction of Building. No adjustersent
was made in the books,
Rectify the errors and prepare Suspense Account to in the difference in Trial Balance.
Selution : :
Rectifying Journal Enteries
e r.
Dae Particalars LE | Amoust | Amoant
s R
® | sales A Dx. 200
Te Suspense Alc 40
(Ervor in carry foward of sales book Rs. 600 - 400 = Rs. 200,
now reclified)

14

| OIS, Trial Balance mkm‘fm" #Eﬂw;

A 8.27
7= | Machinery Afe =
5500
# To Wages Afc i
To Suspense Alc ] e
(Wages paid for installation of machinery 5,500 wroagly posted
to wages account as Rs. 550, now reetified) ;
il Machinery Afe o 00
Suspense Al > <000
| To Purchases Afc 36000
To Shridhar's Afe 9,000
(Machinery purchased for Rts. 40,000 wrongly passed
| through puchase book as Rs. 36,000, now rectified)
| (x| Mohan Dr. 10000 .
To Sales Afc et
To Purchases Afc 1
(Credit sales wrongly recorded through purchases book) -
| M | SalesAde = . De L i
| To Purchases Retum
i {Nrﬂmrﬂumwminhshnhmmn] %
) | Purchases Asc & i
Sales Afe 4
To Suspense Alc .
(Credit Purchases wmnslymwdrdl';!ﬂ_ﬁf_ﬁl___[?
18 | Purchases Ale B 22000
Sales Afc 5000
| ToM (26,000 - 21,000) 43,000
To Suspense Ade i salles book
(Credit Purchases for Rs. 26,000 wrongly recorded i
g 22,000, nowrestified) ___—— ] 44600
5 i 41,000
) | Raman i
Raghvan 85000
To Suspense Afe Raghvanas
(Sales to Raman 44,000 wrongly credited -
L
N's Aue
To Allowances Ale ances Account) -
iy B dishonoured wrongly debited 0 A== s i
Bills Payable Ave
To Manu's Afe ana's A, now J—__
Bitls Payable met mmd.»‘“““’ il e
oo™ —
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(d) | SalesAic Dr| I]F (i) To help and assist in lomj,‘npm““ﬁn, 829
Sugpense Ale Dr. 2000 |—-\ i3 Enumarate different types of errrs, Erent types
To Fumniture Al P ﬂpﬂof«mﬂ‘ )
(Furniture sold for Rs. 13,000 wrongly credited to sales I3 (F]Ermstl"’g:ﬂfrﬂﬂ (i) Compensating Eyror;
account as Rs. 11,000, now corrected) - %?ha.":u’ !m:“kohmm:“;lﬁrrmurmhl
(i) | Depreciation Alc = :
Dx. : Whena transaction is compl
To Fumiture Afe v [| ™ s m';ﬁ,”ﬁ“"’““”"““'"”' i Sshelciney ol
{Depreciation provided was not posted, now corrected) e the ransaction has neither been recorded on dbi igsof . oesobreoe" O 1ol balance because
(i) | Building Ade = other account, an sccount nor on the credit side of any
To Purchases Al 70,000 (7. Whatareerrorsof Principle? :
To Wages Aic ﬁ Ans.: m“' ;nmmrﬂn?nnwm“ P‘:I:k commitied, it is termed as errors of principle, for
i v L= revenue ilems is oot made, Such difficull
f‘ :.tcnalandmwuudﬁnrmmmnufbuildm I behmdbmugdmmhmm.,wﬁmhm_ T e
oW passed) 08 What is meant by errors of Commission 7
De 5 Ans.: These are the errors which are esused due 1o wrong posting either of an amount or on the wrong side
uspenses Account ufmmor{nlh_emwnmwliq. wrong halancing. wrong casting of subsidiary
. — Rs. books, wrong recording of an amount in the books of original entry eic. Such errors will affect the
To Difference in Trial Balance By Sales Alc agreement of trial balance.
(Balancing Figurg) 158350 | By MachineryAlc 08, Give two examples of error of commission :
To Shridhar Afe 5000 | By Purchases Ale A, ; (i} Purchase of goods from Mohan Rs. 25,000 o credit entered in the Purchase book 25 Rs. 52,000
To Fumiture A'c 2000 | By Sales Ade - (i) Sales book is over cast by Rs. 10,000,
Purch State two phes of error of omissk |BBA 2003]
By A Aws.: Error of Omission :
:’YS“HM {iy wmmummhﬂm:mﬂjthl#lmmon was omitted to be
yHaman recorded
By Raghvan (i} Snldpnékwﬂh:ihm for Rs. 10,000 o credit but was recorded a3 Rs. 1000 in the Sales Book
1,658,350 The above two examples will not aifect the agreenseat of trial balarce. .
QL. State any two errars which will affect the agreement of Trial Balance. |BEA, 2005]
A ; Example affecting Trial Balance:
i A
ons ‘U‘% mlbmt uave;’:ld Wﬂ%ﬂwnmqymdmmﬁ side of the Account of
¥ery Short Questions and Answers (Not exceedin Shinjwas. 3 .
H g 40 words) at ,wnfﬂlmf
Q. Whatismeant by Trial Balance ? : Shory a’.’,’m,m“:,';"';‘ffu“ﬂ' %wmrdi-ﬁ 40 words)
Ans: Trial balance is 5 sia ; . T, > ang side fam Account 7
arithmetical 3;:":1:)":?::: r:onlaﬂl n“,.:m‘ and eredit balances of Ledger Accounts to tesf ¥ Any ﬁ}““"“:ﬂrvl "“"""""r:‘fm:mwm;“ rotal of debit and eredit columns of the trial
Q2. Statesny two characteristics aftrisl balange, should first find gut e
Ans. 3 (i) A trial balance contains the list of all ledger accounts includi 2 . = o 1o the difference of e
{ii} The total of debit and eredit wlmnsol‘m:um orlr;.:n:rm m?nﬁm?::uu“ ) Posting afall amounts of corres l:,—,u sccounts including the Cash and Bank balances
Q3. Istrial balance w conclusive proofof sccuracy of the Ledger Accounis? 5 (i) 1t should be checked that the W:Fwﬂbcmk‘d'u whether there is a iranspasition
Ans.: A trial balance is not a conclusive (absolute) proof of accurscy of the books of accoints sinee #j have been written in the uil[lllu';‘:"";I= debit and credit Mmrﬂ:.:m:sb:;‘::l‘:’;ﬂ::::
may be cerain types of errors which may remain undetected despite the fi f agreement of | i of figure. IF the difference betwee iticn, for example, the GIg)
balance, eihe, fcuo e evenly, there may be a mistake of (RSP _—
Q.d.  Stareany two objectives of preparing a trial balanee, changed their ploces. . souble the difference should be checked,
Ans, : Objectives of preparing irial balance : (iw) Posting of all amounts corresponding i e, the differcnce will be transferred 1o Suspense
{i) To asceriain and find out smmarised information of ledger accounts. Despite all the effiorts if the of Winw
Account temporarily and trial balance b €

15
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Q.. Wrile a note on Suspense Account.,

Ans.:

Q.

Ang,

04

Ans,:

: The following arc the ch

(RIJ.BBd.mﬁ
Meaning of Suspense Accoant : When inspite of the best efforts, the Trial Buhmdogm.a]h_h
difference is put 10 a newly opened aceount named "Suspense Account® and the Trial Balance is thy
wmade to tally. This is done 1o avoid the delay in the preparation of Final Accounts.

In case, the debit side of the Trial Balance exceeds the credit side, the difference is put on the eredi
side of the irial bal In this case "Suspense Account” will show a credit balance. Likewise, if the
credit side of the Trial Bnlmceuud.sﬁu:debitside.dudiffmmi:pmmlhedebhsideorhm
balance. In this case "Suspense Account” will show a debit balance,

Disposal of Suspense Account : Suspense Account is an inaginary account used as [emporary measure
for reconciling a Trial Balance. Later, as and when the erors are located, rectification entries shouly

be passed with the help of Suspense Account. When all errors are detected, and rectified, the Suspense
Account will be clased.

How will you rectify the error of principle 7

(BBA, 2005)

: Errors of Principle—When some fundamental principle of Accountancy is violated in recondinga

transaction, it is termed as an error of principle. For example, Capital expenditure is treated as revenu:
expenditure and vice-versa.
(i) When a Capital expenditure is treated as Revenue Expenditure : Pur sase of Fumiture or Plant iy
treated as normal Purchases. In this case, Purchases Aceont is debited instead of Furniture or Plant
Ae, 5o for rectification Fumiture Alc or Plant A/c shall be debited and Purchases Afc be credited.
(i) When a revenue item is treated as capital item—For example, repairs to Plant ischarged to Plan
Account. In this case Repairs Account should be debited and Plant Account should be credited to
rectify the mistalee
Give five different examples of errars which will not affect the agreement of trial balance,
The following ervors will not aflect the agreement of trial balance—
(i) Errors of emission, for example bought goods on credit frorm Rahul was omitted 1o be entered in
books.
(i) Errors of Principle for ple X the paid Rs. 2,800 for repairs of plant
was charged to Plant Account. .
iy Cﬂmmhs«mw—fmmml:ﬂﬂmmm.m«umuhsmrnPem-ﬂ
Account and cash reccived from Y 5,000 was also credited to ¥'s Adc with Rs. 500 only. Thas
debit eror is compensated by credit esver for the same amount,
() Partial Omission—for example purchase of goods for Rs, 10.000 was entered in purchase bosk
i Rs. 000
01 Furniture bought for Rs. 5,500 and carriage paid on bringing furniture to office Rs. 500 was
as revenue expenditure, whereas il should be debiled to Furniture Adg.
State any five functions of Trial Balance.
Funetions of Trial Balance
(i) Toascertain the arithmetical accuracy of Ledger ﬂml;.
(H) Toobtain summarised information of Ledger Accounts.
(i) To use the information so obtained a5 the basts for prepasation of Final Accounts,
{iv) While preparing final accounts cenaine adjustments regarding expenses, incomes ele, are required
to be made. Trial balance is used for making these adjustments, g
{v) To help and assist in locating errors,
Whatare the characteristics of Trial Balanee 7
istles ofa Trial Balance :
(1) A Trial Balance is prepared on o speeifle date. This is why, we use the word “ns gn....." with itF
heading. It may be prepared ot any time but jt must be prepared ot the clase of the sccontit

or of'a busi

Lk
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ey

L

LT

¢ Looking to the above Errors—

i w"’k*inﬂ moteion E‘nvrﬂd’ﬂﬂm e b
2 r I ]
¥ {ugm“mmm“:wmwm_ pot recorded in the books of original entry i e

Accounts, Trial Balance and Rectificatign of Errors
e

A wrial wmum{'mh list of al ledger accousts nchuding cash sccount.
The total of the debit and crediy columng of the amount of the trial balance must be equal.

(4 Ifboth 'M_d'bj' and credit wmm"“"%ml it does not mean that there is no mistake
in accounting.

5. The difference between the debit and credin side of the irial balance points out that certain
mistakes have been committed somewhere,

(6} Inisastatement prepared in atabilar form. It has two columns one for debit balances and another
for eredit balances.

(M) The trial balance may be prepared with the balances or totals or balances and totals of ledger
accounts.

What is meant by one sided errors 7 Give a few examples.

= One sided Errors : There may be certain errors which affect one side of an sccount or more than one

cooynt in such a that it is not possible fo pass a complete rectification entry and can be rectified.
;ym;;:mwﬁimmmhmw' e side (5) of concerned account (5). Example
of such errors are in the following illustration :
(i Thesales bnnkwaehm.mSisumh‘-rh_s,m. .
(i) Rs. 5,000 received from Mr. X has been entered by mistake on the debit of Mr. X.
(i) The return inward boak is overcast by Rs. 1,000, ;
(i) A sum of Rs. 2,000 wiiten off as depreciation on Plast & Machinery has ot been debited to
iation Account. ; ;
") EwmmﬂlmTf R‘:?Munhm‘ 1o Arun has been posted twice in Salaries Account
Which of the following errors will affect rhu;:ﬂllu:.;llﬂll h::oc:m_
(i) The total of purchase boak has ot beea posted to rehases S R
(i) Rs. 5,000 paid for crecting a new machine has beea debiled to Repairs . -
iy Gmlcn:;ng Rs. 10,000 was drawn by the Owaer of business For domestic use was de o
() :':mmd:":;;muu.mudmmmmwdmnuluhgnmuu
L] Fumlluuplmwﬂwﬁﬂwlﬂ!“‘“"d“wm’
(vl) Sales book is avercast by Rs. 1,000,
(1) Error no (i) and (vi) will affect the agreement of irial balance because these are the emors: of
no
posting and totalling. :
@) Ervors no, (ji), (i), (iv) and (v) will nod
i s king an example.
el wmmmuamrfﬁlpu"" ‘ gmursmHWtrmrsbynhichecﬁ'rﬂ

affoct the agresment of trial balance because these are the

¢ Compensating errors : As the name indicate nrmigm. These cmors also do not affect the

in errors i i Mt on } i Ie of such ermor is
of certain is neutralised by the ¢ ir lozation is alko difficult. Examp
y i - and Rs. $.000
et of tho ril hhmnﬁﬂﬂ“::"mm 1o Mr. X's Ave with Rs. 500 ::'\n'::ﬂwm\ﬁn
“Sale of goods to Mr. X for h-immh mmw.'ﬂuerf:c:olmumr:; et
received ﬂ'mnYmn‘diﬂld::m e, boeh ill b short by Rs. 4,500
that the 101al of the debit
e will oty inspite ofthe SOV P 0 principle.
o saransaction is completely omitted from the

= worth K. 12,000 has been
mks of sccounts. It mp?m:ﬁm‘;‘“:; o proper: For example, ifgoods
ous subsidiary books ournal



8.32

Fundamentals of Business A

Eassy
L

2
3

4,

7.

L

mueivodbuckfmmaculnmmdIhemhsmmmuallinhkuumm“
such an error will he termed as an error of omission. Since there has been neither a debir entry g,
eredit entry, therefore, the two sides of the trial balance will not be affected on account of such gy,
(2) Errors of Principle : If there is an error involving accounting principles such as where o
distirction between revenue and capital items is not made, the trial balance will still agree, Suchemy,
als are difficult to be located. Examples of such errors are treating an EXPENSE A5 N dsgel, treating
assel a3 an expentes, trealing an income as a liability or vice versa elc,
Type / Long Questions :

State: the meaning and wtility of Ledger. (see page no. 8.1)

State the meaning, object and limitations of Trial Balance. (see page no. §.2)

Is trial balance a lusive proof of y of ledger p g in I not, state ek

errors which can not be detected and which will affect irial balance, (sec page no. §.2)

What are different methods of preparing trial balance? Bpluinmmeharpnﬁnnumﬁu_rm*

(see page no. 8.3) :

Explain different types of ervors giving at least two examples of cach,

(see page no. 8.3)

Explain taking examples the procedure of rectifying errors :

(1) Before preparation of final accounts.

(i) After preparing final accounts. )

Ulustrate the effect of rectification of errors on Profit & Loss Accountand the Balinee Sheet of s fir

(see page o, 8.16 and 8.21)

Explain the precedure of detecting or locating errors in Accounting Books.

(s¢e page no. 8.10 and 8.9)

Eid

(R.U,, BCA, 20
(see pageno. .10 and 8.11)

Numericals

L

From the following balances taken from the baoks of Mis Raj. Bros., prepare a Trial Balance 358
31ummls:mummuzzmu.nulmnmmuw&.:ﬂﬂmW
Fs. 78,000, Purchases Retum Rs. 1,000, Sales Rs. 1,20,000, Sales Return Rs. 2,600, Salarics & Wi
fs. 5,000, Insurance Rs. 1,400, Debtors Rs. 60,000, Creditors Rs. 37,200 Casriags R, 1,600, Commisis*
(Cr) Rs. 1,600, Capital Rs. 35,800, Interest on Capital Rs. 1400, Stationery Rs. 2,800, Office EXpd
Rs. 1,600, Furnitung Rs. 2,000, Cash Rs. 1,000, Bank Balance Rs, 9,500, Rent & Taxes Rs. 22

Carriage on Sales Rs. 2,900.
|Answer Total 2 Rs.2,03.00
Trial Balance as on 31-3-2015

Rs.(Dr) Rs-Cr
2000

9,000

Stock (1-4-2014)

Bills Receivable

Bills Payable

Purchases and Purchase Returns
Sales Rewrn and Sales

Salaries & Wages

Insurance Ale

740
1900

T5.000 L2000

2500
5,000
1400

17

Wm Trial Balance mdﬂufﬂ"mmafg,m,

..---"___--——I 8.33
ﬁ:;m e 60,000 37200
Carriage Ale P
Commission (Cr.) i =
Capital Adc = Brset
Imterest on Capital Ale 1,400
Stationery Afc 2500
Office Expenses Ale L600
Fumiture Alc 2000
Cash Alc 1,000
Bank Balance 9500
Rent and Taxes 2200
Carriage on Sales 2900 |
Total 203,000 203,000 ]
The following Trial Balance is prepared by késs experienced Accoumant : .
l'cl Nl-sn\fimmsl Diebit Balances Credit Balances
i_ . Rs. R
— 30000
Capital Account =
Opening Stock i m_
ﬁml aes 000 -
- 150000
. - 40000
Salaries & Wages o :
Bank Overdraft i .
Purchases Retums = =
Sales Retums o i
T— |Ans : Comeeted Total Rs. 2,07,000] ™
meim’ul — i whd},um&bammlh 2,000 should be debit

Hint : Opening Stock Rs, 30,000, Salarics &

Returns Rs. 3,000 shoubd be eredit balances.

Mmumwh*ﬁwuwmmlw«

Clasing stock Rs. :,aom“i'“m,mwa inexperienced accountant.

&“. - & hw
Correct the following irial chisss
' orthe year ended 1 Mirch 2009 ]

Name of Accounts LE Wmu:: h
Capital Account 10000

B.000
Purchages =

Sales
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mixum = $ s Pass Journal rmric: necessary 1o rectfy the following errar -
o iy An amount of Rs. 700 withdrawn by the 4 "
Bad Debes - 150 Trade Expenses A | Proprietar o hivs personal use has been debited to
Sundry Debtors 6000 - (i) A purchase of goods rom Nathan amounting 1o ks 00 has been wrongly entered ihrough the
Sundry Creditors = 2000 Sales Book.
Cash in hand e 100 {iti) A credit sale of Rs. 500 1o Sanjeey has been wroagly passed throwgh the Purchases Book.
I 1000 = fiv) Rs. d!ﬂrﬂ_ximi from Manak have been eredited to Mayank
Bill Pavable 2000 = ) Rs. 675 paid m_“mm “rs_"h’.‘"‘”'fﬂihhﬁilhkrslﬂl&dv:bﬂ:d to his personal account.
Total pryees P — {vi) :::;I:clw‘sht-l for extension of premises amaunting o Rs. 5,750 has been debited 1o Buillding
Ans. : Debit Balances : Purchases Rs. 10,000+ Drawings Rs. 4,000 + Sales Retum Rs. 3,000+ Bad debts s fvi) A bill of e, 900 for old ofice furmiture sold 1o Saleem were entered in the Sales Day Book.
1000 + Debtors Rs. 6,000 + Cash in hand Rs. 3,000 = Rs. 27,000 {witi) An amount of Rs. 400 received on account of Iaterest was credited to Commission Accoun.
Credit Balances : Capital Bs. 8,000 + Sales Rs. 8,000 + Creditors Rs. §,000 + Commission Received Rs. 1,00
+ Bills Payable Rs. 2,000 = Rs. 27,000, Ang.: | (i) Drawings Ale Dx o
Q4. Rectifi the following errors : To Trade Expenses Al 00
() Acustomer Mr. X, returned goods of the value of Rs. 800 which was not recorded in the books. (if) Purchases Al . ﬂ
(i) The debit side of Pyare Lal, a debtor, is overcast by Rs. 6,000, Sales Afe & i
(i) Acheque of Rs. 3,400 received from ¥ & Sons was dishonoured and debited to Al To Nathan |
Account, (iii) Sanjecv's Ale Ox 100
(v} A typewriter purchased for the office for Rs, 7,200 was entered in the purchases book. To Sales Al x
{v) Purchase of gaods from Sahil & Co. for Rs. 4,800 was entered in the sales book as Rs. 6,400 To Purchases Ale = i
fvi) A creditsale to L. Mathur of Rs. 30,000 has been wrongly passed through the purchases bock. {iv} Mayank's A'c P
fvit) Rs. 450 being the total discount allowed to debiors has been posted to the credit of Discow i M ok g A0 o 675
Reesived Account. () Salary Afe 678
Hint for Selution : 9 To Mr, Mathur's Aft =3 5750
(i) Record the entry for Sales Return Rs, 500; (ii) Debit Suspense A/t and Credit Pyarelal's Ak R {vi) Business Premises Al : $7%
6.000; To Building Repairs Ale = aw
i) Whm;:hmisdiﬂmwmd. ¥ & Sons be debited and Allowance Al be credited (¥ii) Sales Ave w00
: e To Offfice Furnftures AC o m
(vi} Debit office equipment A/c and credit Purchases Alc (vill) Commission Alc 0
{v) Purchases Afc De. 4,800 M"M Trial Balance was out by Rs. 1,003
Sales Adc 7 o the books of M.
Be 6,800 (for cancellation) - Comect the following errors found posted 10 2 Suspensé Account Prepare Suspenses Alc &
To Sahil & Company 11,600 excess credit. The difference thus bt )
(Vi) L. Mathur's Afe D 60,000 Comment. o M yon 313t December, 2001 bat has been entered in the
To Purchases Ale 30,000 0 an amount of Rs. zm“a“mxﬂ i e
Cash Book on Ird January 2013 m cast R, 200
To Sales Afc 20,000 7 has b
i i B The total of Retums Inward Book rﬁﬂmdﬂ"; has been passed through the Purchases Day Boak
(vii) Discount Allowed Ak Dr. 4% &) The rable costing K& boen chasged to Wags Account.
I ived Afc r. purchase of an office o show-cases had h
Discount Recoived 450 vy en for making 550,
To Suspense Ale . 0 Rs. 475 paid for Wages 10 WORTS o vediar's account a5 . 350
o AR R
s _'__r____J___._r-—-—-"-_
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(i) Ac}mqu:fprk:.dﬂﬂmﬁwdﬁunkc\hmhdbemdiwmdm . 10 Ui debiyr
“Allowances Account™.

(i) R;zmpnmmmﬁamuqﬂemwzmmdmg:dbo"Mlmlm
Expenses Account”,

fhiliy Goods amounting to Rs. 2,000 had been retumed by customer and were taken into stock, b
emry in respect thercof was made in the .

fix} Asale of Rs. -ImnmIupi:uaCn.wnwmngrymﬁwmhimm.
None:Asmcdmd«rwultmﬁngrm

Ans. : (i) Enter the transaction in Cash Book by debiting cash and crediting Mr. ¥'s Ale

(i) mmm&mnm.dﬁumwmnsﬂxmmwmnm.

(i) Debit Fumiture Afc and Credit Purchases Afc with Rs. 400,

(iv) Debit fumiture Afc and Credit wages Alc with Rs. 475,

(v) Debit Credilor‘smmd(:mdiﬂmmmwimhj

(vi) w-mmxmwmwmmmum

(vii) Debit Drawings Afc w&dhmhulhunm&wmﬂfcﬁmh. 2,000

{iii) Pass the entry for Purchases Retums,

(i) Debit Jupitor & Company’s Afe with double amount and credit Suspenses Alc. Prepare Suspenses
mmmnmmminmkorm.

& An accountant, while balancing his hodufmmdﬂunmwuadlhumofm. 2,700 the trial
balance. Being required to prepare the final accounts he placed the difference to a newly opened
Suspense Account, which wnwrredfornwwu:nm:wwrmlhefolloﬁmgmm
discovered :

i) Salary mlhmwum“mmﬂ,h 1550

(i) Interest on investments collected bylhchﬁn;umpomdhmrinmmdm
Illwg.hlh:mbﬂok.hlnotmmmdehIhehnkmlunmol‘lhemhboot Rs. 750.

() Goods worth Rs. 1,000 were distributed as free samples but this Fact has not been taken inte
Books.

(iv} Rent of Rs. 3,500 received from Ashok credited both 1o Rent Account and Ashok Account.

(v} A purchase ofa chair from Kama) Furmniture Mart hm.mmmnminmm
as Rs. 500,

(i} Old Machinery sald to the proprictor Keshay for Rs. 4,000 was entered in Sales Book as saleto
Kishore,

(vii) Cash Puschases from Ajay Rs. 1,890 were recorded in Cash Book as well as in Purchases Book
and posted from bath,
(vifi) Closing stock has been under valued by Rs. 3,000,

Give mmmnmﬂwm&mnm.

Ans.: Redilying Entrics ;
'r Particulars - JLE Rs. Rs.
0] Suspense Alc ¥ Ox. 1,550
To Salaries Alc 159
(Salary posted twice in the boaks)

19

To Suspense Afe
(Interest collected by '“hﬂkmmmin

Cash Book)
-ﬁ" Advertisement or Free Samples A &

r_' Jication of Errgry

To Purchases Aic
(Goods distributed as free samples nos fecorded in ﬂ'iehwks}
- 1Bt bouky) |
() | Ashok D
To Suspense Afc
(Rent received wrongly uedlwdlumnumulmj
Ta) | Fumire Afc IZT‘
To Purchases Adc

To Karnal Fumnitire Man's A

(Furniture purchased wrongly entered in the parch bordk
with wrong amount)
{vi)a)| Sales Aic =3 <o
To Machine Afc 4000
(Old Machinery sold wrongly entered in Sales Boak)
)] Capital Ase o A
To Kishore's Afc 2000
(Sale of machinery to propricior wrongly debited o
Kishare's Account
—
) | Ajay's Are Dx 189 -
To Purchases Afe ¥
| (Cash purchases wrongly entered in Purchase Book alsa)
i De 2000
0% | Closing Stock Ale -
To " rading Afe
;____ (Under valuation of closing md:wcmkd!' -
‘--.__________ RSS'WAMIII =
i
T Difference in Trial Balance D:rﬁﬂ**f‘“ i
= Balanciyg Figure) 2700 | By Ashok's
Dsﬂ&ihm 1,550 =
= fference to Suspense Account and discovered the

L.
;'"'Bulmeomheunaldmw-}*”‘““
ing errars - inihe Purchases Book = Rs. 10,000 and posted 1o
B Creditsajes 1o Manav Rs. 16,000 wererecorded

the debit of Manay Rs. 1,000, recorded through purchases book as Rs. 5.000and
® Furnitare purchased from Saleem Rs. 600 5%

posied to the debit of Saleen SAKCRS % 10 <oses ook as R 1,000
{imﬂod:mmmm; 3,000 recorded !



8.38 Fundanentals of Businezs 4
(iv) Old machinery sald for Rs. 2,000 to Manav recorded through Sales Book as Rs. I.!Dﬂ-mm;
the credit of Manav as Rs. 1,200,
(e} Total of Retumns Inward Book Rs. 2,800 posted to Purchase Accounm.
Rectify the above errors and prepare Suspense Account to ascertain the difference in Trial Balasg,
Ans. : Redifying Entrics
Particulars Diehit (Rs.) Credit (i)
(i) Manav's Al Dr. 15,000
Suspense Alc Dr. 11,00
Te Sales Ale 16,00
To Purchases Afc 10,000
(Credit sales 1o Manav Rs. 16,000 wrongly recorded through
purchases book as Rs. 10,000, now rectified)
(i) | Furmiture Afc [V 6,000
Suspense Afc Dr. 7000
To Purchases Alc 00
To Saleems Afc £0m
{Purchase of fumniture Rs. 6,000 wrongly recorded through
purchases book as Rs. 5,000, now rectified)
@ | Sakes Ae Dr 1,000
Ram’s Ale Dr. 20000
To Purchases Retumn Afe 30
(Goods retumed 1o Ram Rs. 3,000 wrongly recorded though sales
ook as Rs. 1,000, now rectified)
{iv) | Sales Ale Dr. 1500
Manav's Adc Ix. 3200
To Machinery Ale 00
To Suspense Alc 300
(Machinery sold for Rs. 2,000 1o Manav wrongly recorded through
sales book as Rs, 1,800, now rectified)
(v) | Sales Return Adc Dr. 2800
Te Purchases Alc 280
(Total of returns inwards book wrongly posted to purchases
account, now cormected) S
QIO Mr. Kumar was unable to agree the Trial Balance last year 5o he wrate the difference in SuF

Account. The following errors were located in the nexi year :

(i)  Purchasc Day Book was overcast by Rs, 10,600.

(i) Reccipt of cash form Mr. A was posted to the debit of his sceount Rs. 5,250,
(i) Sales of goods to Mr. B for Rs. 4,500 was emitted to be recorded.

(iv) Payment of Rs. 4,579 for purchases was wrongly posted as s, 4,795,
{¥)  Acredit purchase of goods from Me. C For Ks. 5,000 was entered as credit sales
(vi). Rs. 560 duc by Mr. D) was omitted 1o be taken 1o trial balance.
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Wﬁmﬂﬂ#. Trial Balance W.F.’e:qr, \on o Ervers
Pass necessary reclification entries |

X Wwilliout REmalion) and al
Profit & Loss Adjustment Accoun "} and akio prepare Suspense Account and
2 ofx 20.756 were writien o the eredit side of Suspense Accoun

. My Cush received from Chetan, Rs.

p—
Ans. ! Jn“ﬂllﬁr"nl{lmr =
| - Parteshyy, —————— [ Pr Gh
T | Suspense Alc = Wl'::], Rs.
Te Profit & Loss Adj nt Ale -
@ oy Dr 10500
To Mr. A's Adc =
@ | Mr.B'sAkc Or &30
To Profit & Loss Adjustment A'c il
(w) | Suspense Afc b 36
To Profit & Loss Adjustment A'c 16
) | P&LAdjusiment Afc br 10,000
To Mr. Cs Ade 000
) | Mr.DsAk Dr s |
¥ To Suspense Afc %50
br. Suspense Account Cr
Date Particulars LE | Re | Date | Particulars LE Ks.
To P&L Adjustment Ale 1osm By Balance bd 20,756
To Mr. A's Ale 10500 By Mr. D's Afe i
To P&L Adjustment Alc 2
21316 21316
br, Profit & Loss Adjustment Account Cr.
i LE Rs
Date  Pargiculars LE| Rs | Dase| Particulars 3 1
To C's Alc 10,000 By Suspense AC [T ]
: 5316 By Mr. Bs Al 4500
ﬁ::lp"mm By Suspense AC 216
¢ Figure 6 | 15316
T — I :
Q'" uch.?ﬂ”diﬂm‘w The difference was pul 1o 2 Suspense

Amerchant’s trial Mm:sot_t!lslh_1
Account, During the next trading period
4 The total of the Purchase Book of awe PIgs:
Sam. B 653 and posted 1o the credin of the customer.
: i les Hook 2t y .
::::, :saknl'lu. i n::-:': ;ﬂ‘x:,;,d ‘o the Retums Iward Book, however, the creditor's
felum 1o a Cereditor, Rs.

Account was comectly posted: 20, was posted o ihe debit of Chaman.

mrfblhninsem“rrtdlmmlﬂl
Rs. 5,539 was carreed forward 10 the nest page as Rs.




8.40 Fundanentals af Business 4
CCONing Accounts, Trial Balance and Recrifiearn
(v} Goods worth Rs. 740 were despatched 1o a customer before the close of the year but no invaice ym balpe Wication of Erpors 841
made out. ~ way -ﬁr Suspense Ale - =
(wi) Goods worth Rs. 2,000 were sent on sale or return basis 1o a customer and entered in the Sales bogy — To Bawy's Ak —_— ] ' a7
At the close of the year, the customer still had the option to retum the Goeds. The sale Price wag 25, {iv) | Suspense Ale p -
above cost, ToJone'sAle x 2 e
You are required 1o give journal entries to rectify the errors in a way so as to show the current yeaet, ») | Suspense Afc
profil or loss comectly, ( To Salaries Al Le 2300
Ans. () Debit Suspense A'c and Credit P&L Adjustment with Rs. 54 (Purchase Book.) PR i
(i) Debit Customer's Ale with Rs. 3,353 and credit P&L Adjustment A/c with Rs. 2,047 and suspen () | Drawings Alc bx 45
Ale with Rs. 1 306 To General Expenses Alc &5
(i) Drebit Suspense A'e (Rs. 410 + 410) and Credit P&L Adjustment Al (Rs. 410 for cancellation) and s (wii) | Discount Allowed Ale Dr 0
410 for the entry) To Suspense Al 0
{iv) Debit Suspense Alc with unlzn +320), and credit Chetan with Rs. 320 and Chaman with Rs. 320, {viif) | Office Stationery Ade De. &40
{¥) Debit Customer' Afc and Credit P&L Adjustment A'c {error of Ommission) Rs, 740, To Proprietor's Al 0
(v) Cost of Sales = 22002100 _ o 1.600. . @) | Ramji Dasss Ale Dx 175
125 To Ram Das’s Alc 175
() Debit P & L Adjustment Alc and Credit Debtor’s Afc with Rs. 2,000 (Cancellation of Sales) br. Suspense Account Cr.
(b) Closing Stock. Afe Dr. to P&L Adjustment Alc. with Rs, 500 R
Prepare P&L Adjustment Alc, transfer the balance 10 Capital Ae, Date | Particulars LE Rs. | Date| Particulars LE 5.
QIZ  How would you rectify the following errors : To Naryan's Alc w0 By Balance bid 5000
fi Asale of goods of the value of Rs. 450 to M & Sons has been wrongly debited 10 N, & Sons. To Basu's Alc % By Discount L
fiiy ﬁw':lrh#k:ifk‘??hhfr&nﬂmhmorummn to i from the Invoice Book, has beea To Jones Afe 5 Allowed Al
wron ted to him.
(it} Cash Rs. 475 received from Basu and entered on the roceipts side of the cash book has not bess To Saleem's Ale 2m
posted. To Balance ¢/d _ﬂ_-
fiv) A payment of Rs. 325 made to Jones for cash purchases stands debited to his acoount. 320 =
%) A-payment of Rs. 2,300 in respect of salary has been posted twice in salaries accoum w -  detected
3 3. Onserutiny the following errors were subsequently detecied
(vi) An zmount of Rs. 445 d by the = seruliny !
Syt rawn by the proprietor for his personal use stands debited 10 Generd! (1) Gods drawn by Mr. X, the propriets. o pesoesl comsamprion of Rs. 2,500 have not at all been
fwii) The to1a] of the discount calumn on the debit side of the cash book for the March has bees recorded. : i "
added short by Hs. 200, : month of Marc - Gm”“mwmum”m:m“”wﬁmamiammulihks 250 only
(wiff) Rs. MOr:l_uing ¥ purchase of office stationery has been wrongly debited to the persanal sccourt 1iti) Wages paid for fittings Rs. 400 was debited 1o salaics and wages account .
. of the Proprictor. ™ g Ashish for R. 3,400 on credit was wrongly debited 1o his account
fxil A n-ﬂ?u purchase of Rs, 175 from Ram Dauundsmﬂym&'ladmamji Das, P vods purchased from s, 400 was recorded in Amar’s Account
“The trial h|H(COFII‘IﬂCTIﬁdI‘Iﬂ|lw.Tllﬂdm!‘wtlhﬂpul in suspense account credil Rs. 5.000 l-’ Bill received fmlrl.l\jl}',l&bw.fﬂ. :;.k,myﬂouk
. sered in 8
Ans. Journal of Mr. Kumar i cr. " : Lk AL T s rectification entries and prepare Suspense Account
i necessary i
| Date - Particulars iF T e ‘o are required to pass R, 300t he beginaing
m & Sons Ale = 0 Ans ; Credit Balance of Suspentc (inds thotthe Trial Balance on that date i.c. 31st Masch,
To N & Sons Ak 40 ©.14. While elosing his bouktﬂruwf‘hm"liﬁlh‘ﬁm in a newly opened Suspense Accont and
(i) | Suspenses Afe Or %00 s kmw&-wmml'"’:‘mﬁmﬂl- 14,980 for the year eded 315t March, 201§
Tolymids 2 Prepares hs final acconis which (€12 Jeteeted in espect of Arcount for 201415 :
During 2015-16 the following eors 1€ .
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8.42 Fundamentals of Business de
_________“"mw
(i) Purchases book was underscast by Rs, B00.

(i) Cash received from Ram Das Rs. 457 wits posted o the debit of Raman Das as Rs, 878

(iii]) Discount received Rs. 7,630 and discount allowed Rs. 6,873 were nor posted 'rnlhuledgtrinmmn

Discount Accounts,

(iv) Sehedule of debtors was totalled R, 16,280 instead of Rs. 16,380, Mr. X maintains a provision forbag

debts (@ $%,
v} Bank charges and interest, Rs. 315 remained unposted to the debit side of the nominal accoun,
(vi) Depreciation on furniture Rs. 970 was wrongly recorded as Rs. 790,

Pass Journal entries to rectify the above mentioned errors, prepare Smnndﬂuunlmdﬁum”
Loss Adjustment Account and ascertain the comrect amount of profil for the year ending 3 1591 Mareh,

2018,

Ans. : Rectifying Journal Entries D Cr. .
Date Particulars LE Bs. | Ry
@ | Prof& Loss Adjustment Adc Or B0

To Suspense Account B0

(Being rectification of emor caused by undercasting of
Purchases Book for 2014-15 by Rs. $00) -
() | Suspense Account Cr. 1,365
To Ram Das
To Raman Das
{Being rectification of wrong debit of Rs. §78 1o Raman Das

and Omission of credit Rs. 457 to Ram Mﬂl MM
@) | Suspense Account Dr. 757
To Profit and Loss Adjustment Ale i
(Being rectification of omission of pesting of discount received

Rs. 7,630 and discount allowed Rs. 6,873 during lagy year)
() | Sundry Debtors Al Lx,

Profit & Loss Adjusiment Afc De
To Suspense Ale 100
To Provision for Bad Debis Are

(Being rectification of schedule of debors and also of Provision

for Bad debts Account due 1o toeal in e of del

Profit and Loss Adjustment Afc
To Suspense Account

(Rectification of omission of posting of bank charges and

interest)

Profit and Loss Adjustment Ac D, 180
To Furniture Account 180

(Being rectification of wrong entry fof depreciation on fumiture)

R

[*3

tan

) 318

s
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W"M Trial Balaiice and Rectificariay of Errars

843
* . JUEpense Aceount cr.
pute_|Particulars LF | Bs | Dake | Particatars LF. Rs.
ol ke ) 15 | By Difference in Trial
e 31 R Mar. 31 Balamee b d o7
apel | To Ram Das 47 | Apeit1] By Balance by W
@ |ToRamanDas L2 By PELAG). Ale =0
@ |ToP& LAdjusimen: 7 | M | By Sendry Debrors 100
(] By PELAd). Ae s
Lz R
i Profit & Loss Adjustment Account Cr.
Date| Particulars LE Rs. Date | Particulars L.F. Hs.,
i | To Suspense Account B0 | (@) | By Suspemse Account 7
(") | To Provision for Bad 5 By Mr. X's Capital Ale
00 | To Suspense Account s Transfer of Loss a3
{} | To Fumiture Account (+1]
1300 1,300
mmmﬁrlhpuﬂIHJ!ll Masch, 2005 = R 14,980 - 385 or Rs. 14,437,
-]



Bank Reconciliation Statement

—_—

For exercising great control aver cash, most nf:bebnsimnmpﬁmmler 10 Operale By
Account. Generally banking facilities are available for four types of accounts. For example, (a) Fog
deposit account, (b) Savings fuad account, (¢) Recurring deposit account, and (d} Current accos
But usually all the firms open a Current Account with the Bank to record day 10 day transsctiee
through the Bank. For this they maintain a Bank column in the Cash Book. Bank also maintais ;
separate ledger account for each firm in its Ledger. It enters all the transactions with the firm in thy
ledper account. Bmkfmnkh,snoopynd'ﬂrm'smunmiabdgulowcﬁm for inforeatio
perindically, This copy of the firm's account furnished by the Bank is ealled Bank Statement e y
Bank Pass Book.

As all the transactions with Ihebmtmrmrdmdinbmhlhehwhvir_, in the Cash Bosk
by the merchant and in the Bank's
bﬂanudiuhudby(hsthkuhdlnﬁnufﬁqukTh:hhmnsor:hmlmMm
lally with each other, because when the mr&uldﬂhﬁ:bﬂmhﬂuﬁﬂlmmk 10 the custome:
in ils ledger. Similarly if some money is withdrawn from the bank, the firm records il on credit sk
oa‘budmulumul(.‘uhnml, lbebulnttbcnmstimcenl:rsi:mlhcdsbit side of the Firs
FAccount.

Thus all the cntires recorded on the debit side of the Cash Book mus tally with the calrit
recorded on the credit side of Pass Book and vice versa. As such the bank balance as revealed by e
cash book must tally with the balance shown by the pass book.

Hw:va-,mthd‘alc,lhchnkhhnuﬂmmh
Pass book do not 1ally. This is because on that dare, it is possible that some entires recorded in Cish
Book might lnthl\tbuuc.uludhlheh.uBmkindﬁuwm.ﬁemfnm,nmmmislm'-F‘;ﬁ

Meaning of Bank Reconciliation Statement

ILis 3 datement which contains complete and satisfactory explanation of the differences
the two balances as per Cash Book and the Bank Pass Book. It is not a part of double entry buoki®
system. It 15 Just 3 procedure to prove the cash balance at the Bank, It s impaortani (o mote that ?
Bank intion Statement is Lo be prepared when 3 Bank Statement in received on a stated 497
Causes of Difference in Cash Book and Pass Book Balances

The difference in two balances m_ra:iieonspmﬂcdthhahecmmonhc lollowing reasons ©

it is oct
payment. So long as it &
presenied the balance shown in Pass Book is more than the balane shown in the Cash Book of ¥

cuslomer,
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5-5.-—— Fundomensals of Business Acconnting

() Chegues pud nto the bk for colicton but not set collected and credited by the Bank :
when @ firm receives cljeqm. drafts, hundics cic, from jts customers, they are deposited into bank
for collection. An enlry is made on the debit side of the bank eoluma of the cash book. But the bank
will credit the firm's account only when it has actually collected the pavment of these chegues from
ather banks. There will be 2 gap of some days between depositing of the cheques into the bank and
aedit given by the bank. In some cases, this gap may be quite longer. Thus, until the cheques are
oollected and credited by the bank, the cash book will show an increased balance in comporison to
be book. .

pu;} Cheques paid into the bank for collection but disbonoured : When the cheques received
irom oulside parties are deposited with the bank, these are immedistely recorded on the debit side
ofthe bank column of the cash book. If these cheques are dishonoused, bank will not make any eatry
e tbe credit side of customer's account, As a resull, the cash book will show an increased balance
=y bank g ex, the facility of
cha by the bank on overdralt : When a gives customer, the o
-lHliwu'gw' ln:nw;amm m{kpmlﬁ this excess withdrawn in called everdraft, The bank charges
eicrest on this overdraft and debits the firm's account for such interest from time to time. But the
eatry for interest will be made in the cash book cnly when the customer receives a bank sIJl:'lnenr:
S L1 F Cas!
o an inlimaton. Till then, the balance as per pass book would be less then the balance as per ¢
book.

nierest ook : When the Bank allows intercst 1o a
i I "::"Id a!h:ﬂ:lu:;:::::mlt&: bank balance \m_uld increase. Bur
m' n‘mdfu lw m,,_,,m it oaly when the pass book is completed. Unit then. the bank
[OMET Comes
balance as per pass book would be more than the baknce as per cash book. VI
in cash book ; The bask charge some amount from cac customer
#6) Bank charges not entered A eic. It debits the castomer's account for this amouny
bl'ﬁ}_'d' incidental charges, mmtb-m Bt the customer comes to know about these charges
foe ime A0 Lakie md '\edm Bark to credit the bank and reduce his balance in bank. Uniil
x"ﬂh he receives advice lmm would be less tha the bank balance as !u—r..:.ush ook ,
the bank balance as per pass pank by customers : Whea any amount is dircctly qu_mlqd
(7} Amount directly deposited l:ll.'lh: E . the bank will fmdil his account |ml.er.dllall;:':}n
! customer into the Bank sceount ¢ oaly when the advice is received from the bank. Ui the
::Iu rnerdmmldl:wwb::!tl be higher than that of the balancs in bank column of the
bank balance as per pass would

sk book, In cash book : When the bank
pank but ot rtmded )
8} Dividend and Interest “"”;‘.;:mmr- it gives credit. The customer s:-;ru:ht:nmz
“ollecyy dividend and interest MW_ But the customer will make the “”F':'. sl
Fedited ang mkhhmﬁim“'wl lance a per pass book will be kighes a
€5 advice from the bank. Till
W hye balance as per cash book. mﬂ,ﬁ.mu'oﬂk customer “:h:'r:::;nm:: holder
Al " L] lodn’
it s wwnk:tn:u'n payments, such & Inh::wmsmmer'a account. But the
e e T T a1 taak Ul (o (e Bk
S5 ete., on his behalf, the bank ma ives he advice :
) when the o€ cash book,
%&"Wt:.iml’lﬂ:rﬁ ;:I:okmmr; :edrm (han the balance 5 pET




Bank Reconciliation §

—
(16) Wrong entry made by the Bank : When an error is committed by the Bank in

a wrong entry in customer’s account, it causes a difference in the balance as disclosed by g P

vix., balance as per pass book and the balance as per cash book. This difference will be OMTectey

only whes the error is detecied.
Other Reasons : The difference in cash book and pass book balances may also be o -

of the following : Y

(2) Cheques issued 10 a ereditor but omitted 10 be recorded in cash book;
(b) Cheques received and entered in cash book but omitted to be sent for collection:
{¢) Error in totalling or balancing the bank column of cash bogk,
Need for Preparing Bank Reconciliation Statement :
It is essential to prepare Bank Reconciliation Statement because of the lollowing reasons ;
(1) The errors and omissions committed by the Bank or the Merchant (customer) would be
detected and can be rectificd accordingly.
(2) It will refleet the actual bank balance position of the customer 50 as (o assisst him in making
the further transactions with the Bank.
(3) It facilitates the preparation of revised eash book by making necessary entrics as regards
bank charges, bank interest allowed or charged by bank, direct payments by bank etc.
(4 It prevents frauds in recording banking transactions and reduces the chances of
embeszlement by the stalf of the firm or of the bank.
(5) It helps in revealing unnecessary delay in the collection of cheques cte, by the bank.
Preparation of Bank Reconciliation Statement :

A reconciliation stalement is prepared only when a stalement is received from the bank and
the balance as shown by the pass book does not tally with the balance as per cash book, The following
points should be kept in mind while preparing this statement

(1) T is prepared on a particular date, Iis heading would be “Bank Reconciliation Stalcment
5 Of.....”,

(2) It can be prepared, starting with the balance cither as per bank column of cash book, @
with the balance as per pass book. The balance of cash book may be debit or credit, Simiarly
the balance as per pass book may be credit or debit—

(2} Debit balance as per cash book indicates favourable or depasil balanee in the bask.

(b) Credit balance as per cash book indicates overdrall bank balance,

(e) Credit balance as per pass book indicates the deposit balance of the party.

(d) Debit balance as per pass book indicates the excess withdrawals over depaosits, called

oven balance as per pass book.

{e) Il nothing is mentivned in the question about debi or credit balances, the "::

?;Iawguofﬂmﬁ book is treated as debit {deposit) and that of pass book as ¢
eposit). 3

() A Bank Reconciliation Statement can be started with any of the balance mentiord
below :

(i) Dr. Balance as per Cash Book; or (i) Cr. Balance as per Cash Book,
(iii) Dr. Balance as per Pass Book. or (iv) Cr. Balsnce as per Pass Book.
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u Fiandanventals of Business Accounts
The, MGUARAIL A varione Yooy of dilterences depends upon the starting balance which is
gemarized a8 follows :
Wank Reconciliation Statement FEY T —
When Cash Book Balance | When Pass Book hhnu-‘
Eatrics: G s starting point | is starting puint
Normal | Overdrat | Normal | Overdral
Ralance Balance Balance Balance
(Dr Bal) | (CrBal) | (Cr.Bal) | (Dr Bal)
-1__. Cheqes issued but not yet preseated
for payment, Add Deduct Deduct Add
1 |Cheques deposted into Bank but
nct yet collected, Deduct Add Add Dredusct
3. |Interest allowed by Bank but not
yet entercd in Cash Book, Add Deduct Deduct Add
ol yel entered i
; E:: wﬂml:. i " Dedet Add Add Deduct
it i he bank by 2
= mﬂ:pm: e : Add Deduct Deduct Add
6. |Direct payment by the Bank not yet
entered in Cash Book. o Deduct Add Add Deducl
1. | Direct collection made by nol s i
yet entered in Cash Book. Add Dedee Daduct
& ﬁe‘?m issued and payment |
received by the customer but ot Add Deduct
, |1t entered in Cash sa:tl;l Deduct Add
| Cheques paid into Ban i Deduct Add
omilied (o be entered in Cash Book. | Add
& - PR RERE e ol W Deduet |  Add Add | Deduct
discounted with Bank.
1L |Cheques entered in Cash Book but Add FET] Dedact
B0 yel sent to Bank Deduct

Wstration 9.1 (When debit bala

Prepare a Bank Reconciliation

(i) Debit balance as per bank
(i) Cheques issued to ercditors bul
(i) Cheques deposited into bark for

mot yet
collestion

() Bank changes not recorded in Cash

() Bank paid house tax en be
from bank in this connection

(vi) A cheque deposited into hﬂk“:;

(Vi) Diviuend colleeted by the '"""m
(i) Interest credited by Bank nel

Book
behall of customer but
ourcd bul mo intimation received
ol cntered in the Cash Book
iilered in Cash Book

is given)
m:;ﬁu:,:m“mkfdhtmg particulars as en 3lst March, 2005,

{he Cash Book
g preseated for payment
but nat yel collected by the bank

no information received

A0,000

R,

BA00

11,500
S00

EEEE



Bank Reconciliotion Staternent
Rank Reconciliation Statement

Soltuion : gy 2005
o
Particulars Detnils Rs. ___W_Ei.__‘-
Debit Balance as per Cash Book - 40t
Add - Chgqugs i:s'uud I.tr?:udi'[ﬂﬂ bt nol yet IH'W'“‘" o the 8,400
bank for payment 0
Dividend collected by the bank =
Interest allowed by the bank L ____3_‘-1
045
Less : Chques deposited into bank but et yet collected “.g
Bank charges 400
House Tax paid directly by the bank pin
Chques deposited but dishonoured 13,50
Credit Balance as per Pass Book AL
[lustration 9.2 : (When Cr. Balance as per Cash Book as giv:n}_
Prepare & Bank Reconciliation Statement from the following particulars : B
(i) Bank overdraft as per Cath book : ﬂg
(ii) Cheques deposited in to bank but no cniry was passed in the Cash Book. L
{iii) Cheques received and entered bul omitted to be banked L
(i) Credit side of the bank column of Cahs Book is cast short %
(v) Insurance Premium paid dircetely by bank under standing instructions e
(vi) Bank charges entered in cash book twice e
(vii) Cheques received & returned dishonoured by bank but no entry passed in Cash Book o
(viii) Cheques issued and returned on technical grounds by
(ix) Bills directly collected by bank 5
(%) Bank charges debited by bank &
{x} Chegques received entered twice P
(xii)  Bill discounted from Bank was dishonoured on due date
Solution : Bank Reconciliation Statement
L L J— = -_._____.1
Particualrs Details Rs. __Tf!-%
Overdraft Balunce s per Cash Book o
Add : 1. Cheques received and cntered bul not sent 1o the Bank 7,400 |
2. Credit side of the bank column cast short 3,500 |
3. Insurance premium paid directly by Bank 7,000
;' mmdmmw,lw and returned by Bank but no entry passed 5-123'1;
6. Cheques reccived and entered (wice 4,760 P
7. Bill discounted dishonoured
. 36,750 ..//

o Funs

of Buiiness Accounting

. 1. Cheques deposited in bank byt 2 | L2517
the cash book 0 enlry was passed in |
2 Bank charges ememdjnmmmq Z.Ttgl
3, Cheques “issued™ returned on technical grognds | 2650 |
4. Bills dircctly collected by bank 2470 ! 7970
Owerdraft (D) Balance as per Pass Book }_ T II?l'ms

fustration 9.3 : (When Dr. Balance of Pass Book js given)

On 31st .Mmi 2015 Mokd. Rf‘GWuc had an overdraft of Rs. 12400 as shown by has Pass
Book He had issued cheques amounting to Rs. 2,500 of which Rs. 2,000 worth only seems to have
teen presented for mmm,dalﬁummg to Rs. 1,000 bad been paid into the Bank on 30th
March, but of these only Rs. 630 bad been credited in Pass Book. A choque of Rs. 100 which was
dehiled in bank account in his books had been omitted 10 be banked. There is a debil in his pass
Book of Rs. 250 for intcrest. An eniry of Rs. 870 of 3 payment by a customer dircct into the bank
whthﬁmmwn‘lhﬂmﬁu!ﬁmﬂamﬂﬂiﬁm[Dhisaccm:nt,llciug
iterest on investments collected direct by his Bankers.

Prepare Basic Recoacilialion stalement as on 31st March, 2015,

falution : Bank Reconciliation Statement
As on 31 March, 2015
Particulars Details Tatal
Rs. Rs.
Overdraf : {Debit) Balance as per Bank Pass Book | 12800
Add : Cheques issued but not yet presented for paymeal ﬁ
Diirectly deposited by a customer 7
lmm: on Inwunt:us collected by the Bank 600 1970
; | 14370
Less : Cheques deposited but not yet collected by the Bank 130
Gloquesgmmdimh:&shﬂwkbuwﬂlzdmhbmhdl E_Sﬂd =
Interest on overdrall -
Dherdra i k | 1en
Zrafi : {Credit) Balance as per Cash Boo

Wstration 9.4 - (When Dr. Balance as per Pass Book is given) e
On 31y March, 2015, the Bank Pass Bock of a merchant showed debit balance Rs. 346,670,
% Comparing it with the Cash Book the following differencss were fotnd
G The following cheques were issued in
Mr.
(A) Mr. Ram Rs, 22,000; ::: M: iy iforeet
(€) Mr, Peters Rs. 47,500; : ;
Out of these, only Ram and Peter pave prescated their cheques
*Mmh' AL, red in the Cash Book Rs. 4350,
(i) Interest qn Bank overdrafl rol cale "

Gopal Rs. 97,000

for payment upto st
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(i) Owt station cheques amount
March, 2015 but were not collected.

(iv) A Bill for collection Rs. 1,12,500 due on 31s1 March, 2015 was sent 1o the bank h"".

eredited ip the Pass Book till Sth April, 2015.

(+) Bank charges debited in Pass book but not entered in the Cash Book Rs. im.

(vi) The bank paid subscription 10 Chamber of Commerce accourding 1o on Htang,
instruction but it was nel entered in the Cash Book Rs. 3,670,
Prepare Bank Reconciliation Statement as on 311 March, 205,
Solution ; Bank Reconciliation Statement
As ou 31st March, 2005
Particulars Details Total
Rs. Rs.
Dr. Balance (overdraft) as per Pass Book EL T ]
Add @ Cheques issued but not presenied for payment
(i) Mr. Gopal 97,000
(i) Mr. Saleem 83,200 | 18020
; 52650
Less - (i) Interest on Bank Overdrafi 4,350
(i) Quistation cheques sent 1o the bank for collection but not yet
eollected 76,850
(iif} Bill for collection deposited but not credited in Fass Book 112,500
(iv) Bank charges 1,240
() Subscription paid to Chamber of Commeree 3670 | 19860
Cr. Balance as per Cash Book (overdral) 32820

L]
10 Rs. 76,850 were sent 10 the bank rmm

HMustration 9.5 : (When Credit Balance as per Puss Book is given)

From the following particulars prepare a Bank Reconcillistion Statement as on 31st Marh

2015 and ascertain bank balance as it would appear in Cash Book.
1. Bank Pass Book showed a balance of Rs, 95,000

2-Intcrest of Rs. 2,500 has boen debited in the pass book, but has not been catered the Cash Bk
3. Cheques issucd but not cashed, prior 1o 31-3-2009 amounted 1o Rs, 15,000,
4. Club bill dirccily debited by bank not yet rellected in Cash Book Rs. 27,000,
3. Cheques paid into bank, but not clcared and creditcd before 31st March Rs, 2.500.

6. Interest on Investment collected by the bankers and eredited n the Pass Book, nol yet et

in cash book amounted 1o Rs. 18,000,

W
7. A cheque for Rs. 5,000 was issued for LIC premium which was returncd as the amout!
figure and words was not iallying. The premium was subsequently paid in cash and the

not rectified in the books of accounts,
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solution : Bank Reconcilliagjoy Statement as og 3154 March, 2009
| K. | Rs
Cr. Balonce us per Pass Book as o 31.3.2015 [ : P
add: () Intcrest debiled in Pass Book mo entered in Cash Book 2,500 |
(i) (ét‘s: e lircctly debited in Baak Accoust ot cntered in
27,000
(iii) Chegques paid into Bank not yet ckarcd and credited | Bl s
- [ 149,500
Less: (i) Cheques issued but not cashed prior 10 31.3.2015 | 15000
(i) Interest on Investments collecied by Bank, not eatered in |
Cash Book 18,000
(i) Cheque issued for LIC premiam retured, bt not reversed |
in Cash Book. | 9000 | (42000)
Dr. Bulance as per Cash Book [ 107500
Iiustration 9.6 :
Reciify the errors in the following Bask Reconcilistion Stalement and prepare a correct one -
Particulars lf Details | Total Rs,
. Rs. |
| 15,000
Dr. Balance as per Cash Book | |
Add : (a) Cheques sent for collectioa’ but not collected 1;,;;1;
(b) Bank paid In:snmc::;n:m i G0 e
i a
(c) Direct deposit by | ‘
nk 3000
Less: () cqummwﬂprﬂ:fk'w*‘”m | o
' ) Coemias I?I'EBH Bank was dishosoured 50
(€) A cheque deposited with the | e $000
(d) Bank has credited Interest f e
| ]
Cr. Balance as per Pass Book
T iation Statensent
orrected Bank Reconcilia
s*um' ’ % As om
— Detalls | Total Rs,
Particulars | Rs.
—— 15,000
— ;
Cach Book 1,500
(Dr.) Balance as per . ue ‘
444 ; (i) Direct deposit by a ¢'5"”::“w for paywsent bellore the bank T
(ii) Cheques isved but nor pr _




Bank Reconcilinifon Stanement (1]

—
20,500
Less: (i) Cheques semt for collection but nor collected 2500
(i) Insurance premium paid by bank 1,000
(i) Commission charged by bank 250
{iv) Cheque deposited but dishomoured 750 (4,500)
(Cr.) Bank Balance as per Pass Book 16,000
INustration 9.7 ¢

From the following extracts from the Cash Book and Bank Pass Book for the month of Janusy
015, prepare the Bank Reconciliation Statement as on 31st January, 2015,

Dr. Cash Book Ce.
Date | Particulars Amount | Date Particulars Amount
5 Rs. Rs.
E 2015
Jan., 1 |To Balance bid 45100 | Jam, 2 |By M 12300
Jan., 3 |To Cash 3000 | Jam, 6 By Wages 30,000
Jam, 10 [To K 10,000 | Jan., 14 |By K 100
Jan, 15 |To L 23,000 | Jan, 15 |(Cheques dishonoured)
Jan, 17 | To Cash 6,000 | Jan, 18 |By X 3,000
Jan, 20 (To A 15500 | Jan, 24 |ByQ 40
Jan, 24 |To B 7400 | Jam, 28 |By Cash 4,000
Jan, 31 |To C 21300 | Jan, 31 By Y 7,800
Jan, 31 |By Z 3,400
! E By Balance c/d 56,100
1,31.300 1 E! !
Feb., 1 |'lh Balance bd sgli,m
Bank Pass Book
Date Particulars Withdrawsls | De, e |
05 P D, or Cr. | Balance
Jan, 1 |By Balance bid
Jan, 3 |By Cash 3000 o ﬁ‘ﬁ
Jan,, 6 |To self-cash Cr. by
Jan., 10 |To M 30,000 Cr. 18,100
Jan, 16 By L 2 Cr. ms‘mm
Jan,, 17 | By Cash 23,000 Cr. 2500
J“. o |Te O 4700 sum Cr.
Jan, 24 |To Cash i Cr. :m.ﬂ
Jan., 24 |'To Bank charges < per instructions 100 g ian
Jan, 31 (To Life Inusrance Premiym unier cr.
standing instructions 2500
Jan,, 31 | By Inierest on Governmeat E" 2
Securities %
3000 | e 2650
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Solution = The Cash Book and the Pass Book given above are for the same period. Three
cheques Mmﬂnlndppﬂmgﬂ p E“ for collcction are debited in cash -h;nk. If cnll-:-:l'lmpf\'nuuhl have
e, the SamE Wh b \he m ME:'WMH of the Pass Book. Similarly, cheques issucd, arc credited
a Cash Book| l.:n 5 ¥ present Payment. bank records in withdrawals column. On carelul
cotiny it reveals that :
(i) Cheques of A Rs. 15,500, B Rs. 7,400, C Rs. 21,300 are not collected

(i) K'sch is dish 1 din the cash baok only. No entry appears in pass book.
(iii)  Cheques issued to X Rs. 3000, Y Rs. 7800 and Z 3,400 seem to have: not peesented for payment
(iv) Bank charges Rs. 100 and Bfe insurance peemium paid Rs. 2.500 are not credited in Cash Book,
{v) Intcrest on govermmcnl securities Rs. 3000 colected by bank is alio not entered in Cash Book.

Salation : Bank Reconcilistion Statement
As on 3l fanuary, 2015
Particulars Details Tutal
Rs. Rs. |
Debit Balance as per Cash Book 36,100
Add : Chogues ssued but not presenied for payment Rs.
X 3000
Y 7800
z 14,200
Interest on Government Securitics collected directly
and creidied by bank but not entered in Cash Book J.tll'll 17,200
. 73,300
Less : Cheques deposited but nor yet cleared Rs. i
A 15500 |
B 7400 |
C_21.300 44,2000
Bank charges debited by the bank but nor eatered |
n the Cash Book i {51 |
Life lnsurance Premium pas bank bul pot cale
in the Cnghn':.uim' BT 2,500 (46,500}
~Lredit Balanee as per Pass Book 26,500

When Bank Reconcillation Statement is prepared afler adjusting the Cash Book
.‘“illum = sonal, when it is preparcd filunng different un.unFIu. of the
e S D e T e e e

*iusted balance is shown in the Balance Sheet. The following procedure be followed ©

W E;h;:w“up'“cr MI ~ Mm,::kb" cn",,m"f;?[ﬂim balance on debit side, and overdrall

0 credit side ] ,

i 2 o cecorded in Pass Book but not in the Cash Book,
o ré:) M’a:‘_- Dicessary cﬂ.'.'“ M"s:chm;m colbecied by bank, direct payment by Bank under
‘E:_& ank charges, dividend corded in Cash Book. All errors committed

ple,
i . ills not yel Fecord
[ | %Ldnho::‘n: of L:qwiud}::in Jebit or credit colunin of cash book, amount entered
s in ¥eciilied such as ovo

wrong amount entered in cash book ete.



Bank Reconciliation Staterent

8y
(i} Ascertin the adjusted balance. o

(iv} Prepare Bank Reconciliation statement in the sual manner taking adjusted balange 4
starting point. Leave those items which have already been considered in adjusted Cash Bogy, the

Iustration 9.8 :

Ram's Cash Book on March 31, 2015 showed an overdraft balance of Rs. 60,500 on “S-Hm‘
No. 1 at the Bank. On investigation you find :

(1) Cheques dravn amounting 1o Rs. 21,000 had not been presented o the bank
payment.

(2) Cheques, Rs. 18,000 catered in the Cash Book as paid into the Bank had BOX beey
credited by the Bank.

(3) The receipt side of the Cash Book had been undercast by Rs. 5,000,

(4) Bank charges of Rs. 250 and dividend Rs. 1,500 collected by Bank entered oa @
Bank Statement had not been entered in the Cash Bogk,

(5) A cheque for Rs. mdrmmﬂummthndbomumuihlhgmm
on Account Mo 2,

(T A cheque for Rs. 3,500 reccived from a debtor paid into the Bank had bee
dithonoured and shown as such by the Bank but no eniry of dishonour had been mad:
in the Cash Book.

(8) A cheque for Rs. 2,100 drawn by Bank's anolher customer of the same name, ke
been charged 1o Ram's Bank Account in error,

You arc required (a) 1o show nccesary adjustments to be made in the Cash Book, and (k) w
prepare a Bank Reconciliation Statment for the Account No. 1 as on March 31, 2005.
Solution :

Cash Book of Ram

De {Bank Colwmn)
Particulars Rs. Particulars

To Adjustment for under-casting

of receipt side 5,000 | By Balanice b/d
To Dividend 1,500 | By Bank charges *
To Balance e/d 57,750 | By Debior (dishonoured cheque)

64,250
Bank Reconelliation Statement

Jor Account No. ! as on March 31, 2015

Particulars

Cr.  Balance as per Cash Book (Overdraft)

Add : Cheques paid in but not yet collected & credited
Cheques of another party wrongly debited

Details Rs.

18,000
2,100

Less : Cheques issued bul nol presented

Cheqgues drawn on Accounl No. 1 21,000

wrongly debited to Account No, 2 26,000

Dr.  Balance as per Bank Statment (Overdrafi)

i
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a2
ustration 9.9 :

I
On 315t March 2015, the pag,
of the Cash Book showed a ﬂndm 0ucd s overdralt of Rs. 72750, But bank
prepare 3 Bank Reconcilialion Statemen n ﬂfhbdm_w On the basis of following infisrmalion,
(i) Bank could not collect (he amoung of otk coding 311 March, 2015

i) Tsswed cheques but ngg Presented % sel for callocrion 24,500
;I!.;) Bank received mhl.:“reu on our iml::a;h.:im s reoccded i 1k 3,700
Bank Pass Book Mi““'ﬂmm wab recorded in the
(iv) Interest charged on overdraly b the bunk which — : ) 400
Amount of dishg ; : recorded in the Cash Book. 2,150
s“f:l ot of Mdh'w“*“hﬂl‘mﬂwkman|h<cu}.m“,m
Bank Recoaciliation Stas
As o 3st March, m:?m
(Taking Bank Pass Bok Balance)
Particulars | Demils | Towl
Rs. Rs
Bank overdrafi Dr. Balance as per Fass Book 2750
Add : (i) Cheques drawn but nor presented befiee the bank for
payment 3,700
(i) Interest received by bank on cur investments 4,600 5,300
§1,080
¢ (i) Cheques sent into the bank but nod collected 24500
(if) Interest on overdrafi charged by the bank debited into 445
Bank Pass Book. =
(i} Bill dishonoured shown in Bask Pass Book. [ 1400] (33,050) |
L Overdralts (Cr.) Balance as per Cash Book e
March, 2015
Bank il ||||$ulwrlll$“3|':
(Toking Cash Bock Balance
——— Detalls | Total
Particislars + | BRs Rs.
SaIEE I B
Bank overdraft as per Cash Book e 24300 |
Add ; (j) cﬁmm: imﬂrwb‘;{“:’f‘ 2,150
(ii) Interest on mﬂd:;:n d"iflhr Bank Pass Book | M0 :,mm
(iii) Bill dishonoured
eseatod before the bank for | 3700
Deduct: () Cheques drawn bet 104 ¥ | aaw| s
yment . baak f
i} Interest on investment o j
o Bank Pass Book
Owerdrafi as pef




Bank Reconciliation Statement

—
Tustration .10 :

Anand & Co. have bank accounts with two banks, viz., Dena Bank and Bank of India, On 3y
March 2015, his Cash Book (bank columns) showed balance of Rs, 50,000 with Dena Bank 4y
overdraf of Rs. 22,500 with Bank of India. On futher serificaton, the following facts were discorcey

(a) A deposit of Rs. 15,000 drawn on Dena Bank 20th March, 2015 has been .
e ety e i Bl eflcred y

(b) A withdrawal of Rs. 5,000 from Bank of India on 2nd Febr 2015 has been .
the column for Dena Bank, ) e

{c) Two cheques of Rs. 5,000 and Rs. 7,500 dqb::‘:m& in Dena Bank on 1st March 2015 g
entered in the Bank of India column have dishonoured by the bankers. The essrigg
for dishonour have been made in the Bank of India column,

(d) Cheques were issued on 29th March 2015 on Dena Bank and Bank of India for Re
1,00,000 and Rs. 10,000 respectively. These have not been cashed tll 31st March, 2015

{e) Incidental charges of Rs. 100 and Rs. 250 charged by Dena Bank and Bank of Inda
: respectively have not been entered in the books. o

0] D:nnﬂmkhucrud:'l.:duhlerwdﬂsmmmﬁlmhammwm
of Rs. 2,750. These have not been recorded in the books.

{e) The deposits of Rs. 50,000 and Rs. 35,000 made into Dena Bank and Bank of Inda
mspudnelyhm-enmmbomcre\:iled by them till 315t March, 2015,

Draw up the two Bank Reconciliation Statements,

Solution :
Mis Anand & Co.
Bank Reconciliation Statement with Dena Bank
As on Jist March, 2015
Particulirs Dewils | Total
i % B
Dr. Balance as per Cash Book 50,000
Add: () Deposit made on 20,12 2015 but wrongly debited 1o Bank of India 15,000
(b} Withdrawal made on 2.11.2015 wrongly entered in this Account 5,000
(€} No effeet of this entry e
(d) Cheques issued bul not presented for payment. 1,00, 000
(f) Interest ceedited by Bank. so0 | 120500
1,500
Less: () Incidental charges debited by Bank 100
E,) Chegques deposited but not yet credited by Bank. 50000 | (50100
Cr. Balance as per Bank Pass Book. 1,20,400
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2 liation Statement with pan o India
AS o 315t Mareh, 2915

Particulars : | Detils | Total
Hs. s,
Cr. thmn:eu pr g w (overdraly) 5= 2,500
: (a) Deposit k wrongly cntered in thi |
pu (b) Withdrawal made wrongly entered in D::eh: S Iiﬁ |
() Mo effect - |
(d) Incidental charges not yet eatered. | 250 |
(c) Interest charged by Bank not yet estered in cath book. 2,750 |
(f) Cheques deposited not credited by Bank 35000 | 58000
80,500
Less: (g) Cheques issued but not presented for payment }m
Dr. Balance as per Pass Book (overdraft) l -

IMustration %11 :

On 31st March, 2015, the pass book of a businessman shows a debit balance of Rs. 1,00,000,
You are required 1o prepare a Bank Reconciliation Statement as 0n 3151 March, 2005 for the following
particulars :

Cheq mounling to Rs. 800,000 drawn on 25th March of which cheques of Rs. 3,00,000
(2 mgu:uhdu?mszamm_ ) i
(b) ues worth MMMMWmm 2015 but chequss 3. 2,204
locted in th ;
() Mmkm;mdhmwmdwwhnkmuﬂm
be shown in the Cash Book. : o
60,000 debited i the cash book was omined to ! )
E:)} :E::::::m“ﬂwhhﬁmmrulrylmuirwdwbcmd:m
Cash book.

3 Bank Reconciliation
Solution : o5 on 3lst March , 2015
P— | Detaits | Total
Panticulars. | Rs. Rs.
.  ——— 1,00000
Dr. Balance as per Pass Book !
(Add : Cheques drawn but not cncashed. | g
(Rs. 800,000 -300000) '\ e , 32000
Cheques sent to Bank but oaiticd 12 I 71
Dividend Colleced by Bank _ - 0w
Less ; Clnqmdspmitbdb;.'m‘?lwg 2500
(5,00,000 — 2.20,000 Book. . 60,000 | (342,500
Bank charges ““.“ﬁdm:kcb‘fﬂ deposited in Bank. . e
Cheques debited in :
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s
Ulustration 9.12 : ey Q—W
From the following particulars, prepare a Bank Recondiliation Statement for Mr. Dems a5 ot 3 st kb Novesber, 2014, the Cash Book
(i) Bank balance as per cash book (Credit) Rs. 61,000 Cise g"hg bank statement showed only Rs, ,fﬁ'm s ion & e 00
(i) Cheques issued but not presented Rs, 3,00,000 revealed the following : . ed examinalion of the Iwo
(ili) Cheqes deposited but not credited by the Bank Rs. 2,50,000 @ The debit side of the Cash Book kad been ndereast by Rs. 3,000,

(iv) A cheques drawn for Rs, mbldbeminmmllremerdnsRs.lﬂﬂinlthmhM (@) A cheque for Rs. mhhmdmn
o

5 z - Lid. hadl bec i he Bank fr
() A debtor direcily deposited cheque to Mr. Dample's Bank Account bul this wag ot its stalement, the cheque having been el i At .

; T?Oﬂl'_ﬂed in Cash Book Rs, 1,00,000. (i) A cheque for Rs. 1820 drawn for payment of telephone bill had been entered in the Cash
(v) Credit side of the Cash Book (Bank column) was undercast by Rs. 50,000, Book as Rs. 1,280 but was shown correetly in the Bank statement.

(1)~ A chegue for Rs. 500000 drawn by Mr. Surve, has been debited to Mr. Damlk’s Account by eree, (i) A chgeue for Rs. 2,100 from Mr. A having been paid into Bank was dishonouscd and shown

('-('ilii:; :::l D@-Id a B‘:,: P&}ab:t for Rs. 1,45,000 but it was recorded in Cash Book as Rs. 1,540 :;H’:&ns Ej:ﬂlfc“ml. although no entry relating to the dishonaured cheque had
ix) The receipts column of the Cash Book has been overcast by Rs. 1,00,000. : = ' " 3 i
(x) Discount allowed Rs. 41,000 has been enterd by mistake in the Bank column of the Cash Book 0 mmqulmmmt:mﬁﬁmmh I.._H}lo e

(d) Mr. D.’"ﬂ" instructed the Bank on 31st March 2015 to transfer Rs. 10,00,000 1o Fied
Depasit Adc. which he entered in his Cash Book immediately. But the Bank acted on the

~ instruction on Sth April, 2015
(xii) Bank debited Mr. Dample's account with Rs, 30,000 being the amount of a cheque deposiied

(W) A dividend of Rs. 900 had been collected by the Bank but was not recarded in the Cash Book.
(i) Cheques totalling Rs. 12,600 drawn in November had not been prescnted for payment as yer.
[viil) Cheques of Rs. 10,600 deposited on 30t November had not been credited by the Bank 25 yel.

i’ : : debited by the Bank but nct entered in the Cath Book
i I&hm as it was_dxshnn;:rad. This was, however, not entered in his Cash Book. ':'“‘::hu[:":?' s mﬁ;m&mb;mtm:um th November, 2014 after
il cques unt : th ited i i recied
inh;lr. msaﬁhw 39.0“] miahMuﬂydem:cd:nthnt,nu?grm e Cash Book. (CAIB May Adapted)
Solution : Bank Reconciliation Statement of Mr. Damle Selutlon : . BOOK cr.
as on 3ist March, 2015 Or CORRECTED CASH
Particulars Amount | Amount . Daie Particulars Amount | Dale = M:::I
Rs. 14
Credit Balance as per Cash Book (i, overdralt Cash Book) i - - ; 35;1 Nov 3 B Blace b K
| Add - Cheque drp:;'dl'ud beiinots el by Bk 250,000 o 0 b Dbl s ded 00 By Ervor in telephone bills |
Cheque drawn but incorrectly entered in 2 gmdgjd 30 u%:ﬂ:msd 2100
Cash Beok (10,000 - 1,000) 9,000 {Corrected overdralt : 2%&: 5290
Credit side of the Cash Book (Bank Column) is undercast 50,000 balance) | | 4220
Cheque drawn by ather party, but debited to our account by Bank |  5,00,000 41220 —
Receipt column of Cash Book is overcast 1,00,000 TION STATEMENT
Discount allowed wrongly cntered in Bank Colun of the Cash Book | 41,000 BANK Novenber, 2014
Cheque dishonoured but not entered in Cash Book 50,000 | 10,00,000 = o 300 | Details | Amount
_—l_____-__
wsan| | = Particulars | e | B
Less : Cheques issued but not presented for payment 3,00,000 | — | 3w
Cheque directly deposisted by debtor but ded recorded i 260
e . 1,00,000 ligy , Crerdralt as per Cash Hf,qu 5 1&_&*1[_&@.*1
Bills Payablc paid by Bank but entered in Cash Book with wrong  Bank wrongly debited 8 YO 1o g by the bank [ 49,350
figures (1,54,000  1,45,000) 9,000 Cheques deposited bul 00 V% 7\ L o ancther [ 156w
Amount not transferred 1o Fixed Deposit by Bank, but entered in e : Cheque issued but debited by ¢ L_l.‘.'.ﬂ-'ﬂ (28,200
the Cash Book. 10,00,000 customer’s account. fos payment: | 21,150
Cheques deposited with Bank, but not recorded in Cash Book. 20,000 |(14,39,000) Cheque drawn but not presestcd '
Overdealt as per Pass Book.
Credit Balance as per Pass Book (Deposit) 378,000
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Bank Reconciliation Statermeant

Very Short Questions and Answers. (Not exceeding 40 words)

QL.

Ans, @

Q2.

Ans. ¢

g

ER f%

EF

Ans, :

Eg

Ans, :

What is meant by Bank Reconciliation Statement ?

Bank Reconciliation is a statement which contains a complete and satisfactory uq,lmﬁmd
the differences between the two balances as disclosed by Cash Book and Pass Book,

Is Bank Reconciliation statement a part of double entry system?

Bank Reconciliation Statement is not a part of double entry system. It is only a statemen; which

is prepared only when the balance of Bank column of Cash Book and Customer's balang j,
Bank Pass Book does not tally.

State only four causes of difference between Bank Column of Cash Book and balance as pe:
Pass Book.

-+ Causes of difference between Two balances :

(i) When cheques are issucd by the customer, but the individuals have not presented in Bus
for payment upto the last date.

(if) When cheques are deposited in Bank for collection but the same are not collected il e
date of preparing this stalement.

(i) Interest allowed and credited by Bank.

(i) Bank charges including interest charged by Bank on averdrafi.

What is the need of preparing Bank Reconciliation Statement?

- The crrors and omissions committed by the Bank or by the customer would be detecied asd

can be rectified accordingly and it also prevents frauds in recording banking transactions.
Hwﬂllﬂmmmtwlmmummhhﬂuaﬂ per Pass Book?

: Diirect payment received by the Bank will be credited in Customer's Account in the Bask, 3

such balance of Pass Book in Customer's Account will be more than the balance of Bk
column of Cash Book.

What does a credit balance as per cash book mean?

* When any amount is deposited, the Bank Account is debited and if withdrawn, it would b

credited. It shows that if eredit is more than debit, it means overdrawn balance or unfavoursbe
balance of Bank Account in Cash Book,

What does a debil balance as per Cash Book mean?

Debit balance as per Cash Book means favourable balance in Bank column of Cash Book
Wihat is meant by o debit balance of Pass Book?

¢ Debit balance of Pass Book means unfavourable balance or overdrafi balance in custome’®

Account in the Bank,
Which balances are called overdraft balances of Pass Book and the Cash Book.

Debit balance as per Pass Book and Credit balance as per Cash Book are called overd®
balances or unfaveurable balances,

3]

[

. Name four items which will increase favourable o

s

Q.
Aas.

FE KR

Fundamentals of Business Accounting

tance of Bank Column of Cash Book.

(i) Cheques issued but not presented for payment in the Bank.

(i) Interest credited by Bank,
(i) Direet deposit by a customer in Bank Account.

(iv) Dividend collected directly by Bank,

Name four items which will decrease favourable balance of Bank eslumn of Cash Book.
(i} Cheques and Bills sent for collection byt not yel collected and credited by Bank,
(ii) Bank charges, charged by Bank for dishoscur of & chqeue.

(iii) Locker rent dirccily debited in Customer's Account under Standing instructions.
(i) Interest on overdraft if any, charged by Bank,

. Mention two items which are not to be recorded in an Amended Cash Book balance,
+ (i) Cheques issued by customer but st yet preseated for payment in Bank.

(i) Cheques sent to Bank for collection but not yet collected and credited by Bank

. Mame two items which are to be entered in Amended Cash Book.
+ (i) Credits granted by the Bank for collecting [nterest and Dividend.

(i) Payment of Insurance premium and locker reat etc. by the Bank on behall of customer
under standing insiructions.

Short Questions and Answers @ (Nol exceeding 80 words)

QL

Ams, ¢

Q2
Ans,

FE

* Enumerate five reasons for disagreement
 Cittises of Difference in Cash Book &

State the meaning of Bank Reconciliation Statement.
Meaning of Bank Reconciliation Statement : ) e e
It is & st which ins & k satisfactory explanation of | et
Book. It is mot a part the double eatry booking
MWFWMmeBgm balance. Tt i important (0 note that & Bank
mlll"ﬁl g J?u‘ 1 is to be prepared when a Bank Statcment 15 received on a stated day.,

State the need or objective of preparing Bank Reconciliation Statement.

: Need for Preparing Bank Reconciliation Statement :

Nkmmlitison sliation Statement becauss of the following reasons ;

1. Th and omissions committed by the Bask or the Merchant (customer) would be
. The errors omissions 2
21 wall “m"] T: be rectificd lancs ﬂﬁwm of the customer 0 as to help him in making
will reflect the actual bank

the further (ransactions with the B“k book by making necessary entrics as regards
3 It facilitates the pr:lpmmdm“‘d‘“;ﬂ;fpd b}.-:fnk_ direct payments by bank ¢t
i bank charges, hﬂuﬂi'r"_"""“' d ine transadtions and reduces the chances of
LIt prevents frauds in recor he bank. .
embezddement by the saff of the :m;th:;m collection of cheques etc. By the bank,
5.1t helps in revealing the uapceessary of Cash Book and Pass Book Balances.

Book Balances : ?
& e SRR
difference in (wo balances may ot in the Bank. :
1 Cheques sued bt o m::e:b o bt not yet collected and crcdited by the Bank.
Chiques paid into the

-



Bank Reconciliation Statement .

Z

F

Q.

Ans.

Q9. :

Ans, :

— %y
3. Cheques paid into bank for collection but dishonoured.
4. Interest Credited by Bank but not recorded in Cash Book,
3. Bank charges and Interest on overdrafl charged by Bank but not recarded in Cash Bogy,
Enumerate four items which are added in overdraft of Cash Book to reconeile with averdrgy
balance of Pass Book.
: ltems added in Credit Balance of Cash Book :
(i) Cheques Reccived and entered in Cash Book but omitted 10 be banked.
(id) Credit side of Bank Column of Cash Book is Cast Short
(iii) Insurance premium paid by the Bank under slanding instructions.
(i) Bills Receivable discounted and dishonoured by the Debtor on due date,
Give five examples of such items which are recorded by the Bank in Customer's Account byt
nol entered in Cash Book because of Inck of Advice.
: ltems entered in Pass Book but nat recorded in Cash Book :
(i) Bill Receivable discounted but dishonoured on due date.
(ii) Interest allowed by Bank on deposit balances,
(iii) Interest and dividend on Investments collected by Bank under standing instructions.
(i) Insurance premium paid by Bank on behall of the customes,
(¥) Deposit by a customer directly in our Bank Aceousnt.
Enumerate four examples of such ilems which are recarded in Cash Book but not in Bask
Pass Bool,
(i) Cheques issued 1o sundry creditors but not yet presented for payment.
(i) Bills for collection sent to Bank bul not yet collected by Bank.
(iii) Cheques received and entered in Cash Book bul omitted o bz banked.
(iv) Overeast or undercast of Debit or Credit side of Cash Book.
Cheques issued far Rs. 9,600 but were presented in the Bank for payment only for s, 6,000
Cheques deposited in the bank for Rs. 12,000 could not be collected, Favourable balance as
per Cash Book was Rs. 2,000. Find out the balance as per Pass Baok.
[Ans. Dr, Bal Pass Book Rs.6:400]
: Cash Book (Dr.) Balance Rs. 2,000 + (Rs, 9,600 - 6,000) — Rs, 12,000 = Rs, 6400, Debit of
unfavourable balance of Pass Book.

Favourable balances as per Puss Book s given Rs, 10,000, Bank charges Rs. 3,000, interes
on deposit Rs. 30,000, direct payment by Eank Rs. 5,000 under standing instructions are
recorded in Cash Book. Find out the balance as per Cash Book,

[Ans. : Cash Book Credit Balance Rs. 12000

R
Cr. Balance as per Pass Book 10,00
Add : Bank Charges 3000
Direct Paymenl (o a customer Tﬁiﬁ i
1
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: Interest on Bank Deposiy
Less:
(30,000)
Cash
Cr. Balance as per Boaok st

gnumerate four examples of those j - .
0 Chile preparing Bank Rmuul.m:?mm.'," added in Favourable balance of Cash book,

s The mh""i“‘i'm are 1o be added if Dr. balirces of Cash Book is the starting point
(i) Cheques issued but not yet presented for payment,
(i) Interest eredited by Baak in the Pass Book
(i) Dividends and lnterest on Investments collected by Bank,
(iv) Dircct payments by a customer in Bank but not yet recorded in Cash Book

fssay Type or Long Answers Questions ;

1. ‘What do you mean by Bank Reconciliation Statement 7 Explain the causes of difference betwesn
Cash Book Balance and Pass Book Balnce giving cxamples.  (See page sps. 9.1 and 9.3)

Nemericals :

When Debit Balance as per Cash Book is Given

On 1st March 2015 the Cash Book of Mis Gyan Bros. shows a balances of Hs, 65,000, From

the following particulars prepare a Bank Reconciliation Statement showing the balance as per

Bank Pass Book as on that date : .

(1) The following cheques were paid into the bank on E'Nh March, 2015 but were eredited by
the bank on 3rd April, 2015,

(a) Mr. Peters Rs. 12600; b) Mr. Madan Rs. 16650, _
(2) The cheques is.ved o : (i) Gaolam Rs. 9,750, (ii) Asil Rs, 40,080, in March 2015 but were
presented o al in April, 2015
; I lP;'_I::M:“bild-‘dmjmmkwmm)mtntﬂclhx?bct
{ :I:w - m!uu standing instructions Rs. 3,000 which were nod enlered in Cash
commerce under
Book.

4) The pass book reveals a cre
not been entered i Cash Book.
Hinl : Rs. 69,000 + 9,750 + 40,080
+ 3,000) or Rs, 1,27,380 - 32,610 =

On 3151 March, 2015, the balance as per

received
the :'.t;;s Book the hﬂﬂmm%’:ﬂ: ssucd on 28th March of which onc cheques
i) Cheques amoun -

h payment on 4th April, 2005,
of Rs. 13,000 was presented in the ""‘m?.fn bt of these cheques for Rs. 60,000 only
{ii) ited i
(i)

i IH-;’::::: IET:FS\S,SI.'U collected by pank and credited 1o his
Intcrest and Dividend on e Prrey for this.
(i) Life Insurance Premivm RS =00 A0 L Cash Book.
Rs. 250 ol 1600CE0 Ly March, 2015
P!t;:]“: ,B ;:ﬁmmmm Statement 38 T::D.. Balance as per Pass Book Rs. 13.950]

.

i and dividends realised which has

=i sfﬁs.ha.:ﬁﬂi‘?u Book Credit Balanmce Rs. 94,770)

+ 8550 = Rs, 1,27380 - (12600 + 16,650 + 360
Re. .70 Cr. Balance as per Pass Book.

Aril's Cash Book was R, 15,000, (n comparing with

account but he did not have ;‘-‘:”m paid by bank according to his standing orders.




Bank Reconciligion Statesment

Hint for solution : Rs. 15000 + Rs. 13,000 +5800 = Rs. 33,800
Less : Cheques deposited but not yet collected Rs. 40,000

Life Ins. Premium paid by Bank 7,500
Bank Charges _250 (#7750)
Owverdraft or Dr. Balance as per Pass Book 13,950

When Credit Balance as per Cash Book is Given :
Q3.
2015 :
(i} Credit balance as per Bank column of Cash Book
(ii) Cheques issued to the creditors but not yet presented for payment
(iii) Cheques deposited into Bank for collection but ot collected by the
bank upto this date.
(iv) Bank charges charged by the bank
(¥) Interest on overdraft charged by the bank
(vi) A customer deposited into our bank account without informing us
(vii) Bank paid house tax on our behalf, but no information was received
from Bank till 30th June, 2015,

Prepare a Bank Reconcilintion Statement from the following particulars as on 30th Jug,

Ry
0
T

Epuf

£
Ans. : [Dr, Balance as per PB. Rs. 4260

Hint : Cr. Balance as per Cash Book Rs. 36,000 + 15400 + 200 + 250 + 350 = 53,000
(=) Rs. 7,200 (-) 2,400 or - 9,600 = Rs. 42,600 (Dr. Balance as per PB.)
Q4. The Cash Book of a trader reveals a bank ‘overdraft of Rs. 25,000 as on 315t March, 2015

The following information is available. Prepare the Bank Reconciliation Statement :
(2) Cheques amounting to Rs. 146,000 were deposited into bank, but of these only for B

122,000 were credited in the Pass Book,
&)
for payment,

Cheques for Rs. 1,00,000 were issued but of these only for Rs. 36,000 had been preseated

(c) A cheque for Rs. 5,000 which he had debited to the bank account was omitted to be banked

)

A customer paid directly in the bank Rs. 10,000 but was not entered in Cash Book.

(¢) There was a debit in Pass Book of Rs. 100 for bank charges and Rs. 500 for bank intere
() Bank had paid insurance premivm of Rs. 4,000 as per his instructions bul not

in the Cash Book.

(g) Interest and divided collected by the bank on behall of the trader Rs. 3,000,
Ans. : Dr. Balance as per BB, Rs. 1547

Ans : Cr. Balance as per Cash Book
Add : Cheques sent 1o Bank but nol yet collecied
(1,46,000 - 1,22,000)
Cheque received and entered in C.B. but omitied to be banked
Bank Charges Rs. 100 4+ Rs. 500 (Interest on QD)
Insurance Premium paid by Bank
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Fundamentaly of Business Aecounting

Less : Cheques issued but noy ¥el presented (s,
Direct payment by a customer
Interest and Dividend Collected by Bany
Cr. Balance as per Pass Book (Fxvourable)

L0000 - 36000) = 64,000
10,000
3,000 {77,000)
T 18,400

My Bank Puss Book showed an overdralt of Rs. 13,000 on 315t March, 2015, This does not
agree with the Cash Book balance. From the following particulars ascertain the balance as
per Cash Book :
Chegues amounling to Rs. 3,000 were paid iato Bank in March, out of which, it appears,
cheques mﬂ“w'ﬂ to Rs. 9,000 only were credited by Bank, Cheques issued during March
amounted in all to Rs. 22,000 oul of these cheques for Rs. 6000 were unpaid on 315t March.
2015. The Pass Book stands debited with Rs. 300 for interest and Rs. 60 for bank charges. The
Bank had paid the annual subscription of Rs, 200 1o my club according 1o my instructions. The
entries for interest, bank charges and subscription have not yet been mads in Cash Book
[Ans : Balance as per Cash Book Rs 2,560]

Hint : Dr. Balance (Overdraft) as per Pass Book = Rs. 13,000
Add : Cheques issued but nol presented for paymeat 2,000
Less : Cheques deposited but not yet collected Rs. 21,000 19,000
Interest, Bank Charges and Subscription
paid by Bank (Rs. 300 + 60 + 200) 380 EI;S(:;

Dr. Balance as per Cash Bock L
On the the following information available from the books and records of Ms
Rl‘inhh::l ﬂrsnu, you mnr'rqﬂnd to prepare a Bank Reconcliation Statement as on 31st
March, 2015 :

(i) Overdraft balance as per Pass Books Rs. 19140

() Cheques amounting t Re 2210 et Srtel Y L ot 05 Ape
hﬁote_llﬂ Moy, M} lkg,, 820 which wat returned unpaid on Sth April
exXCepling onc .Bhﬂlu: ar b Apel owards s charges oa the aforcsaid cheque.
The Bank d;hmd_llswm o00 issoed by the firm on or before s March, were
mﬁdm‘gﬁdﬁﬁ account on Jrd April by the bank

5 fiem for Rs. 27,720 was returacd on 28th

() A cheque dated f’&";‘:c”""mh"";m-tm The firm received the intimation about
March on accoun :
ithe return of cheques on 2nd April was wrongly credited by the Bask to

.dh’.mdmn‘m. b
A cheque for Rs. 12,735 dﬂ;?l'; Manch and the entry was reversed in April.
the account of this firm on o R, 1620 was debitcd by the bank on 315t March but
Interest on Wi.lf‘lft amounl by the fism 08 Ist Apail ST
the advice thereof was recer™ a5 per Cash Book on 3152 Marc b
You are required to arrive at the balance {Ans. Balance as per Cash book Rs. 6,124]

(iii)
{iv)

(vi)

(i)



Bank Reconciliation Statement

Hint for Solution :
Dr. Balance as per Pass Book
Add : Cheques issued but not presented for payment updtill now
Cheque issued but not cashed on technical grounds
Cheque deposited by another customer wrongly credited
Less : Cheques deposited but not yet collected
Rs. 220,050 - 8,820 = 211,230
1,629

Interest on Overdraft
Dr. Balance as per Cash Book
When Credit Balance of Pass Book is Given :

Q7. On 30th June, 2015 the Pass Book of M. Akbar showed a balance of Rs, 66
the Pass Book with Cash Book the following differences were found

___"‘-...j‘f

k
i
Y
I
2

(2125
Sy

WM. On compariy

(i) Mr. Akbar had paid into the Bank on 26th June four cheques for Rs. 9,000 Rs.
Rs, 24,000 and Mmﬂf!hmtheuhequefwks. !mmmmdbrhuﬂ

in July, 2015.

(i) On 23rd June three cheques were drawn for Rs. 12,000; Rs. 13,000 and Rs. 32,000 Tk
Iz';;ljm cheques were preseated to the bank for payment in June while the third m l

(i)

()

in the Cash Book.
Bank Charges entered in Cash Book wice Rs. 150,

Cheques amounting to Rs, 10,800 were deposited in the bank but no entry was passd

(v) Cheques received and sent 1o Bank but entered twice in the Cash Book Rs. Mﬁﬂ

Preparc a Reconciliation Stalement as on 30th June, 2015,

Ans. : Cr. Balance as per Pass Book

IAns. Dr. Balance as per Cash Book Rs. 5069
Rs. 6608

Add : Cheque deposited in Bank but not et collected. 18
Add : Cheque received & sent 1o Bank but entered fime in Cash Book ﬁ..’;
Less : Cheques issued but not presented for payment till 30th June  Rs. 32,000
Less : Cheque deposited in Bank but no entry was made in Cash Book 10,800
Less : Bank Charges entered twice in Cash Book 150 _!‘_."Eg
Dr. Bulance as per Cash Book ..i"lf;
ol

Q8. Prepare Bank Reconciliation Statement for the Fullowing particulars of Modi Sons o8

March, 2015 :
(i) Balance as per Pass Book on 31st March, 2015 Rs. 60,000

(i) Out of total cheques issucd for Rs. 3,75,000 during the month, cheques for Rs. 3:.011;:
encashed in March, for Rs. 60,000 in April and the rest were nol presented for pay it

(iii) Out of total cheques deposited in Bank for Rs. 1,20,000, cheques of Rs. 75,000
credited in March, for Rs. 20,000 in April and the rest are yel to be collected.

(iv) Bank has charged for commission Rs. 270 and allowed Interest Rs, 3,300,

(v} Amount of Rs. 24,000 was wrongly debited by Bank.
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i) A cheque for Rs. 12,000 : k
(wi) oot B 1 m‘:‘;m’r;ﬂ;l erlered in Cash Book in March, 2015 bul was

made in cash Book
Hint for solulion : d Rs
Re. 60,000 + 45,000 + 270 + 24000 + 12000 + 133,000 - 274270
- (Rs. 325,000 + 3,300) - (328300

Cr. Balance as per Cash Book (Overdeawn balance) 4030

Note : When nothing is mentioned abow Dr. or Cr. halance, wsual balance of PB. is treated
as eredit.

Adjusted Cash Book :

Q8. As per the Bank Reconciliation Statemeat of Rajdhani Traders for the month of February,
2015 the amount of unpresneted cheques was Rs. 4000 and that of unscollected cheques ws
Rs. 7,500. The following additional information is available for the month of February 2015 :

Particulars As per Cash Book Rs, As per Bank Puss
Hook Ks.
Deposits during Febroary 50,000 41_3.:.;
Payments during February 60,000 f:wu
Collections of Bills ; = s
Payments a per standing instructions = :3._W
Balance as on 28th February . 30,000

. ed cash balance and (2) to preparc a Bank
You are required (1) to find out the e [Ans. Adjusted Cash Balarce Rs. 35,000 &
Reconciliation Statement. (Cr.) Balance PB. Rs. 31,500)

hr-: (1) Adjusted Cash Book (Bank Column)
Recel Amount E_ Payments | Amouni

"" e —
T Batane & Bank 1,000
e s o ame o

To Bills Collgction :
36,000 36,000
O 28th February, 2015
liation Statement ax

(2) Bank Recondl .
35,000
Aiusted D, as per Cash Book " | e
(1dd Chuqﬂefam anm yet prescated for pRT e
Ll.u-(* d 'Mhnlmmmhﬂm et
| e 30,500




Bank Reconciliation Statement

A

Q10. On 315t March, 2015 the bank column of the Cash Book of a merchant shows a ebiy ba

0]
@
(3)
)

3
(6)

™
®

of Rs. 92,200, On examination of the Cash book and the Bank Statement, you fing that ;

Cheques amounting 1o Rs. 1,26,000 were issued before 31st March, but were noy
for payment till 31-3-2015, Peesentey

Cheques worth Rs. 50,000 were entered in Cash Book as sent to bank for collection byt
were eatered in Bank Statement in April, 2015,

A cheque of Ravi Rs. 14,600 had been disho red before 31st March b
mad:?n Cash Book, - s

m\iﬂerﬂ warrant for Rs. 7,600 was paid direct in the bank, did not appear in Cug

Bank interest and charges Rs. 8,400 did not appear in Cash Book,

Raolary club membership subseri ion Rs. 2,000 paid by Bank under standi instructi
didnmappminm e i R

Bank charges for some payments made by bank Rs. 200 was enterest in cash book mwice

A cheques for Rs. 5,400 drawn him against his Saving Fund Accoun
i :o:hhmwm-u?mmmm"nmu lains =

Parti T
e Withdrawals | Depusits I Dr. or Cr. | Balance
By Balance bid Rs. Rs - ;::
By Mahesh Bansal's uﬂ'm = EJ{ | I;m
I St S s 10| c: 13.2%
Prakash | o ;
e 450 | 12,400
o m\q],“ Kalra 2400 | Ce. | 10000
Bywm {Cask) 00| c©r | 10500
I kot o | & | os0
To Insurance Premium 00 or. 9300
To Bank Charges P G 225
By Interest w| | 9,350
By Intcrest on Investments 540 Cr. 9,990
Dr. Cash Book (Bank Column only) Cr.
Date Particulars Amount | Date Particalars Amount
- s [By R Rai | =
Jenc 1 |To Balance bid - 11,500 | Juse, 10 By
lmz 1 (To Mabesh Bansal 750 |June, 12 |By Ved Prakash 850
lsac 5 |To Santosh Sood 1,000 |June, 15 |By Cash | 2400
ane 18 |To Ramesh Kumar 600 | June, 18 g;fwul:nlc'lhdon :23
unz 400 | Jume, 5 upta
| Vi K Juee, 28 |By Abhay Kumar 660
By Balance c/id | 8300 |
14,250 | 14250
Jaly, 1 £300
2.1 |To Balance bid

(9) Make necessary ndjusm:m in Cash Book to bring down the correct balance and
slalement reconciling the corrected cash book with the balance as per o
slatcmenl.,

[Ans. Adjusted Cash Balances Rs. 75,000, {Cr.) Balance as per Pass Book Rs. 1.45,600]
Ans ; (1) Adjusted Cash Book (Bank Column)
Receipts Amount Payments Amount
To Balance bid 92,200 |By Ravi (Cheque dish.) 14,600
To Dividend 7600 |By Interest & Bank charges 8,400
To Bank charges (entered twice) 200 By Rotary Club Subscrip. 2,000
By Balance c/d 75,000
| |-l
1,00,000 1,00,000
Bank Reconciliation Statement as On 28th February, 2015
) Rs
Dr. Balance (Adjusted) as per Cash Book 75,000
Add : Cheques issued but not yet presented for payment | 1,26,000)
Less : Cheques depesited but not yet collected 50,000 | 201,000
Lm:Ct:qmofSFMwmﬂgj}d&Hldmmi:quwmrm ;,m__fj_-"-_"_“;
Cr. Balance as per Pass Book |,.s_s£ﬂl_ﬂ‘_
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¢ i wealed = (i) OF the cheques
Ans. : On comparing the above two extracts the following Facts are rey

“d, worth Rs, 900, Rs. 440 and Rs.
ed on June 18 (Rs. 600) and Junc
A46C premium paid Rs. 500 and Baak

Anouny of Interest collected Rs. 64 and interest

) dj

et deposiy by Vikas Kalra in Wmmmj
Rs. 8300, 4+ 900 + 440-+660+640 +100+5%

csented for payment as yet; (ii) Cheques
i D:J]}ers aot yet oollected and crodited; (iii)
ﬁmﬁﬁ- Re. 50 were oot recorded in Cash Book, (iv)

credited by Bank Rs. 100 were also ol recorded,

une 20 was also not entered in Cash Book.
= 11,580 - (600 +400+ 500+ 50) = Rs. 9,990,



Depreciation Accounting

; =
assels are needed for the congy
of business operations. Such assets are used jn business to derive benefits for more than ane
period. Periodic profit is measured by charging cost against periodic revenue. Since fixed FITT
used to generate periodic revenue, an appropriate sharc of cost of fixed assels needs 10 be chap
as cosl. Such an appropriate proportion of the cosi of fixed asset is called Deprediation.
Meaning and Definitions :

The fall in the value and wiility of fived assels, for example : Building, Plant, Machinery, Vihicks
Furniture, Fittings ctc., due o their constant use and expiry of fime is termed as depreciation.

Accarding to Pickles, “Depeciation s the permanent and continuing diminution in the quly
quantity or value of assel.” Spicer and Pegler has defincd it as, *the measure of exhaution of
effective life of an asset fram any cause during a given period” In the words of RN, Carie
“Depreciation is the gradual and permancnt decrease the value of an asset from any cavse” IR
Batliboi has defined it is, “It is 3 matter of common knowledge that all ficed assels such as plas.
machinery, building, furniture ete, gradually diminish in value a5 they get older and become wors of
by constant use in the busincss.” ’

From the aforesaid definitions, it can be cancluded that depreciation is a gradual decreas: @
the valuc of an asset duc to wear and tear and eMuxion of time,

Causes of Depreciation :

The causes of depreciation are as follows :

(1) Wear and Tear : When fixed assets are put to use, the value of such assets may decres
on account of wom or torn out because of constant use as in case of plant, machinery, furnitere &
used in a factory. i

(2) EMuxion or Passage of Time : Certain assets decrease in value with the passage of 1=
This is true in case of assels like leaschold properties, patents and trademark copyrights otc. J

3) Depletion or Exhaustion : An asiel may gel cxhausted by working, This is in case 0‘“‘“’
mines, oil wells, forestries cic.. Due 1o eonlinuous exiraction of mincrals or oil or cuting of ¢

stage comes when mine or well or the forests gets exhausted and nothing is lefl thergin,

(4) Obsolescence : Duc 1o new inventions and improved technology, the old assets
obsolete (ut of dalc). It may be discarded even if it could be put 1o use and is still workable-

(5) Accident : Sometimes an assel may be dn['m by fire, Nlood cte, or a vehicl may
damaged due (o an accident.
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% ounting
(6) Permanent Fall in Markey Price ; The Muciuations in

o i sy e e s e
:.: of investmenis, # depreciation, For cxample, permancnt (all in the
need for Providing Depreciation .
The need for providing depreciation iy
ke following objectives to be allsined -
(1) To ascertain true resulls of

acoounting records arises duc to any one or more of

: praper matching of cost with revenue il is
; 0 10084 against income (revenuc) in each accoantine period. Unless
the depreciation is charged againt income, the resyly of operations would stand overstated. As 4
Present a toue and fair picture of the resuly of operations
(2) To present true and fair view of the financial position : For preseniing a trus and fair view
of the financial position, it is 1y to charge the deprecistion. If the deprecistion is mot charged,
the unexpired cost of the assel concerned

(i2. the Balance Sheet) would not present o

would be overstated. As a result, the Position Siatement
truc and fair view of the financial position of an accounting
ealily
(3) To ascertain the true cost of production : For ascertaining the cost of production, it is
Secessary bo charge depreciation as am item of cost of production. If the depreciation on fised ascts
& 80l charged, the cost records, would rot presest a irue and fair picture of the cost of production
th I remenls : In case of companies, il is compulsory 10 charge
W!ﬂn:bo:nrg ::gskpbﬁfm::i(hd.m dividend [Sec. 205(A) of The Companics Act, 1936]
lacement of assets : A portion of profil is sct assde o the form
mﬂrzm’:ﬁamm year 1o provide ammm ambunt at 3 certain future date
i he end of its wseful life.
the specific purpose of replacement of the asset at ¢ .
preven profits oul of capital : If the depreciation is not charged,
the msli%oam Lthe Mh:z:i:muu w';llhr i:.!:msollb: actual profits. Such an excess
JUo by the Profit and etor or may be discibuted among the sharcholders as
m]{h ﬂ“]:’emm:“;w e distributed will also inclade the amount of depreciation
ence, the amoun dividend
"hich is actually a part of capital
(7} For avolding over payment of '_'“
Loss Accour, the net profit shown by il w
by the firm, nl of depeeciation is st charged, the net
%) Other miscellaneous it :‘::up;:ﬁmnlb\; actieal proBl. As & resull of which :
 revealed by Profit & Loss Account .
(2) Employees may demand higher wages a0d boass
(b) it It in extravagance. ; iness which in i will increase the
fc; Ul;rwpr::uiﬁ will be attracted 10 eutablish the busincss w
competition, ; icion if based om profil .
(d) M::np: ‘r“:'r {he firm will pet higher commiss possible 10 calculate and cstimate the i
A p{ﬂ‘.ﬂ]u : s 1m ing [actors into consideraton
Basic Factors Determining :ﬂmhﬂ“ﬂ' g the following fac
of depreciation. It can only

of
for

1ati i itc '-rll -Iﬂd
o i reciation is nod debited 1o Pre
mb:liﬂf:im mml profits. Thes more tax would be

Prafy

|~




fation Acgon iy
Depree Accotiting —

(1} Cost of the Asset : Cost of a fixed asset is determined after adding all expenges incuny
for bringing the assct to usable condition, such as freight, transit insurance, installation besig
its purchase price. If an old asset is purchased, the overhauling charges incurred will alsq be inclyyy
in the cost of the asset,

(2} Estimated Useful Life of the Asset : Useful life of an asset is estimated in 1ETms of gy,
of years during which the asset can cffectively be used for business operations. In case of longer yeety
life, amount of depreciation will be lower, while it will be higher in case of shorter usehul life.

(3) Estimated Residual Value of the Asset : It i the estimated sale value of the assy e
end of its useful life. It is called as residual value or break-up value, Depreciation is calculated gy,
deduciing cstimated scrap value from the cost of the assel.

) Provision for Repairs and Renewals : Suitable arrangements for repairs and renewl o
an assel will automatically inerease jts useful working life. As a result of which less amoun; of
depreciation shall be provided.

(5) Possibility of New Inventions : Obsolescence of an asset depends upon new inventios
expected in future. If the new asset, becaunse of inventions, is expected soon in future, the wseful B
of the old asset is shorten. Thus higher amount of depreciation need 1o be provided.

(6) Expansion of Asset : If any capital expenditure is incurred in connection with the expansice
of the present asset, the same will be taken intp consideration while providing for depreciation.

(7) Legal Laws ; lfthmmmmel:pllminwﬁumlnrmthgpm'iﬁm for depreciation
sueh laws are followed. For example, Company Law, Income Tax Law ete. are there for providisg

{8) Interest on Capital Invested : Interest of Capital invested for the purchasc or constructis
of a fixed asset should also be 1aken into consideration while making provision for depreciatios.

Depreciation, Depletion and Amortization
Jhe, term depreciation is to be distinguished from other terms such as depletion -
amortization although, these terms are wsed interchangeably. Depletion means reduction in ‘?‘“‘l
fixed asset on account of exhaustion such as extracting coal from a coal mine, oil ul of an oilv
wood from a forest ele. 4

Amortization is used for writing off intangible asscts like goodwill, copyrights, loascholé
patents ete. which have a limited useful life, These terms ¢in be distinguished as follows :

Depreciation is concerned with charging the cost of man-made fixed assets to operdi®
Depletion refers to cost allocation for natural resources, such as oil and mineral deposits, Amort
relates 1o cost allocation for intangible assets such as patents and leascholds,

Methods of Accounting for Depreciatiun

Depreciation is provided at the end of accounting year. There can be two methods of acc09®*"

for depreciation :
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) When Provision for Depreciation Account Nog

" he ision : Mllnuimd‘-
In cnseh |M;::\munl s or depreciation ACCOUN! 5 not maintained in the books, the ficed asset
i shown in the 8 ¥s written down value. The Joumal Entrics, passed in the books are -
{a) For providing depreciation -
Depreciation Afc D¢
To Sundry Asser Aje
() For transfer of depreciation -
Profit & Loss Alc Dr.
To Depreciation Ajc
{e) When an asset is sold or dispased off ;
Bank AJc Dr.
To Sundry Asset Ale
{d) For Profit on sale of an assel :
Asscl Ale D,
To Profit & Loss Afc
() For Loss an sale of an asset :
Profit & Loss Afc Dr.
To Assel Afe

(2) When Provision for Depreciation Account is Maintained :

In case of this method, the asset appears 3 original cost in the books. The fallowing Journal
Entries are passed when this method is followed :
(=) For providing depreciation =
Depreciation Afe
To Provision for depreciation At
{b) For transfer of depreciation :
Profit & Loss Afc
To Depreciation Afc
(e} On sule of Mxed asset : -
{i) Provision of Depreciation Afc
To Asset Ale Dr
(i) Bank Afe
To Asset Ale i
(d) Far Profit on sale of fived assel : .
Asset Afe o
To Profit & Loss :
(€} For Loss on sale of fixed asset : Dr.
Profit & Loss Afc
To Asset Afc

Dr.

D,



Depreciation Accouning

— Ity
Methods of Providing Depreciation

There are various methods of providing depreciation. Different methods may be. suitaby, b
different assets depending upon the nature and Lype of assel These methods are EAUMERACd a5 uag,,

(1) Fixed Instalment Method; (2) Diminishing Balance Method;

(3) Annuity Method; (4) Depreciation Fund Method;

(5) Imsurance Policy Method; (6) Revaluation Method;

(7) Depletion Unit Method; (8) Machine Hour Rate Method;

{8) Service Hours and Production Ouiput Method.

Out of these methods, Fixed instalment and Diminishing balance methods are provided i the
syllabus. Hence only these two methods are discussed in details,

1. Fixed Instalment Method : This method is ako called as original cost method or equd
instalment method or sraight line method. Under this method depreciation is charged a1 a fixeg
percentage on the original cost of the asset. Thus the amount of depreciation remains cqual from yey
to year, as such liﬁsnﬂndisuﬂndcqwmldueNnrmml line or fixed instalment metkod
The amount of yearly depreciation is calculated by the following farmula «

Anaual Depreciation = %ﬁf%‘“&m—

For example, if the purchase price of assel kk?&@,hmhimmhmvm
Rs. 8,000 are the installation charges of the assel, cstimated scrap value is likely 1o be Rs. 15000
the end of 10 years, being the life of a assel, the amount of depreciation (o be written off will be »

Tollows
;&Mﬁ = Rs, S»SWORI'}'MI

10 Years
Rate of depreciation is calculsted with the help of the following.

Rate of Depreciation = Mﬁﬁﬁw@ x 100

Suitabllity : This method is suitable for those assols which do not require much investment 398
the amount of repairs and rencwals requised in also less and which have comparatively shorter life
such as Farniture, Patent, Copyright, Trade mark, Leascholds cie.,

Merits : The main mesits of this method are as follows :

(i) This method is simple to understand,

{lt] This method is easy to ealeulate the amount and the ratc of depreciation.
(i} Under this method the book value of the asset becomes zero or equal to its seoF

valuc at the end of its useful life; which is not possible under other methods.
(i) Under this method, the original cost of the assel and 1ota] depreciation (upte f’fd

Fornulg -
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have to be calculated separately.

@) ird?mﬂ- En.o I ing year affer year as the asset becomes older bul as the
equal ion is charged under this method cach year, the total burden chazged
to Profit and Loss Account in respect of deprecistion and repairs put together will
not be ﬂq“:;:iﬁh year. The total burden will be lighter in carlier years and heavier
during the later years
It is a well-known Fact that the efficiency and usefulness of & maching is more in the
Falliurlmn nmmpn_.mi 1o later years, As such, more dc_pf_bﬁal.ioqs'huuld be charged
in garlier years ﬂtﬂlhl: the later years, wheseas, deopreciation remains constant from
year to year under this method
(i) This method does not take into consideration the loss of interest on the amoust
invested in the assel. The amount would have carned interest, had it been imested
outside the business.
(v} Sometimes, even afler the value of an asset is reduced 1o zero in the books, the awset
conlinues 1o be used in the m.‘up.u:..m p:lw'cc.d ——
mporta : Generally the rate of falion is expressed as ‘per ann " It m
iflilllt Whnlli:ﬁm was purchased in the middle of the year and rate of depreciation is 105
per anaum, The depreciation for the year would be 10% on Rs. 20,000 for & months or Rs. I.Ih.ll.f.h}:
rand | ali iven i and not 109 per annum, the depreciation on 1l
:ﬂ“z tﬂchal[r'mgd gmmmmmﬂ&ﬂm = Rs. 2,000. This is irrespective of the
i of in an r, no deprecialion is o be
ﬁﬂpﬂrﬂmolmm,mmwdﬁwm}ﬁmﬁ ¥ yea p
provided for the period it was used before its :
lsstration 10.1 : .
i ol by Ty e e op Sy
its installation. The useful &l of the machine yoacs. A
e tnd Bs. 1,600 an its H r 5 his accounis books on
1315 the scrap value estimated is Rs. 2000, Assuming that the trader close:
3% Desem Pre . Machinesy Accounl for three years.
Solstion + Amaunt of Annual Depreciaion il be ckubicd 35 s
o * Amoun|

M@ = R 4,800

(iii)

Depreciation = 10 years
& Machinery Account =
| Particulars Amoun
Dy - Amount | Date Rs.
% Particulars -1 | Emapaer— TR
014
o3 ] iation 4,500
i Drec. 31 By Depreai :
1 ITo Bank (Machine) ‘fg By Balance cid 45,200
Tor Cash (Installation) = 50,000
Sy



Ppcdiation A

|
klss foles /Z.

X4 2014
Jan. 1 [To Balance bid 45200 | Dec. 31 |By Depreciation
By Balance o/d
45,200
a5 2015
Dee. 31 |By Depreciation
Jan. 1 [To Balance bjd 40,400 By Balance ¢/d
40,400
216
Jan. 1 |To Balance byd 35,600
lustration 10.2 :

A firm purchased an old maching for Rs. 30,000 en 1st January,
its overhauling and Rs. 4,000 for installation. It purchased another mach
and for Rs. 10,000 on Ist October, 2014, Show Machinery Account
depreciation is to be wrilten off @ 10% per annum on fived instalment

are closed on 315t December, every year,

2013, It spent Rs. 6,000 fx
ine for Rs, 15,000 on lst by
for first three years if e
method. asuming the book

Solution :
D Machinery Account [+
Date Particulars Amount | Date Particulars Al
Rs. Rs
2003 2013
Jan. 1 [To Cash (Cost) 30,000 | Dec. 31 |By Depreciation 4000
To Cash (Expenses) 6,000 (10% on Rs. 40,000)
ITo Cash (Expenses) 4,000 By Balance ¢/d | 3800
| o}
2004 2014
Jan. 1 (To Balance bid 36000 | Dec. 31 |By Depreciation 5
July 1 |To Cash (Machinc No. 2) 15,000 (Res. 4,000+ 750+ 250 for 6
Oct. 1 [To Cash (Machine No. 3) 10,000 and 3 months respectively
By Balance c/d | s600
61,000 | 61004
W15 2015
Jan. 1 [To Balance byd 56000 | Dec. 31 |By Depreciation 630
(Rs. 4,000+ 1,500+ 1,000) 50
By Balance c/d | #7
56,000 ELS
2016 :
Jiin. 1 J‘ﬂ; Balance byd 49,500 u
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!ﬂ”“'\enmm = Sicuen
e b it e it g ™ s
i n rale i3lion i % T
o exsed as ide depreciation on
the asset for the period it way r?mﬂm;&“m o s
(i) When there is a loss on sale of aseer ¢
hich is (0 be debited 1p &mﬁﬂwlh:mmdulmnfobsukmnu
(i) When there is 2 probi om sak of escr, &t thowld b transferred fo the coodit of Profit &
Lwﬂm-'ﬂmmemawummmmdmcapum.
Miustration 10.3 :

be Machinery Account e
Date Particulars Amoant | Date Particulars J Amount
Rs. ! Rs.
il e Ra. 140,000 . 16000
i 140,000 | Mar, 31 | By Deprecistion 10% ¢a Rs. |
wz%%iﬁ?ﬂww 20,000 Rﬂﬁmhmfnrﬁmlhj 4,000
Oct. 1 [To Cash (20d 80,000 By Balance ¢/d "
maching) Mar. 31 |(Rs. 1,44,000+ T6,000) Z wmmm
| 2,40,000 E:
mis 2014 ——
Apll 11> Balance d e s (Bs. 1600048000 for one year) | 24000
TN By Balasce o/d 196,000
2,20400 (Rs. 1,28,000+ 68,000) 2.20,000
- aeL 1 By Cash (5 < | oo
April 1 1To Balance hfﬁa 000) i By Depreciation on Rs. 1,60/ o
(Rs. 1,28,000 ¥ Mar.31 [for 6 months
Oct. 1 |To Cash (Mew Machine)| 200,000 On Rs. 80,000 @ 10% for 12
months £,000
On Rs. 200,000 @ 10% for 6
moaths 10,000
By P&L. Ade (Loss oa sake) 16,000
(1,28,000-1,04,000-8,000)
Balansce ofd
By (Rs. 60,000 + 1,50,000) 2,50,000
| — 396,000
"'---.J._ _awoml




Depeeciation 4 £ oy

2. Diminishing Balance Method : Under this method depreciation is provided on the Wi,
down value of the assets. The valus of the asset gocs on diminishing year afler year. The depregy:
charge also goes on declining every vear. For cxample 4 machine was purchased for Rs, 20,000 g
depreciation i 1o be charged at 10% per annum, The depreciation according to this method yy i
a5 under : (Rs.)

I year 10% on Rs. 20,000 = 2000

Il year 10% on Rs. 20,000 — 2,000 = 1,800
_ I year 10% ‘on Rs. 18,000 — 1800 = 1,620
ami:ommﬂu\ﬂwnrlkmnd-hlkdemc‘mim:lnmnnhg.ocannreduni‘m

after year, the method is also known 5 Reducing Instalment Method or Written Down Value Methoy
The rate of depreciation be ascertained with the help of following formula :

Where R = Rate of
ltarc(m-:--'“\"%

N = Uselul life in years,
§ = Scrap Value,
C = Cost of the Asser,
Merits : The main merits of the method are :

(i} Tuis casy to ealeulste depreciation.

() The total charge (deprecistion + repairs and renewals) remains almost uniform yexr
after year, since the charge of depreciation in initial years is more and the amatnt of
repairs and renewals is less; whereas in later years the amount of depreciation is ks
and the amoumt of repairs and rencwals shall be maore,

The efficicncy and usefulness is more in the earlier years than in the later years.
Heace, depreciation in carlier years be charged mose than during the later years. This
method ensures it '

(i)

(i)

(¥) This method of providing depreciation is permissible by the tax authorilics in Ind
also.

Demerits : The demerits of this method are as under :

() Iuis difficult 1o calculnte rate of depreciation,
tui'rj It dozs aot sake into consideration the inlcrest on capital invested for the asset.
(i)} It docs nog provide for the replacement of the asset on the expiry of its useful fife.

() It takes a very long time 10 write down an asset 1o jts break-up value, unless a ¥
high rate is ysed,
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pifference between Original Cost-Methng and

5 % 3 Diminishin Bal A H
The following are the main poingy o differences beymeen .L ,“l:':;ﬁ:ihm i

—
fasis of Difference Orlginal Cost Methog | Diminishing Batance Metbod
.'.--_-_ 5 . 0 e e ——
ampunt of fual depreciation is ehatged every | Dogreciation £oes on decreasing
Jpreciation Jear. year after year.

frm—=— |} T

pepreciation Charge Depreciation i charged oa the | Depreciation is charged on the

original cost of the ager, reducing balance of the asscr.

er level The book value of the asser can be |Tb:b-ool:-.:lu:qlthcnu:m
reduced io 210, never be reduced to zero.

Combined effect on | Combined burden “0a account of | Combined burdcn on account of

Profit & Loss Afe | depreciation and repairs will be | depreciation and repairs will be
lighter in carlier years and heavier | almost uniferm over different years.
during the later years.

Rale: of depreciation | Rate of depreciation is kept bow in | Rate of depreciation s kept high in
comparison to diminishing balance | comparisan 1o original cost method.
method.

Approval This methed it mot approved by Tax This method is approved by Tax
authorities authoritics.

i iminishing balasce metbod is more widely wsed This is <o because the
hﬁlzm&::l:nd gocs oa reducing according to the shrinkiag value of the asset.
[Mustration 10.4 ; _

cluring concern, for
manuf i whose books are closed on 315t March, purchased a Machinery
R '-O;J‘.ﬂtll un.l-d-mn Additional u:umrr's-qﬂrd f:s ?&mt; ;:;gl-‘;ﬂl;‘m u;’ ;:
Sckine purchased for Rs. 20,000 on 142011 was seld for 2013,
“achinery account for four years when deprecistion will be charged as follows :
(8) 109 per annum on straight line method.

R.U. B.B.A. 2003)
(b) 20% per annum on written down value method (RU
fon ;
Joint Machinery Account -
| Straight L,
Partisular | |
——_r
1| Mlachane 2000 200
B’ '"“ Aadar | ]:ﬁ 16000
Balsace & | Mach 16000
2 y n Machint 200 | g4000
L0000 | 160000
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Wiz 1 The wri "
Aprl 1| To Balance bid Mar. | By Depreciation Worklng Nobs ml&ﬂﬂMNhhudu"mm and the Boider are calculated as under
1 Marhing w000 | waoo | m | Machine 2o | ] —
ii Adachine 7000 | 64000 11 Machine 8O0 | gl | Farticulars Machi Boller
Oct. 1 | Te Bank (11} 0o | 30000 111 Machine (6 months) o | et | ] Machine
i By Dalince cid | Rs.
o AR | T
| 18 Machise S400 | g Origi as on 1-10-2010 | 100000 000
| 111 Machine 19,000 -——I'.-'-“;_ | Less » Depreciation for 6 months : i 1-“”
| 110000 | 100,000 11000 | g i
013 | To Balanee bid 2014 | By Deprediation Wrilten down value as on 1—4-301]
1 Machize | G000 12800 | Mae 31 | [ Machine 000 1 i 95,000 9500
- Machine 11 o0 | 51200 = 11 Machine 8000 ,g | Less - Depreciation for 12 months | 9.500 90
Machine 11 15000 | 18000 11 Machine 2000 | g —
B Bebass o WD.V. as on 1-4-2012 85.500 8.550
Lo b - Less : Depreciation for 12 months 8550 | 255
| = 111 Machine 17,000 ey b 1
| w000 | szo00 w9000 | anin WDV as on 1—4-2013 %950 | 7695
2014 | 4 & Less : Depreciation for 12 months 7695 ™
Apnl || Te Batance bid | Sept 1 | By Cash Sale of e
Mackize | 19000 | 1020 | ams Machine |
Machise 11 {56000 | 40960 | Mse31 | By Dep for 6 montta) m '?: WD.V. as on 1-4—2014 i 69255 6.925
Machizs 11 17000 1400 | Mar31 | By Profis & Loss Al (Loss) 3,000 & Less : Depreciation for 3 moaths on boiler - | 173
;‘r:':mumm - T84 | Mardl | By Deprecistion |
(Prefit on sale Mar3i|  Machine
Ot | e v - WD.V. of Boiler  * wov | e
Mar3) | By Baliace afd Less : Sale Price of Boiler 3000
Machine [ a0 | nwm -
e, Xl 13000 | . U3 Loss on Sale of Boilsr ; 3752
: 5o | g0 | em| L 000
IMustration 10.5 :

snother boiler was bought for Rs. 50,000,

Aceaun

yeas en&:::sfw L e iy
Solution :

March, 2015 and give working notes.

Is are closed on 3151 March cvery year 2
down value. Prepare Machinery Account for 1
Calculstions are 10 be made nearest to Rupes

Machinery Account _ &
Date Particulars Amoet
2014 s
July1 {By Bank (Sale) o
July 1By Profit & Loss Are (Loss) s
2015 | By Depreciation : On 6,925 for 3 months m
Mar. 31|  On 62,330 for one year 625
On 30000 for 9 months 370

Mar. 31 | By Balance ¢/ 1

1.1

41

Residual value of Machine cxcluding Boiler is Re. 69255 — 6923 = Rs. 62330,

(hange in the Method of Depreciation from Ensuing Date :

Snmujmﬂs changes the rate a8 well 23 the method of providing depreciation. For example,
B charged @Immwwm method but changes the method of charging
“precistion on written down value @ 155 per annum with effect from a particular year. Under such
4% depreciation be charged at the chasged rate by the changed method.
‘"m“ﬂlﬂ.ﬁ= ) 1 second hand Machine for Rs. 90,000 and

Miﬂlﬂdcnmmp! mlﬂhﬁu.mvﬁ n ._Ia:‘ 117 m.a AN &

5 = 1, 29 additional Machinery at a cost

mﬁ"“? spent Rs, 60,000 on its overhanding. Os October b

12, Machine purchased on Ist April 2009 became
Mu:ﬁm was purchased. On 1st agd:;lflf"“" Machinery was purchased for Rs. 18,000
Bepeess and was sold for Rs. 30,000. On March at 10% per annum on original cost of the Asser.
ﬁm"_:lm was provided annually on 315t the method of proiding depreciation and adopted the
Slhog 13-14, the company, however

AR be Machinery Accownt as it would appear in
e - OF Writing off 15 on diminishiog “""'Sh;;";:a :
books. of the company for,the years 2009-1010 &



Depreciation Accounting

Ay
Solution : Machinery Account in the Ledger of Sachin & Co:;,;‘h*\
Date ] Particulars Amount | Date Particulars -,:‘;
| Rs. ]
s,
008 | Rs. 2010 [
April 1 |To Bank (1) 90,000 Mar. 31 | By Depreciation Afe
To Cash + 1,50,000 (15,000 + 3,730) e
Ot 1 '|1‘¢ Bank (1) 75,000 By Balance co/d 23|
(Rs. 1,35,000 + 71,250 |
2010 225000 | 2011 mm]
April 1 |Ta Balance byd Mar. 31 | By Depreciation
Maching [ 1,35,000 15,000 +7,500 u_q'|
Machire 11 71250 | 206,250 By Balance o/d
120,000 + 63,750 L
2011 206250 | 2011 T
April 1 |To Balance bid Oct. 1 |By Bank (Sale)
Machine | 1,20,000 2012 |By Depreciation (1) !:;:
Machine Il 63,750 | 183,750 | Mar.31 By Profits Loss Afc (Loss)| &ram
Oct. 1 |To Bank (111 18,000 By Depreciation
i 7500
I 900 (6 months) | gan
By Balance c/d,
56,250 + 17,100 TN
iz 00,750 | 2013 20178
Apr. 1 | To Balanee bid Mar. 31 |B gicE
g y Depreciation 148
(Rs. 56250 + 17100) | 73350 (15% on Rs. 73,350)
- By Balance ¢/d 623
b 73350 | 2004 T
pi. 1 |To Balance bd 62347 | Mar. 31 |By Depreciation
(15% on Rs. 62347) 9%
- By Balance ¢/d | s
62,347 ]
Apr. 1 |To Balanee bid 52,095
Wustration 10.7 .
: A firm purchased i £
greation.In the same. ,t,,““m",’u”sfﬁé:gg; achinery for Rs. 70,000 and spent Rs. wm
30tk June, W14, the Machinesy pg - ional Machincry wys purchased for R &
same day another i w-ughlmmc on March, 2012 was sald for Rshdl}.l-ﬂl"'“:w,
year on 3st December @ 100, Per antum on (he L o2d: The firm charged dcpmﬁ“'“'ﬂ,i
changed the policy and dec; iation G 1y ethod, but from the year X
method. Prepare me Accounl from 2013 ln%l:;@ 15% per annum on diminishing
—_—
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golution
o Machinery Account Cr.
Date Particulars Amount | Date Particulars | Amount
Rs, Rs.
I — i
iz 2 |
Mar. 1 [To Bank (1) 0000 | Dec. 31 | By Depreciation 10% on Rs 6,000
To Bank (Expenses) 2,000 | 72,000 for 10 manths
Sepl. 1 |To Bank (I1) 60,000 10%% on 60,000 for 4 months 2,000
72 Meaey oy &L
1,32,000 (Rs. 66,000 = 55,000) L L32.000
013 M3 |By Depreciation 10% on Rs
Jan, 1 |To Balance b/id 1,24000 T2,000 = 7,200
(Rs. 66,000 + 58,000) June 30 |10% on Rs. 60,000 6,000 13,200
|To Balance o'd (S800+ 52,000) | 1,10,800
014 124000 | 20014 1,24.000
lan. 1 |To Balance hid 1,10,800 | Jusc 30 | By Bank (Sale) 0,000
(58,800 + 52,000) By Prefit & Loss Ajc {Loss) 14,390
Jume 30 | To Bank 80,000 | Dec. 31 | By Depreciation 15% on
58,800 for 6 months = 4,410
155 on 52000 = 7,800 |
155 on 0,000 for 6 months |
6,000 | 18210
By Balance ¢/d |
(44200 + 74.000) | 118200
19050 120300
2015 Rs. | 2018 i _
Jan. 1 |To Balance oid LIB200 | Dec. 31 |B Doprociation 15% on | 12,730
(44200 + 74,000) 115,200 |
Dex. 31 |By Balance o/d 1,00470
| (37570 + 62.900)
- | 118,200
1 | i
ke 118200
I"'llll'llhm. 104 :

i 0,000 on 15t April, 2002 and immediately spemt

iy, A firm !"-“chm an wld mﬁ;n?iﬁpwchwd another machine lor Rs. 1,00,000, The

W Mm'nu ki Tt Apel, 2012 w.!slsn?d for Rs. 280,000 on 1st October, 2004, On Ist October,

Bia iy purchased ﬁh:: machine for Rs. 20000, On lst O:TT :icms" I:’i:n“m;rsr-d @w?c»‘@
Rs. 20,000 prects

N::-hns.u!rundly ?F“::" ﬂ?;:‘&ﬂ IE':&F; 2013, the rate was changed to IS!:Ipu annum

‘:'ﬂ'lmmi:i;ll:‘i:::al;:c method was adopted. Prepare Machincry Account for 4 years w.e.l. Lst April,

iy, Caleulations should be nearest to Rupes-



Deprecation A 5
Dr. Machinery Account
Date Par
2012

Apeil 1 |To Bank Afc

2013
Oct. 1 [To Bank Ae (B)

Oct. 30 |To Bank AJc (i

6
ril 1 |To Balance b/d

April 1 |To Cash Afc (Exps.)

April 1 |To Balance b/d (A)

014

April 1 |To Balanee bid
(A) = Rs. 3,06,000
(B) =

2015
Apr. 1 |To Balanee bfd
B = 78,625
C= 23125

By Depreciation Ale
By Balance c/d

By Depreciation Afc

(On 1,00,000 for &
By Balance c/d

By Bank Afc (Sale of A)
By Depreciation Alc
(A : (on 3,06,000 for
6 months.
:rP*LMﬂw}w
y Depreciation Ajc (B)
(on Rs. 92,900 for
(on Rs. 2,50,000 for 6
By Balance ¢/d

By Bank Afe (B)
By Depreciation Ajc (B)
By P& L Afc (Loss) on ‘B’

By Depreciation A/c (C)
(on 2,31,250 for one year)
By Balance o/d C)

______‘--l‘g
__‘--""‘--E

Particulars Ampy
""‘E"‘—..

Ay

=

40045

(on Rs. 3,60,000 for one
year) = 54,000

months) = _T.500

(A) = Rs. 3,06,000
®=- 9

one year) Rs. 13,875
months (C) = Rs. 18,750

B = 78625
¢ = 23125

(on 78,625 for 6 months)

If depreciation is underchaged | Profi & Loss A =
To Asset Are

(For adjutment of deprecintion wndercharged)

|f depreciation is overchaged | Asser Aje e
To Profit & Loss Al

{For adj of depreciation overcharged)

Nustration 10.9

Mohan Bros commenced Business from April I, 2011, when bought machinery for Rs.
40,000, They adopted the policy of charging depreciation @ 15% ptfwunum oa wrillen d::A.n walue
aethod and charging full year's depreciation on additions. Over the years their purchases or machines
e been as under :- 2

On November 1, 2002 Rs. 3,00,000 a0d on December 31, 2015 for Rs. 3,00,000,

On April 1, 2015 it was decided 1o change the method and rate of depreciation o 109 on
draight linc or original cost basis with retrospective effect from April 1, 2011, the adjustment being
=dc in Accounts in the beginning of 2015-16. Cakculate the diffesence in the amount of deprecistion
b adjusted in the Machinery Account 1o be closed on March 31, 2016, Show Machinery Account
ke 201516 yeur,

Salution : Caleulation of Depreciation by written down value Method
| o
Particulars Maching Machine
Mo, 1 (Ks.) | No. 2 (Rs.)
Uchase on Machinery Mo, 1 (1-4-2011) 144‘ tuwm . =
Less : Depreciation for 201112 @ 15% per ansum ol -
WDV as on 31-3.2002 11.90,000
Feichase of Ney Machi -11-2012] 300,000
inery (1-11-2012) | a
L : Depreciation for 2012-13 @ 15% WOV 1,75,500 | 14.;»::
WDV, as on 313.2013 s s
615 : Depregiation for 3013-14 @ 15% on WD:V. | LSLTS | 38250

WDV as on 31-3-2014 850775 | 21675

as an 8 e | i

pamy Depeeciation for 2014-15 @ 15% per annem Ir__ ;_.s. ,:ii‘,}_

'---l“._"-ia! on 31:3:2018 T T M* |
i b‘l"‘ﬁm already cbﬂgﬂd upli

o + 513 = R TBISL 12 10 201415, 4 years on Machine No |

Deprecini method @ 10% pa = ine No. 2 (30,000 x 3 = Rs, 90,000)
. 130,000 x'-im_hufws.ﬁﬂ.w} + for 3 years on Mackine No. 2 (
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Depreciation Accounting
L]
Thus, depreciation already charged = ﬁ
Depreciation to be charged under ¢hanged method (Rs. 560,000 + 90,000) = - |
Thus, Machinery Ajc will be debited and P&L Ajc be eredited with ] w’ﬁ:.
Dr. Machinery Account P
Date Particulars JE [ Amount | Date Particulars _
: - Yy
2015 2016 \{
Apr. 1 |To Balance bvd Mar. 31 | By Depreciation Ale
(Rs. 730809 + I Rs. 1,40,000 ;
1,84,23T) 9,15,046 Il Rs. 30,000
Apr. 1 |To PEL Alc 1l Rs. EATTT
(Difference) 134,954 By Balance c/d 12,8000
Dex. 31| To Bank Asc 4,00,000
2016 1 145000
Apr. 1 |To Balance bid 12,40,000

Mustration 10,10 :
A Joint Stock Company, which

depreciates its Machiery at 10% per annum on diminiskiy

balance method, had on 151 April, 2014, Rs. Q,Wmuedebitsidnofhduhinuyhmrh‘q
the year 2014-15 part of machinery puschased on 151 April, 2012 for Rs. 80,000 was sold for Rs. 4500
and on 15t October, 2014 and a new machinery at a cost of Rs, 1,50,000 was purchased and insisle!

on the same date, instalation charges being Rs. 8,000.

On 1st April, 2014, the company wanted to change the method of providing depreciation fre

diminishing balance method to straight

line method with effeet from 1st April, 2012 and adjust &

difference before 31st March, 2015. The rate of deprecialion remains the same as before, Show e
Machinery Account and ascertain the amount chargeable to Profit & Loss account as .

during 2014-15. [R.U. BCA, 204
Solution :

Before we prepare Machinery Account for the year 201415, the following amount is 1o
asceriained :

1. Additional Depreciation for change of Methad
On 142014 WD.V. of Machine

On 142013 WDV, of Machine = 31’:%@ =

On 142012 WD.V. of Machine = Eﬂ%f@ =
Less : WDV a5 on 142014

Total depreciation provided according 1o old method

Depreciation under original cost method (120,000 +1,20,000)
Additional Depreciation 1o be charged on 31.3.2014

.

1008
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2, Loss on Sale of Machine :
Cost of Machine as on 14202 R:n
. w Ei) ]
i 1 3 4
Less Dﬁmﬂ‘ll ion (new mhﬁdfuzimm[m + BO00 + 4000) (20,000)
Sale 7 . 60,000
Less : proceeds of this macking 5,000
Loss on sale of Machine 15,000
L Dipﬂ:ﬁl'llw on old Machine for the year 201415
Rs. 12,0000 - 80,000 = Rs. 11,2000 10 1,12,000
Machinery Account
Date Particulars Ampunt | Date Particulars Amount
Rs. Rs.
014 4
April 1 1To Balance bid S72,000 | Oct. | |By Bank 45,000
Oct. 1 [To Bank Rs. 1,50,000 Oct. 1 |By Profit Loss Afc 15.000
To Cash _8000 | 138000 (Laoss on sale) |
By Depreciation (@ 105
08 jon Rs. 80,000 (6 moaths) 4,000
Mar. 31 |By Additional Dep. (Due
0 changes of method) 12,000
Mar, 31 | By Depreciation
10% on Rs, 11.20,000
105 on Rs. 158,000 112,000
for & months 7000
Mar. 31 |By Balance o'd _v_ii,lgj
Wis | 11,30,000 - 1E30.000 )
April 1 |To Balance bid 34100

Second Meth Accoun preciation : (i) In this case. deprecistion is credited to
i = st gt 5 i,iiilim Adc always appear in the Ledger m

Provision for Depreciation Afc in place of Asset Afc. (i) / T Heecion aje .
s origi 5 o avision preciation Afc or Accumulated
?tm:l-w' COR R e e S "ﬁ}ﬂ&m el b it (%) When the asset
[ lm'-‘ Afc shows that lola amount of accumulated depreciation for that assets is transferred
hﬁ;didmcﬁidu, the wz:a:m wransfer of sale proceeds to the credit side of Asset Ale. =
il of :IH:!E the balance in Provision Ale shows accumulated depreciation
Alter transfer of this amound,
hose: Assets which are in service. 4
Wustration 10,11 ; ——
1, 2011 for Rs. 800,000 and immediately
e et R i g o
™ Rs. 1,60,000 for its over iation is provided @ per &
E“;“,',’Lf""‘“"“‘“‘”‘“ R’“:ﬂ]“f'mmh c_,,ai,:;, Show necessary Ledger Accounts
: L
T S e
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—_.______-‘E!
Solution :
Dr. Plant Account
&
( nm-J Particulars JE| Amount | Date Parficulars IE]
Rs.
Rs,
2011 2012 [
Apr. 1 |To Bank Aje £00,000 | Mar. 31 |By Balance o/d 0005
Apr. 1 |To Cash (Expenses) 4 !
(Rs. 1,560,000 + 40,000) 00,000
2012 1000000 | 2013 e
Apr._l To Balance b/d 10,00,000 | Mar. 31 |By Balance cfd 10,0000
2013 2004
Apr. 1 |To Balanee bid 10,00,000 | Mar. 31 |By Balance ¢d 1,000
2004 2m4
Apr. 1 |To Balance b/d 10,00,000 | Oct. 1 |By Bank A/c (Sale) 4,000
Oct. 1 |By Provision for Dep. Aje 35000
Oct. 1 |By Profit & Loss Afc 2,50000
10,00,000 10,00,000
Dr. Provision for Depreciation Account [+
Date [ Particulars JE| Amount | Date . Particulars JF | Amoss
Rs. Rs.
2012 202
Mar. 1 |To Balance c/d 1,00,000 | Mar. 31| By Depreciation 1,0000
013 2012
Mar.31 | To Balance cid 200,000 | Apr. 1 | By Balance bid 1,00000
m3
Mar. 31| By Depreciation 100000
2,00,000 | 20000
2014 2013
Mar. 31 [To Balance ¢/d 3,00,000 | Apr. 1 |By Balance bid 20008
Nov. 31 |By Depreciation | L
300,000 | | 30
014
0014
Ocl. 1 |To Plant Afe 350000 | Apr. 1 By Balance bid 1@;@
Oct. 1 | By Depreciation ___Z'L"E
3,50,000 35088
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jilustration 10.12
April 1, 2011 XYZ rchased .
.;]dl;il'.:;d machinery pu o M'}' for Rs. 500,000 and oa Octaber 1, in the same
yeal Vs bought. On 19 October, 2012 the machinery

Rs,
pudﬂd":‘ "‘MAP'&WM[::GMM aad sold for Rs. 265000 On 15t July, 2013, new machinery
b ¢ 0n the same date machincry purchased an Getober 1, 2011 was skd

You are required 10 Prepare Mackinery Accoust and Provisicn for Depreciation Account for
3 Accounting years ending 31st March, 2014,

Solution :
pr Machinery Account Cr.
A .
Date Particulars JE| Amount | Date Particulars 1F. | Amount
Rs. Rs.
n w2
Apr. 1 [To Bank Aje (A) 500,000 | Mar. 31 | By Balance o/d T 0,000
Oct. 1 |To Bank A/c (B) 500,000
7.00,000 | | 700000
w2 W12 |
Apr, 1 |To Balance bid 7,000,000 (;I]-; By Bank Alc 265,000
Mar. 31| By Provision for
eciation Alc T5000
By P&L Ae (Loss) 160,000
By Balance od 2,00,000
| 700,000
7,00,000 |
W3 |
EP?I To Balance b/d 20008 | beby1 15 o M:fu R
e Privison for | |
July 1 |To Bank Afe 200 o Depreciation Afc | |
July 1 |To P&L A 500 (Rs. 10,000 + 20,000 |
(Profit on Sale) " + 5.000) | 35,000
X0
Mar, 31| By Balance </d | 8.00,000
e 10,085,000
10,05,000 1



Depreciation Accounting

Iy
Dr. Provision for Depreciation Account T o
r ~ r — G
Date Particulars JE| Amount | Date Particulars LE, ";mm
| J Rs. BN Ry,
Wz | ' 2012 W
Mar.31 | By Balance ¢/d 60,000 | Mar, 31| By Depreciation
[ (| (Rs. 50,000 + 10,000)
W12 | 2012
Oct. 1 | To Machinery Ase 75,000 | Apr. 1 |By Balance bid
3 | Oct. 1 |By Depreciation Akc (4)
Mar 31 .|Tu Balance oid 3,00000 | 2013

013 | 2013

35,000

pl Fundamentals of Business Acc
1013
, 2012 - ;
On Is1 April Amar Chand Purchased five machines for Rs. 60,000 cach Depreciation at

e ate of mmnl:n initial cout has hegy charged from p g1, Ade and credited to Provision for
[ ke .
ﬂnr;ﬂﬂamj:nui mﬂl*mﬂm“- 0,000 and on 15t April, 2004 a sccond machine
i ot ; mode] whi Rs, based on 15t October,
;;“H Chand closes his book 'W'l!lllﬂlmhm 5. 100,000 was. purchased on Ist

P » - cach year. You ac required 1o show
() Machinery Account; (i) Machinery Disposal Account; (i) Provision for Depreciation

July 1 {To Machinery Afe
2014
Mar31 |To Balance e/d

Apr. 1 |By Balance byd
Jnl{! By Depreciation Afe
2014

Mar. 31| By Depreciation Ale

25,000

— 500

6000

25,00

| Mar.31 lyDeptdﬁnnM(B} —-—EE'_
. L0500 |
30,000

5000

95,000

1L Method
When Disposal Account is maintained along with Pravision fo Depreciation Account,
Snmrtinmﬂh:nanmkmhu:," i
translerred to Asset Disposal Account and following entries are made
(1) Asset not in use (Cost Price af asset) ;
Asset Disposal Aje

D,
— ToAsset Afc
(i) By Total amount of depreciation charged :
Provision for Depreciation Afe D-"-
To Asset Disposal Afe
{ili} By Sale price of assel @
Bank Afc Dr.
To Asset Disposal Ajc
{iv} Loss on sale of asget :
Profit & Loss Are Dr.
To Asset Disposal Aje
1¥) Profit on sale of asnel
Asset Disposal Afe Dr. .

To Profit & Los Afe

Mote : Asset Disposal Account should be opencd only when it is specifically asked. Qtheris
normal procedure as discussed carlier shoyld be followed, i

46

i I “I‘. -
'3 Machinery Account Cr.
7"’_“ Particulars JE| Amount | Dage Particulars JF. Amount
Rs. Rs.
w012 | 213
Ape. 1 [To Bank Ale | 300,000 | Mas. 31 | By Balance c/d 3,00.000
w3 2013 )
Apr. 1 |To Balance byd 300,000 .qgl 1|By Mlﬂsfmy - 0,000
; Bank Ajc 1,00,000 4 isposal Avc
Ll Mar, 31| By Balance o/d 340,000
00,000
4,00,000 | e
A e By Machine
Apr. 1 ry
Apr. 1{To Balance bid 340,000 ;Irlﬁ ¥ i | o
Mar. 31| By Balanee &/d | | 220000 |
015 340,000 | 340,000
Apr. 1 |To Balance bid 250,000 . ==
Dr. Machinery Disposal Account :
P ] | Particulars JE Amount
Date Parficulars | JE Mx“ . i i
] Wiz | :
12 . 1 | By Provision [or
Apr 1| To Machinery Ade €000 | Ape. 1 By Depreciation Alc o.ﬁ
| Ape1 | By Bank Arc | 50,
| 3 | L ki s 4000
& L. A et
_ﬂ; Mar31 iBT -
|
g
i B oy [Br Prosion fo || e
* Deprecialion Afc |
":;llql & Skl 02 2000 | Apr. 1 In}' Bank Afc E 50,000
Ma3 o & L. Ave (Prof)| | = =
—— e
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)

Dr. Provision for Depreciation Account
Date Particulars JE| Amount | Date Particulars IR -;‘\.\
Rs. |
Rs,
012 02 Hi
Mar31 | To Balance o/d Mar. 31|By P & L. Afe
30,000 (Depreciation) Wy
o2 | 2012 B
Apr. 1 |To Machinery Apr. 1 |By Balance bid
Disposal Ale 6000 | 201 e
M‘."Dlil ki B:;‘.‘amirr) Mar. 31 |By P & L. Ajc
ar.. cfd
0 Balance 53,000 (Rs. 24000 + Rs. 5,000) 20
. 00 S
013 | 013
Apr. 01| To Machinery il 1 Balance bfd
Disposal Afc 12,000 A;Ir:i B!' .
2004 |(transfer) Mar31 B &L
Mar31 |To Balance c/d 69,000 [BIL, lsu]]:];}: 10,000)
81,000 81,000
2004
{ Apr. |Balance bid R0

. & Annuity Method : This method considers that the business, loses interest amoun invesel
besides losing the original cost of the asset also, since the amount wsed for bu,i::hnnm whick
-awld}m-:urundinmthcnmanwn:muhuubeenwnmmﬁrﬂ‘
Tavestment. As such (purchase price) the Asset account is debited with the amount of intered
which is ultimately credited 10 Profit and Loss Account and is credited with amount of deprecie
which remains fixed year. After year the annual amount of depreciation is determined with the hdp
of annuity table. The amount of total depreciation is determined by adding the cost of the asst ie
Purchase price and interest thereon st an expected rate. The Journal entries are as under :

(a) Asser Afc Dr.

To Bank Afc
(For perchase of assel)

(Purchase price)

(b) Asser Ale
To Interest Afc
(For charging interest 1o assel)
(c) Depreciation Afc
To Asset Afe
(For depreciation charged on asset)

Dr.  (Amount of Interest)

Dr. (Fixed amount as st
from the Annuily Tabk]
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Apprisn - ) Ths b ks s .
 most. scientific s it considers the amoyny of g oo 07 Capital invested in the asset, (i) I
lation work makes it cumbersome, Gl md:frmumn I'fum Annuity table. (i) Too much
calculatiqns have o be revised quite ofien wh the asset requires frequent additions or cdcnsions
araight line method, it also has tende d-m to overburdening the caleulation work, (v) Like
e of depreciation and repairs oat nCY 1o inequalise (he charge 1o profit and loss :ccount in
the life of the asset. together because the amount of depreciation reriains fived
: This methad i -
mﬁluf::uutnl aduditiuus 5 1S much J“"'-“ﬂ_ll:a those assets which require considerable investment
-dm:j\le! made quite ofien e nol made. ILis not suited for plant and machinery where additions
e ;
4. Sinking Fund Method : Under this method this fund s created so i (
# B 25 to make provision of
:;il:"ﬁ‘d I";"::H': 1?12'[:: f:;' d:;‘tf: lhh;l:rpm of replacement of the Asset at the end
usefu ng method in brief is as follows :
() A Sinking Fund Depreciation Fund is established for the purpose which is also called
accumulating sufficicnt funds 10 replace the asset at the end of its useful life.
An amount cqual to the annuzl depreciation of the asset is charged against the profits
every year and accemulated in the form of Depreciation Fund.
An equivalent amount of cash (or in the mulliples of a specific denomination say Rs. 10
or Rs. 100 if 50 required) is withdrawn from the business and is invested in the outside
securities which are readily convertible into cash.
() Al the time of replacement of the asset, the investments made are realised and the
available money 18 used in replacing the assel concerned.
The Journal entries under this method are as under -
Al the end of first year :
(1) For setting aside the amount of depreciation (o be found out from Sinking Fund tables)
Depreciation Alc - e DI
To Depreciation Fund or Sinking Fund Alc
{2) For transfer of Depreciation to Profit and Loss Alc
Profit and Loss Al e DI
(3) For investing the amount outside the busincss :
Sinking Fund lavestment Ale
To Bank Alc
Al the end of second and subscquent years :
(1) For receiving interest on investments : e
Bank Afc
To Sinking Fund A&
{2) For seuting aside the depreciation amouit . Dr.
Depreciation Afe preciation Fund Ale
o Sinking Fusd o D: H interest received
() For investing the smount of deprecistion s
Sinking Fund Investment A€
To Bank

(i)
(iii)

D,



Depreciation A 2
{4) For transfer of Depreciation to Profit and Loss Ale
Profit and Lot AJe
To Depreciation Ale
At the end of Last year : The amount of interest and annual instalment not to be invesied
the maney will be required to purchase new asset. However, all investments will be sold augy,
(1) For sale of Investments (Actual amount realised)
Bank Afc w Dr.
To Sinking Fund Invesiment Ajc
(2) For transfer of Profit on sale of Invesimeats (if credit side more)

_________‘L.;&

w D

Sinking Fusd Investment Adc - D1,
To Sinking Fund Afc
or (3) For transfer of loss on sale of Investments (if debit side more)
Sinking Fund Ajec .. Dr,

To Sinking Fund Investment Alc
(4) The old asset is sold out and whatever is realised in credited to Assel Afe
Bank Afe - Dr.
To Assel Ale
(5) Balance of Sinking Fund or Depreciation Fund Afc is transferred to Asset Accouni asd
any balance lelt in the Assel account (old) is ransferred to Profit and Loss accoant ;
(6) For transfer of Loss in Asset Account
Profit & Loss Afe
To Asset Afe
or
(7) For transfer of Profil on Assel Account
Assgl Afc - Dr.
To Profit & Loss Adc :
(8) For purchasing the new asset :
(New) Assel Account . Dr.
. - mTo Bank Ajc
ppraisal : (i) The asset is shown in the Balance § its origi hroughout its Bt
. The amount of depreciation accumulated is shown unlh:r;ie:;iﬁ:-iu s?d?::nlifr}u: tm-l:inu'oﬂ F:d’
Sinking Fund, F
(i3) Under this method, due pravision is made for replacement of assel al the cnd of its workis

fife. This is besi i i iati i
b nl:b:r n:;;ur::cm pravision for depreciation on the assel every year, This featore is &

= Dr,

Sllhwll;:nkmodisumuglmm i
2k o, t and Mach
requiring replacemeal which involve very large amount,

& Insurance Policy Method : Under 1h
. U s method the business takes o Policy from an Insus
pany. The amount of the policy is such that it is sufficient 1o ij:::nhc &mm iis

ery and also for many Wasting A
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discarded. The amoun
o OF 'rh:dm;.raum gocs :::‘:::h.iﬂrl 1 the amaunt of depreciation is paid by way of premium
Y yoar: back 1o the Insured a1 the | ting with the insurance company at 4 cerain fate of interest
wd B paic nce Company is wsed fo me of maturiy of the Policy. The amount so made available
H'_h 'm?nd method: of cou g w'\dh“".ﬂ A new asscl. This method 1o & preat extent i similar
o $in f“u boog sccuils 76, procedure B a little different. Cash, in this method, instead of
poieg veed G securilics, 1s used for paying premium on the Policy
Thismﬁthold um&m by the business houses
6. Revalualien od : This method, also called “Appraisal System® is adopted only where
he Asset in represented by a large number of small and b Bl LL tools
. In such case, il is not P"““ﬂ to depreciate cach itce scparalely. As such under this method
(a) A IIPlGN-d of financial year fﬁm“"? vear) all the wemas, which are in good and usable
condition are valued at cost. )
(b) The cost under (a) above is compared with the opening balance. The dilference, if any, is
charged as depreciation.
(c) Whenever, additional assets are purchased, the amount is debited to Assels Account as

Note : Please note that under this method the total amount depreciation charge & written off
i the Assel account itself and not to an accumulated depreciation account.

7. Depletion Method of Depreciation of Natural Resources : Natural resources include physical
wsets like mineral deposits, oil and gas resources, and timber stands. These natural resources gt
adausted by exploitation. In some cases the reduction in physical deposits is offset by growth
(accretion) of development of additional depasits. The cost of the natural resources is the price paid
for its Acquisition plus Price pald for Development of such Assct in order 1o bring it to a state suitable
for production. The periodic ion is better "ot calculated in terms of vear. Rather 4 & belter
1o calculate the cost per unil and then multiply the cost of units produced in that particular year
Depletion for cach unil exiracied is determined as follows ©

i ; Acquisitioa Cost (C) = Residual Value(s)
Depletion per unit (U) = Edimated life in terms of production units (N)
8 Minchine Hour Rate Method : In this metbod, the life of a maching i estimated in hours
=stead of years. Proper records are maintained for renning hours of the Machine and depreciation

& omputed ingly. For example the cost of 3 Machiae is Rs. 10,00,000 and life of the machine
B estimated at 50,000 hours, The hourly depreciation will be caleulated as -

Cost of Machine _ Rs. 1000000 - p 59 e poyr

Machine Hours 50,000

If the machine runs for say, 2,000 hours in particular year depreciation for the period will

Mhounxmm-m.lﬂ.ﬂm. of st i
aching hour rate means the cost of ruaning 3 Macy

. Salculating depreciation where costly and diffcrent machines

for an hour. This is an ideal method
are wsed in production

Yy shorg Questions and Answers : (Not evceeding 40 wardi)

t What ks meant by Depreciation ?
Depreciation is  gradual or permanent b
1 Wear and tear and effluxion or passage OF 3¢

decrease in the quality, quantity of value of Asset due



Q2 Enumerate four main causes of depreciation,
Ans, : The causes of depreciation are
(i) Wear and 1car because of constant use.
(i} EMuction or passage of time, for patents, leaschold ete,
(iii) Obsolescence due 1o new inventions and new technology.
(i) Fall in market price of assets,
What is the need for providing depreciation 7
-+ Objectives are
(i) To ascertion true and eorrect results of eperalion
(i) To present true and fair view of the financial position of business enlerprise,
(i) To ascertain the true cost of production of articles manufactured,
(i) To comply with legal requirements
State the main [actors for determining the amount of Depreciation,
- 2 Factors for determining the amount of depreciation :
(i) Cost of the Asset including expenses incurred 1o bring the assel in usable condition
(i) Estimated useful life of the Asset
(iii) Estimated Residual or scrap value of the Assel
() Existence of Legal Laws.
What are the methods of accounting for depr 1
: Methods of Accounting for Depreciation are
(i) When provision for depreciation Alc is not mainlained
(i) When provision for depreciation Alc is mainlained

Fundamentals of Business Accownting

Wit

Under this method informar; i
e amount of depreciation M:nlliﬁd;mi:i‘ll TR e
Give the formula for caleulating annyy amount of i i
o . The formula to calculate Annyal Depreciation is depreciation under straight line method. .
e Cout of Asset - By £
—— Gillos = | imated Serap Value
Deprec Eammlilud’lhm\-mt;in Years

State two demerits of original cost method,

Ans-

for the assel. i
(i) lln'll"I"“"-l': d'."te" Bo on Wﬂ! after year as the assel become older bu coqual
deprediation is charged under this method, as such total burden chazged will not be equal

every year.
(41, What do you understand by Diminishing balance method of providing depreciation.
ans. : Under this methed, dopreciation is provided on the written down valse of the secer. The value
of the asset goes on dmm year after year and the amount of depreciation akio goes on
declining every year.
Q. State two main merits of written down value method of providing Depreciation,
Ass, ; Merits @
(i) This method of providing depreciation is permissible by the tax authoritics in India
(i) Total dlw as regards depeecistion and Repairs and senewals abo remain almast wraform
year after year since depredation in initial years is more and the amount spent on repairs i
less and in later yoars depreciation is less but the amount of repairs and renewals is more
(3. Narrate at least fwo demerils of writien down value meihod of providing depreciation.

(iii) When Asset Disposal Account is o in addition 1 isi preciath
5 i apnt o i m'h o provision for de bof AN
-+ Methods of providing Depreciation
(i) Fixed Instalment or ofiginal cost method
(i) Diminishing balance or wrilten down value method
?nji A:nm'l?- method
v, Lo
o mm n:::dw Insurance policy method.

Q7.

s annual depreciation remain equal or uniform o
as such th . = o O e o
line methog - 1 0 called as equal instalment method or graphicall i i callcd 1
State four merjts of original

i Merits 7

(i) This method is simple to understand
{EF}] mfmw 1o caleulate depreciation
b ;
value, od, the book value of the asset can be reduced to zero or equal tois 7%

cusl method of providing Deprecintion,

FE

Ans.  Demerits :
(i) This method does not take into consideration the iaterest on the amount invested for the
Asse

(@) I is &Iﬁnﬂt to calculate the rate of depreciation and takes a bong time to write down an
assel 1o ils break up value unless a very high rate is wsed.
Q4. State two points of difference between original cost method and diminishing balance method
of providing depreciation.

Ans, ; meihod and writlen down value method.
I:TEP:::I;:MI :‘l?:gl::gndl every :::r under original cost mathod, whercas the amount
of d Pﬂ!ﬂt = leclining year after year, under writlen down value method
{ii) Book val .,mfo:.w i reduced to zero under straight line method, whereas it can never
be zera :r:i:r WDV method cven if the rate of depreciation i quite high,
Shory Questions und Answers @ (Not exceeding t:::ds}
Stable briefly the necessity of providing B!F:'B s
M4, : Need o Necessity of providing Wﬂmﬂ‘:’ m atching of cost with revenue: properly.
Jl? .;; :wortllu-:::ﬁm'; :‘mn:: of the finincial pmi:'i:l“ﬁh enterprise.
resenl
(i) To find out the actual and truc cost for the oulpuL P
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Ry
{iv) To comply with legal requirements in casc of companics. o
{v) T ac late funds for repl of assets by setting aside a portion of profi ;
form of depreciation. &
(vi) For avoiding over payment of Income tax.
{vii) To prevent distribution of Profit out of capital,
Narrate the main factors determining Depreciation 7
‘The basic faclors determining the amount of depreciation are as follows :
(i) Cost of the fixed asset after adding all expenses incurred for bringing the asseq i
condition, H -
(ii) Estimated useful life of the asset in terms of number of years.
(i) Estimated residual or scrap value of the Assets at the end of its wseful lifs.
(iv) Possibility of new Inventions and improved technology.
{v) Pasition for repairs and rencwals properly.
(v} Interest on capital to be invested in the construction of fixed asser.
(vii) Capital expenditure to be incurred in connection with the expansion of asset,
(viii) When there are some legal laws in existence for providing depreciation, the same o be
followed.
Differentiate between Depreciation, Depletion and Amertization.
Depreciation, Depletion and Amortization

The term depreciation is to be distinguished from other terms such as depletion ad

£

amoriization although, these terms are used interchangeably. Depletion means reduction
value of fixed assel on account of exhaustion such as extracting coal from a coal mine, ol o
of an oil-well, wood from a forest ete.

Amortization is used for wriling off intangible assels like goodwill, copyrights, leasehoids
patents cle. which have a limited useful life. These terms can be distinguished as follows :
Depreciation is concerned with charging the cost of man-made fived asscts o opcraios
Depletion refers 1o cost allocation for natural resources, such as oil and mineral depodd
Amortization relates to cost allecation for intangible assets such as patents and leaschods
What is meant by fixed installment method of providing depreciation and give the forss?
for ascertaining rate of depreciation,

: Fixed Instalment Method : This method is also called as original cost method o <

instalment method or straight line method. Under this method depreciation is changed #°
fixed percentage on the original cost of the asset, Thus the amount of depreciation rem®
equal from year 1o year, as such this method is called cqual instalment or straight line
instalment method. The amount of yearly depreciation is calculated by the following fo

Annual Depreciation = 2riinal Cost of Assel — Estimated Scrap Value
Estimated Life of Asset

For example, if the purchase price of asset is Rs. 90,000, Rs. 2,000 is incurrcd for w"""d
Rs. 8,000 are the installation charges of the assel, cstimated scrap value is likely '@ b

15,000 at the end of 10 years, being the lifc of & asset, the intion (0
off will be as follows : o e
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Rs. + +

—EQLM—_@@
10 Years = Bl 8,500 every year

Rate of depreciation is caleulated with the help of the follorwing,

Formula Rate of Depreciation = Amoint of Diepreciation
Origiml Cost = 100

What is meant by written Dovwn valye method of didi i
s e ot providing depreciation, How is the rate of

.: Diminishing Balance Method : Under this method depreciation is provided on the written
down value of the assets. The value of the ssset goes on diminishing year after vear. The
depreciation charge also goes on declining ¢very year. For example a machine was purchases
for Rs. 20,000 and depreciation is to be charged a1 10% per annum. The depreciation according
1o this method will be as under :

I year 10% on Rs. 120000 = Rs. 12000
Il year 10% on Rs. 120,000 — 12800 = Rs. 10,800

&

101 year 10% on Rs. L8000 ~ 10800 = Rs. 9720
124 50 on. As the value of the asset and ako the depreciation charges on it goes on feducing year
dier year, the method is also known as Reducing Instalment Method or Wiitlen Down Value Method
The rate of depreciation be ascertzined with the kelp of lollowing formula :
% Where B = Rate of Deprecution,
N = Usclul life in years,
Rate (R) = 1 - “\'/% § = Scrap Value,
C = Coit of the Assel.
(6: Differentiate between original cost method and written down method.
Ans. : Difference between Original Cost-Method and Diminishing Balance Method :
The following are the main points of diferences between the two methods -

Basis of Difference Original Cost Method Diminishing Balance Method
=apiam every | Depreciation goes on decreasing
e Equl HEpREAS i year after year.
o year.
Depreei sation is charged Depreciation is charged on the
o mm;’;:; the mm o mi:lcin,; balance of the asset.
origin .
‘--_-________-_.”_-_____-—-
be | The book value of the assct can
P lew mhurva]ueol'lk o | never be reduced to zero,
dwedlo 0 _____—
hh_h‘_-_cmm w1 acoousl of Combined burden on account of
ned effect on | Combined burden “on depreciation and repairs will be

C irs will be
reciation and repaifs Wi8
:!#P er in carlier years and heavier

during the later yeIP>-

t & Loss Ale almost equal dilferenl years.

.“-‘-'-___.__-
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Rate of depreciation is kept low in
comparisen to diminishing balance
method.

—__________“u;ﬂ
Rate of depreciation :l;;m
bod

comparison 1o original cos mel

Rate of depreciation

This method is not approved by Tax
authorities

Approval This method is approved by Tax

authorities. r
—_—
In practice, the diminishing balance method is more widely used. This is so becauge p,
depreciation in this method goes on reducing according to the shrinking value of the asser,
Q7. What are the merits of written down value method 7 Given its suitability.
Ans, : Advantages or Merits of WDV, Method
The main merits of the method are :
(i) Itis casy to calculate depreciation.

(ii) The total charge (depreciation + repairs and rencwals) remains almost uniform year gy
year, since the charge of depreciation in initial years is more and the amount of repain
and renewals is less; whereas in later years the amount of depreciation is less and the
amount of repairs and renewals shall be more.

{iii) The cfficiency and usefulness is more in the carlicr years than in the later years. Heace,

depreciation in carlier years be charged more than during the later years. This methol
ensures il.

(iv) Under this method the asset is never reduced 10 2cr0, so thal some depreciation, however
small is debited 10 Profil & Loss Account so long as asset is in use.
(¥) This method of providing depreciation is permissible by the tax authorities in India alo
Suitability : This method is suitable for those assets in relation 1o which the amount of repss
and rencwals goes on increasing as the asset grows older and the possibilities of obsolescence 2
more. This method is suitable for Plant, Machineries and Building etc.
Essay Type or Long Answers Questions :
(Sce page nps. 10.1 and 103)
Enumerate the various methods for calculating depreciation and mention the circumstanes
under which each method can be used advantageously. (R.UL BCA, 2001
(Sec page mps. 10.6, 10.9, 10.23, 10.24) i
02 Explain the causes for providing Depreciation and discuss the factors for determis®
depreciation on fixed assets,
(Sce page nps. 10.1 and 10.2)
Q3. Definc depreciation and distinguish the same from depletion amortization and obsolesce™®
(Sec page nps. 10.1 and 10.3)
Numericals : -
Ql.  Bhanu Pratap a trader purchased a Machine for Rs. 560,000 h September, 2010
estimated life is 10 years and scrap value is Rs, 60,000, [iprecial?ul:uimchu:;ﬂi on slr wh:
method. Prepare Machine Account for first four years. Books are closed on 31st March ‘“"E{'m
[Ans. Balance at the end of 2014-15 Rs. 383

or Rs.50,000

QL

Ans. : Annual deprecation= R&S&D,Dlﬂg-ﬂﬂ,lm
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Depas for 2011-12 = Rs, ?-5‘.“]]_ xﬂl.u S 5] Blsiness Accenenti

= Rs. 50,000. Total depreciation Rs. 5000, 2013.14 = Ry, sp000 and for 2014-15
ikt harged and Balanc i, Rs. 175,000 and Rs, 385,000,
rchased Ma
el ﬁf:rg residual nlm:im %:DF" DU for Rs. 108,000 and its estimated e is 10
Kr"as 65,000, 1ts estimated fife is 10 yoyr. " 254 2nother machine on 1st January, 2013
4 * W years and residya) value Rs. 5,000, depreciation is charged

instalment f 7
;‘i;mafdlgl:m ey, Machinery Accoun for the year ended 31 March, 2012,

[Ans. Depreciation Rs. 5000 (2001-12), Rs, 11,500 (2012-13) and Rs. 16,000 013-14))]

Hint : Annual depreciation 1. Machine : = i‘:’#&“‘%—_w_ﬂam i e

lLMnuhh:-R—"_"j.n’%;_‘L@klm

Bm A [ was rchuedmmhrrﬂ,mmﬁwks-ﬂmuwdc eciated by written down
ulﬁlcmmlhodp%l 5% per annum for five years. Al the end of Sth mr:hc plant calru:':mlm
b of new technigues of prod and was sold for Rs. 10,771, Prepare Plant Account

for five years.

[Ans. Loss Rs. 20,180 ai the end of 5th yeur)
Hint : Depreciation 2010-11 =Rs, 2,000, 200112 = 59 of 40,000 - 2000 or Rs. 1900, 301213 -
5% » 36,100 = Rs. 1,805, 2002-13 = 5% x (36,100 - 1,805) = Rs. 1715, 201415 = 5% of
32580 = Rs, 1,629, W.D.V. 30,951 - Sabe Rs. 10,771 = Loss Rs. 20,180, -

M. On 1st January, 2012 a firm purchased furniture for Rs. 1,10,000. [ts useful life is estimated for
10 years and the residual values Rs. 10,000, Or Lst July, 2013 and on 1st October, 2014 additional
farniture costing Rs. 19,000 and Rs. 16800 respectively were purchased. The m:dufnl l\alu_r
estimated was Rs. 1,000 and Rs. 800 respectively and the useful Efe 10 years. Depreciation s
writlen off a1 ficed instulment method. Prepare furniture account for four years (from 2012 1o
M15) assuming that books of accounts are closed on 315t December every year.

[Ans. Depreciation Re. 10,000, 10,900, 12,200, 13400 respectively for first four vears.]

: 2 . Re LI 10000 oo o

Hint, : Annual depreciation on Furnilure Ist bt : = 0

. o Re 16800500 _ Golve the
:Hd.lm EM‘"_WM:“’JM'J”’HI, 0 = Rs, L&ML Sobe 1

Yestioon accordingly.

¥. A compan are closed o 31st March, po n 30th Scptember,
pany whose booh e for Rs 160,000 o pt

s April, 201, Adﬂllm':mli Corin Mocinery wich was puchised for R
mu.[f;a'fﬁ“ s::ﬁ;?he‘:nmm was sold for Rs. 136,000 oa 30t September, 2013,

down value method. Prepare the
i annum on wrillen
Preciation is charged at 10% per

March, 2015. -
achinery Account for the year JI;H Rs, 574,200, depreciation Rs. 60,580

[Ans, Balance of Machinery on 1st ?Ils 6,440 + 43740 + 10,000), Profit on sale Rs. 6,040,)

rchased a Machinery for Rs, 600,000
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Ans. : Working Nete : Machinery Account
Dai Particulars Amount | Date Particulars
, : =
015 2012
Apr. 1 | To Bank Ale (A) 6,00,000 | Mar31 | By Depreciation 10% €00y
By Balance cfd 500,00
2012 2013
Apr. | | To Balance bid (A) 540,000 | Mar. 31 | By Dep. (A) 54,000
Sept. 12| To Bank (B) 1,60,000 For 6 months (B) 8,000 |  gag
Mar. 31 | By Balanee ofd
(A) 4,86,000
(B) L5000 | 63800
7,00,000 700,00
2013 2014 | By Dep. (A) 48,600
Apr. 1 |To Balance bid Mar. 31 (B)  15200) 6380
A 4,86,000 Mar. 31 | By Balance ¢/d
B 152,000 | 6,383,000 A 437,400
; B 1.36,500 AN
-6,38000 | 6,38,000
MacHinery Account for 2014-15
Date Particulars Amount | Date Particulars Amosai
204 Rs. 2014 : R
Apr. 1 |To Balance byd  Mar31 | By Bank Afc 136000
(A) 4,37,400 30-1-09 | By Depreciation (6
g (B) 136800 574200 | 2015 months) an B 680
Ag;;ljl To Bank (C) 1,00,000 | Mar. 31 | By Dep. : (A) 43,740 20
Mar. 31 |To P & L Adc (Profit) By Bahnw{?!{l 1 -
{142,840 - 1,36,800) 6040 | Mar. 31 (a) 3,93,660
(B) 4nd
6,580,240 68024
Qb A firm purchased i : .
muﬂ;ﬂuﬂhﬁﬂqu«a;s,mm 1st April, 2011, It pumhﬂf""’ﬁ
ackine B st April, 2012. It sold off one Machine on 1st October, 203
200,000 mp-mhmd-upnl.murum.mm.mgumd‘yurp-w
Mmﬂhmw for Rs. 200000. On 31st March, 2015 it sold for Rs. 75,000 the =
purchased in April, 2011, Depreciation is charged @ 10% per annum on writien 80%°
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yalue method, Prepare

March cach year.
[Ans. Depreciation mg:ﬂ Rs. 50000; (2012-13) Rs. 65,000, (2013-14) Rs. 56,350, 2014-15
\T80; Loss on sale in 201314 Rs. 30,850, in 2013-15 Rs. 56,220.]

Machinery Account for four years. Account Books are closed on 318t

s Machinery Account
] -
Date Particulars Amount | Date Partlculars Amount
Rs. Rs.
2011 iz
apr. 1 | To Bank Afe (A) 3,00,000 Mar31 | By Depreciation
(B) 200,000 _ | 5,00000 (A) 30000 50,000
(B) 20,000
By Balance efd
(A) 270,000 |
(B) 150,000 | 450,000
500,000 | 50000
amz2 m3
Ape. 1 | To Balance bid Mar. 31 | By D{‘F;Edﬂ;::m
270,000 A, !
W E:)J 150000 | 430000 | Mar.31| (B} 18000 |
Ap. 1 |To Bank (@ - . | 200000 [ - {cy 20000 | 65000
By Balance ¢/d |
JA 24300 |
B 162000
¢ 180000 | 385,000
650,000 : 6,530,000
i 0 By Bank Afc (A) . 200,000
e | Ll &
Apr. 1 |To Balance bid - By Dep. (6 months on A) | 12,150
'; ﬁ W4 | By P&L Adc (Loss) 30,850
Mar. 31 | By Depreciation
c _1B0000 | SAs00 B 16,200 |
Oc 1 |'To Bank (D) 200,000 ¢ 15,000
D (6 moaths) 10.000 | 200
By Balance ¢id
Mar. 31 | By - 14500
C 1,62,000
D 1,90,000 497300
e 785,000
7,850
“-..______
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____.___-“ﬂ
2014 25 ‘-1‘-_'""
Apr. 1 | To Balance bid Mar. 31 | By Bank (B) TSty
145800 + 162000+ 150,000 | 4,97.800 By Depreciation (B) 5
By P&L Alc (Loss) 61m

By Depreciation

& o=

By Balance o/d ;m
—l
4,97,800 49780

—_—

Q7. A company purchased a Machine on 1st January, 2012 for Rs. 400,000. On 1st July, 2014 s,
company further purchased a Machine for Rs. 1,00,000. On 1st July, 2015, the compasy ol
off its first Machine purchased on 1st January, 2012 for Rs. 2,50,000. On the same day, i

ation was charged on Machinery every year

purchased a new Machine for Rs. 2,590,000,
@

Deprecistion
107 per annum by fixed instalment method. In 2014, however, the company changed the

method of providing depreciation and adopied the written down value method, the mate o

depreciation being 15% per anaum. Give Machinery Account for the first four years from 2012
to 2005, Books are closed on 31st December every year.

[Ans. Depreciation 2012 Rs. 40,000; 2013 Rs. 40,000; 2013 Rs. 55,500: 2015 Rs, S0

(Rs. 20400 + 13,875 + 18,750); Loss on Salke Rs. 160

Machinery Account Ce
Date Particulars Amount | Date Particulars Amoisnt
Rs. Rs.
mz 2012 y
Jan. 1 | To Bank Adc (A) 400,000 | Dec. 31 | By Depreciation 40,000
By Balance ofd 3,60,000
400,000 400000
2013 2013
Jan. 1 |To Balance bid 360000 | Dec. 1 | By Depreciation 40,000
By Balance ¢/d | 320000
| 3,60,000 | 36000
014 2014
Jan. 1 | To Balance bid 320,000 | Dee. 31 iati
July 1 | To Bank A (B) 1,00,000 o Dcp{;mndgm(jm]
(B) 7,500 (6 months)| 55500
By Balance od
A 272000
B 92,500 364500
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420,00 | 420000
WS s
jan. 1 |TO B::;“ b 2700 Tuly 1 | By Bank Ave (Salc) 2,50,000
(B) By Depreciation (A)
o B ALE () 250 | 3645 | | (for 6 momibs @ 15% | 20,400
July 1 _ 150,000 By P&L Ave (Lss) | 1600
By Depreciation
Dec. 31| B (13875 -C (18750) | 3262
By Balance oid |
_— (18625 = 231.250) | 3meTS |
6,14,500 | 614,500

@8. On 1st April, 2011 a Company purchased a Machinery worth Rs. 260,000 and a Boiler for Re.
4,00,000. On st April, 2003, the boilder being damaged and was sold for Bs. 1,00,000 and a
new boilder was purchased for Rs. 600,000 on the same day. Depreciation & provided at 10%
per annum on diminishing balance method. From the year 2014-15 it was decided 10 change
the diminishing balance method to fed intalment method of depreciation a1 10 percent per
annum. Prepare Machinery Account from 201112 to 201415, Books of accounts are closed on

31st March each year. .
{Ans. Depreciation Rs. 66,000, 59,400, 81,060 and 86,000 respectively. Loss on sale Rs. 2,24,000.]
Ans.: Dr. Machinery Account Cr
Date Particula Amaount
Drate Particulars .I\l:lﬂ L] s
|
o A) Mz:;nn By Depreciation
i .Ihz mnukmm'(mm ae0p00 | |(26000 + 40.000) | a0
( A ‘é;r Balance ¢'d 2
(234000 + 360,000) [_‘"_'“L
,60,000 660,000
FE]
01z Mar. 1 | By nqmci;n;nn Al |
Apt. 1 | To Balance bid (23400 + 36,0000 | 5400
(234000 + 3,60,000) e By Balance ¢/d
(210,600 + 3.24,000) 34,600 |
| | 594000
sp4000 ) 1
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uy ;
2013 201314 % g‘;':_‘_."__"_““——-‘—_____—u_._ﬁndnmm of Business Accoun
e (21060 + 324000 534600 | Mar. 31 | By PAL fr:lzim} Mgy :::21 o B MOare ﬁ_h "o | o, i l
To Bank A (New Boikr) | 600,000 | Mar. 31 | By Depreciation Wity | | ppe. 1 [To Bank () e o [ i -
Mar. 31| (21,060 + 60,000) sy 1 |To Bank {C) 120000 | Mar. 31 |By PAL Ade (Lo | 12000
By Balance c/id Mar. 31 | By Depreciation 10,000
(189,540 + 5,40,000) 25y (4000 + 6,000) |
11,34,600 _l"'--.._ By Balance c/d | 50,000
- o ;_l-é'l_ﬁ __2,3_4__' (B) 36,000 +(C)1,14,000) |
Apr. 1 | To Balance bid Mar. 1 | By Depreciation (10% | 23400 | | 234,000 |
(189,540 + 5,40,000) 7,20,500 or ariginal cost) ) - 3)13[ R 2014
( - Apr. s i Jan. 1 | By Bank {Sak) | 35000
i Bymn wmw (36,000 + 1,14,000) 1,50000 By Dep. (9 months) | 3e00
p elanco 6835w || | apr.1 |To P&L Al (Profir) 2,000 | Mar. 31 | By Depreciation " 12000
20,300 7295 By Balance c/d 102000 |
m.pn Ist July, 2011 a company purchased an old machine for Rs. 68,000, Rs. 1 1 =
its sepairs for making it serviceable and Rs. 1,200 on its installation, On 1st Bﬁmﬁzm w4 W15
machine was purchased for Rs. 40,000. On 1st October, 2012 the first machine being “Apr. 1 | To Balance bid L2000 | Mar. 31 | By Depreciation
mmldl‘mR:.ﬂ,ﬂn,ﬂnlhmhyammmmpmhrhimmu Q0% on Rs. LO2000) | 20,400
January, 2014 the Machine purchased on 104-2012 becoming obsolete was sold for Rs. 350 By By Balance o/d | 81600
::_;:pln Blau:ln_mh, 2014 depreciation was provided @ 10% per annum on fixed instalment metkod 102,000 | L0000
a,d';:.;jlin r":.ccm‘::rmflﬁhl?g Bll-l.l'LﬂI!- h!elhod ufdﬂmsﬁuim @ 20 percent per ansum x5 Qi On st January 2013 machinery account showed a debit balance of Rs. 48,600. Depreciation
31st March, 2015, pere ¥ Account for four years eads! being charged al 109% per anpum on wriltcn mhhﬂw 01" 31st December, 2015, the
fAns. D - proprictor decides 1o change its method of depreciation from written down value methad to
. Depreciation Rf— 6,000, 14,000, 15,000, 20,400, respectively Loss on sake in 31! straight line method with retrospective effect from 151 January, 2003 and adjust the diflerence
Rs. 12,000. Profit in 2013 Rs. 2,000. Balance of Machinery at the end Rs. 8150 an 315t December, 2015, The rate of depreciation remains as before.
Ans. Dr.I Machinery Account [ [Ans. Depreciation 1o be adjsted 6,600 In Balance Sheel, Machinery Adc
Date | Particulars Amount | Date —— Amous s e
| Rs. Rs. {Hint : Machi bal ”mmlmz]u-mx—é--hmonmhm.
011
2012 g .
July 3 To Bank (Purchasc) Alc | 68000 | Mar. 31 | By Depreciation miniﬂbcns_m:t% = R, 6400, Beaacs o eprecition tobe chirged s 2015 doe to change
gy (9 months) © 60| | @ mthog (12000 - 11400) =Rs. 60, Tt degeecalion (6000 +000) =600 be charger i 2013)
+200) | 12,000 | By Balance ¢/d H Syam Suader who depreciatcsits Machines @ 10% per anaum o written down value method
| 80,000 o provides the following information Rs. 500000
Machingry Account as on 1-4-2010 Rs. 135,500
Proviss s wxm'l-&-ﬁw 7 =
ovision for Depreciation R of sale of Machinery but full amount of depreciation
No depreciation is charged
is eharged in the year of purchase. for Rs. 50,000 and old Machinery purchased
On ju;f.tfgjh oneE NEW Mmmﬁ;u ot be sold immediately. However, it
on July 1, 2008 for Rs. 60,000 W
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was expected (o realise Rs. 10,000. Prepare Provision for Depreciation Account, Machings, "———_\\__q___ﬂ Fundamentals of Business Accoun
and Machinery Disposal Account for the year 2010 and 2011, B T _.___________Mldlllm Disposal Accoung
Ans, : Machinery Account Date Particulars P -
— n:“ Date Particulars Amount
2010 Rs. | 2010 h‘; = —_ | Rs
Jan. | To Balance brd 5,00,000 | Dec. 31 By Balance c/d 5 . Rs.
M || July 1 [To Machinery Arc %0000 | July 1 | By Provision for Dep. ave | 16,260
2011 2011 ; By PAL Alc (Loss)
Jan. 1 | To Balanee bid 500000 | July1 |By Machinery (Rs. 60,000 - Rs. 16,260 33.740
July 1 |To Bank Ajc 80,000 Disposal Ajc . - 10,000)
By Balance c/d 520 By Balance oid | 10000
60,000 | 60,000
550,000 S L
u:ml‘nllvllhshhnmlpmrhlkbubﬂm di B Jan 1, 2011 ;
Provision for Depreciation Account ¢ Machinery Afe Rs. Provision for Dqlcc:ltmq?l.';!:.‘m ::;-nlanw} 1, 2011, the
20 B [ st = hﬁ“'"f“’ﬂ:““ﬁhhmﬂm*ﬂwwﬂwﬂﬂ 120,000 on January 1, 2007
Show provision for depreciation Afc the Machinery Afc for the e 3lst December, 2011
Dec. 31 [To Balance ¢/d 171950 | Jan. 1 By Balance byd 13550 | sesuming that the depreciation in charged at 10% peranaum on nﬁ:aﬁmc method.
Dec. 31 | By Depreciation Afc : o
10% on 5,00,000 - 135,500 Ans, § Provisien for Depreciation Account
= 364,500 x4 Date Particulars Amount | Date Purticulars | Amount
| R, Rs.
201 L7188 - 1
1 201 Rs.
2011 Jan. 1 | By Balance byd L7195 Jan. 1 |To Machinery Afc 41,268 | Jam. | |By Ealance bid 3,158,000
Jan. 1 | To Machinery 16260 | Dec. 1 | By Depreciation Dee. 31 | To Balance o/d 317,089 | Dec. 31 | By Depreciation
Dec. 1 Dispasal Afe 10% of  (5,20,000 - (10% on Rs. 680,000 -
To Balance o/ 1,71,950 +16,260) 318000 + Rs. 41268
=3,64310 34 = 403,268 40727,
3583 3,98327
Note : Depreciation is Computed as under : Rs.
Note : Original Cost (1-12007) 1,20,000 Total Accumulated Dep.
Particulars 12,000 12000 + 10,800 + 9720
Leer dop. on 3:12,00 00 + 8748 = Rs. 41,268
-
Original Cost 1-7-2008 10800
Less : Depreciation for 2008 (full one year) Less dep. on 31-12:08 —
Less : Deprediation for 2000 (10% of Rs. 54,000) 9,70
¥ Less dep. on 31- 12-09 -—31;‘5
Less : Depreciation for 2010 (10% of 48,600) Lest : dap. oa SLIBI0 __%
. Total WDV, On 1-1-12 L e
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Ans, : Machinery Account as on Dec. 31, 2011 ___-‘--‘_\
Date Particulars Amount | Date Particulars r;:‘:
B R,
2011 2011 D
Ry,
Jan. I |To Balance b/d 800,000 | July 1 By Bank Afc (Sale) My
By Prov. for Dep. g
By P&L Afc (Loss)
(1,20,000 ~ 34,500 —
41,268) e
By Balance c'd
580 |
8,00,000 0000
Note : Depreciation for 201] ; Balance of Machinery Rs. 6,580,000
Less : Bulance of Provision for Dep, 276,75
MWIDLY ar Machinery m
10% Depreciation to be credited to Provision for depreciation A/jc R, 40,327,
ooo
_—
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—

Meaning and Definition of Reseryes :

Rugermnmmmm

E hm‘wrdsofmllhn%%vnmmwem_mmmo;mﬁa and other

particular Kability } known o exit on the date

of Balance Sheet.” Similarly, it has also been defined iﬁm 11 of schedule V1 1o the Companies Act

including, “any amount writien or retaised by way of providing for depreciation, rencwal

< diminution in the value of Assets or reigined by way of providing for any known lisbility.” Examples

o Reserves are, General Reserve, Capital Reseave, Reserve for Dividend Equalisation, Contingency
Expansion elc.

or Features of Reserves :

The principal features of reserves are :
(i) Since these are set aside out of distributable profits, reserves are alw termed as ‘Retaine
Earnings* or ‘Undistribuied Profits’

i ercated voluntarily for sirengthening the finaacial position of the Business,
{f;; ‘III‘I: n;rmm mm meet any known [ability o depreciation but for mecting an unknown
W liability o{mhss in future. o undistributed profits beloaging to the owners of the biisiness

)

g shown on the liabilitics side of the Balance Sheel,
- just ulaml does. H ":,,. W .;:Lse securities they are called ‘Reserve Fund'

Bihuln;gmm m:rmdm::mm in the following chari :

e

-Itm. nue Reserve

(s)
Sinking
Fund
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Capital Reserve @

In addition to normal profits, capital profits are also carned in a business from seery]
The reserves created out of such sources are known as Capital Rescrve. Such Reserves g
not available for distribution as cash divided among the shareholders of a company, Thys i:“-
‘Capital Reserve’ does not “include any amoum regarded as free for distribution through i, g
and Loss Account.” A Capital Reserve is generally ereated out of profils or gains of 4 nm&
such as :

(i) Capital profit on reissue of forfeited shares, {ii) Profit on sale of fived assers, i) Progy,
to incorparation, (iv) Profit on revaluation of Assets and Liabiliies. (v) Premim on issue of ™
debentures, (vi) Profir on redemption or discount on cancellation of debentures,

Since these profits are not eamed in regular course of the business and hence cany g,
digtributed by way of dividend amongst the sharcholders. However, these may be used for Wriing
mﬁrﬂlmrwmphrrﬁﬁmmdkmumuwwdsmu%
underwriting commission cic. They may also be utilized for writing off Intangible assels for crag,
Goodwill, Patents, Copyrights ete.

However, some capital reserve may be utilized 1o distribute dividend among, the sharehoe
subject to fulfilment of the following conditions :

(i) Articles of the company should not prohibit such distribuion;

{ii) Capital profits must have been realised in Cash, and

{iii) Such profits remains afier a fair revaluation of assets and linbilities,

All the same, it would be prudent on the part of the management not 1o distribute susch profis
to sharcholders. These profits should be kept in the business to strengthen the financial position of
Busingss.

Revenue Reserve :

A Revenue Reserve is that which is not a Capital Reserve, Therelore, these are available fo
dividends for example, General Reserves, Dividend Equalisation Reserve Reserve, Fund et
General Reserve :

A general reserve is ereated by appropriation of profits. This reserve is created withou
specilic or particular purpose. The aim is 1o provide additional working capital or to strengthen i
cash resources of the business, out of profits of the company, from profil and loss approprlit
account. They may be utilised for mecting any unknown liability It is also known as ‘Free Resart.
General reserve is created only when sufficient profits are there in an enerprise.

Purpose or Ohbject @

(i) To swrengthen the liquid resources of a business.

(i} To make available additional working capital,

(iii) To meet any known fiability, contingency or similar other commitment. .

(i) To equalisc the ratc of dividend in the years in which profits are inadequate (0
absence of dividend equalisation reserve), i

() To conceal actual profits in the years in which profils are excessive so as (o use (e

_ future years for maintaing dividend rate when profits arc inadequate. Cod

Vi) To comply legal requircment. For example Debenture Redemption Resen,

WMM(WWMIMMAWM D"’"‘m;;ﬂ
Allowance Reserve, Foreiga Project Allowance Reserve etc. [Under 1 Tax A¢h
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Reserve = =
5""“1 ific reserve is created for some gpecipic
WﬂFi’tiD" aceount. anu,' such lml :‘:: “::I::;: It 15 created by debiting profit .an-!]
st d, e les of i 4 vatable 1o wwe for the purpose For which it
bes T (3) Db 48rvE3 ate: (1) Dhidend Equak el
bas St : (3) Debenture R i ; ;I Equalisation Reierve: (2) Enf..;-:m:m
or for any other fxed assel, () Workmen Copy. H::I.“-’";t and Machincey Roplacemeat
o employees for unknown m““m:‘“ﬁ ion Reserve
Funil : ;
The ‘(und” in T hlli?n 1oy rtncn:: must be used only where such a reserie i specifically
Wuﬂl by 5 “!“m f[:f i In other words, a reserve fund is the sum set avide ouat
o Dinisible m‘“ m.l.llnnd f:ﬂlpmg‘;d:lu_um.. future contingencics or 1o equalise dividends
o o strengthen linancial posiion of a business undertaking.
pistinction between General Reserve and Specific Reserve =

(1) General Reserve is created for a general purpose of drengthening the financial position of
1 busincss; whereas a Speeifie Reserve is restsicted 10 2 specific purpose and is ordinarily not used
for any other purpose.

(2) General Reserve is created out of divisible profits to provide for unexpected or unknown
fuure losses or to strengthen the financial position of the business; whercas Specific Reserve is created
wmeed a further liability or loss such as lavestment Fluctuation Reserve to provide for boss in
fsctuation in value of long-term liability or replacement of & fived assers.

(3) General Reserve can-be wiilised for payment of dividends or for any other purpose at the
dacretion of Board of Dircctor; whereas Specific Reserves, are gencrally used for the purposes fur
which they are created. However, in certain cases, the Board may utilise thom for any other purpose
o,

1.3

I megt © < hsalinn

1 . a " “'
ote that both General Reserve and Specific Resenve are crcated out o
Pﬁswmu;:r:"m Lots Appropriation Account asd not Profit & Loss Account
Difference Between Revenue Reserve and Capital Reserve

ital Resery
S¥o|  Basis Revenue Reserve Capital ©
coeated These reserves are ercated outl of capital
L |Creation  |These reserves - ; :ll_ &f PmﬁuT:ich du:w: arise oul of normal
e Bouires ﬂ.'.wnn:l ¥ activities of Business operaling activities of I:!!l-\in.-q
2] mnhmm fescnves canned be used o
L |Use of Specific reserves mnh:pilm while|distribution of  dividends lnt ll::
Reserve or |carmarked or spec mgmanﬁmwkmhwifl.wpu may
Usage General Reserve may be ion  of |be used to distribute as d.nu::nd subject
i i i Mions
purpose 1 uding without any[to fulfilment of certain con
dividend to sharehokders o
) s ol ereation of these reserve
?E—-——__——-—-—m n%?“ﬁp&“ losses or may be wed
bject The purpose a losses|is to me ! .
reserves is 10 m;ﬁﬁ‘mw {or purposes laid down by companies
and also for strengt Act.
L |position of the Bus
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Secret Reserves @

The term “Secret Reserves' is applied 1o reserve the existence of which does Nt appesy
face of the Balance Sheel. They are also called ‘Hidden Reserve’ or ‘Internal Reserve', Such 5 rq"l(
is not disclosed on the Balance Sheel. It can be said that there is a surplus of assers over H.;";*
and that surplus is not disclosed by the Balance Sheet, .

Under the provisiona of the companics Act, 1956, no company (othér.than a Banking ¢gp,

or Insurance Company) is allowed to maintain secret reserves,
Creation of Secret Reserve :

Such reserves may be ereated in the following ways :

(1) Proving cxcessive depreciation on Fored Assets.

(2} Undervaluing the Goodwill,

(3)  Undervaluing Stock, Investments etc.

(4)  Not accounting for appreciation in the value of fixed assets.

() Making excessive provision for bad and doubtful debts cte. or for any other expenss;

(6) Showing contingent liabilities a3 real liabilities.

(7} Owerstating lisbilities or inducting fictitious liabilities.

(8) Writing off excessive depreciation on fixed assets,

(9) Charging Capital expenditure to Profit & Loss Account (such as addition to foed wa

or overhauling charges of an old plant purchased).
Merits of Secret Reserve

(i) Helpful in Recovering unforseen Losses—The presence -of such reserve will cnabk 3
business enterprise o absorb unforseen and unexpected losses without any difficulty.

(i) Financial Stability of the Business—Creation of such rescrve strengthen the finascid
pasition of & business enterprise without disclosing the fact to sharehiolders of the company of b
public in general

. i) Helpful in Maintaining Regulurity of Dividends — Secret Reserve help the cnlerpris
maintaining the uniform rate of dividend during adverse trading conditions or recession period
. (W) Avoidence of unwanted competition — On account of secrecy of actual profitability of 1

Business eaterprise, the entry for competitors in that particular Lines of Business is avoided.

Demerits of Secret Reserve :

(i) Misuse by Ma t—The management may lake undue advantage by ercating %
reserve. Profits may be supressed to unable them to buy the shares of the company at a lower
and then sclling the same in the markel at a higher rate on elimination of such reserves.

. liiy Unfair 1o Shareholders — Sharcholders who wish 1o sell their shares may not recei® il
fair price of their shares on account of under statement of Profits,

(iii) Untrue and unfair presentation of Financial Statements — On account of uldﬂ““”"";
of Profits, Profit & Loss Al fails to disclose true profits and the Balance Sheet fails to diS0%
true and fair financial position of the business enlerprise,

(iv) Misdeeds of Man, enl are Hidden -5 g

kst ; g Such rescrves may be used by the manageme™
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1.5
On account of aforesaid demegyy il :_'_'___——
. P56 gi e ¢ - of :
c-,p.llr:h::..l-’sﬁ SINCE 11 Fequises Mwi“_hw“ ol al m‘::ﬂ:‘:::ft is not allowed under the
king !
1t is & fund ereated with 3 specifc objective which may be 35 yad
() To redeem or r\cm;hm_“m Eabikiy § may be s umder
(2) To replace a wasting asger for exampl, Yo for eramplc debentures ctc
(3) To replace an asset of deprecighy, m’“: mine of 3 oil well
(4) To renew a Lease,
pifference between Sinking Fund and o Resepe Fund :
(1) Sinkihg Fund is always created for 5 specific pun wh .
o posc; whereas Reserve Fund o usually
Yt o ey of prudence to itrength the finuncial posstion of the busincss
(2)  Sinking Fund is created to meet 3 known Esbdlicy a8 a future date (almost definite);
uhh:r:u Reserve Fund may be ereated for the puspote of equalising dividends or such
other objectives.
Characteristic of Sinking Fund :
The principal features of this fund are a5 under
(1) Iuis abways specific and not peeesal
(i) It is created by selting aside 2 certain sam every year (Annually)
(iii) Money set aside is invested in first class (gilt-edged) securitics, which are easily saleable
in thie market. (iv) It is created for defisite objective or purpose
(2) to replace a worn-oul and obsolcic fived or wasting asset;
(b) o repay a longterm liability.
Difference between u Sinking Fund ereated to Redeem a Liability or to Repay a Loan
and a Sinking Fund to Replace n Wasting Assel :
A sinking fund is mainly cecated for two puerposes ©
(1) To redecm or repay the Long Term Liabiliy,
(2) To replace a Wasling Asscl. o .
Following are the points of difference between these two fypes of sinking funds o
2 ol £ ving a Bability or a loan, the annual comtribulion is
“‘Pﬂfzﬂ"::?:n::m:::‘::;:&mﬁgl::@t and WW‘JP""WM*‘";‘I”E{ ::" 'h‘[“‘]"]':;"i
: e & wasting asact at the ¢ useful life
naal contribution to sinking fund}‘""‘d e profit. This, it & debited to profit and loss
ke nature of depreciation and is a charge agEmt

i : jabili inking fund investments

(ii) When a sinking fund i ercated for 'fd“'wfm m.:::dp‘:i,:ra‘;::mMH ntﬂeh::::sﬁ
SOt andithe Kabilty or debentures of 030 J6OH FE R P od Account is translerred o -
™ of sale proceeds of the investments; a wasting asset, the old asscls account is *
lenery) of a Sinking Fund [0 1ePlact assel is purchased owt of the sale
um[.,,,;t:::;l'k:;cﬁ:d account and it thus closed. The BEW

eds of the sinking fund investments
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The following ledger accounts a1 the end of Sth years will illustrate the
a Sinking fund to replace a Plant & Machine

(a)

vear; and

fa) Sinking Fund to replace Flant & Machinery :

difference bet
ry valued Rs. 500,000 at he ead M;

(b)  a Sinking fund to redeem (or repay) Debentures of Rs. 500,000 a1 the eng of

Sh ye

D Machine Account &
| : &
Sth year | Sth year By Sinking Fund
(beginning) [Ta Balance b/d 500000 |{ead) Account — (Transfer) 500000
Dr. Sinking Fund Account o
Sth I.T Plant & Machi = o
year o Plant & Machinery Sth year By Balance bid
(end) !Aj'c = (Transfer) 500000 | (end) (Instalmenis debited
to Profit and Loss A/c) 5,004,000

Dr. Sinking Fund Investment Account [+

” Rs, Rs.
year 5th Bank —
(beginning) | To Balance b/d 5,00,000 l:-:-nlj;--ur ﬂmmm}"&h i 50000

Dr. New Machine Account G

Rs. Rs.
Gth year Sth Balance
(beginning) |ToBamk | l‘“’ i o .
(b} For Repayment of Liabifity :

Dr. Debentures Account &
Sth year | To Bank " Sth year =
(beginning) | (redempting) 10,00,000 | (beginning) | By Balance byd 500,000

Dr. Sinking Fund Account o
Sth - .
[“ds';u f’l;?;fwral Reserve Sth year By Balance b/d

er) 500000 | (end) (instalment debited 1o | 5,00,000
Profit & Loss
e Appropriation Alc)
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157
" Sinking Fuynq Investment Aceaunt 2y
5y To Balance b/d I -
o) |B—; Bank {Sak) 30000001

Meaning of Provision : Accord

Prpwie- g ing 10 Companies At the term provision refers to any of the
(1) The amount written off or retained of providi SAF 2
diminalion a-valss of . by way pronidieg for depreciation, renewals or
(2) The amount retained by way of p
cannot be determined with acruracy,
It should be clearly understood that if the amouat of known lisbility can be determined with
uuﬂﬂt‘ accuracy, il must be dﬂsiﬁod‘ 1ed & an outright liability and not 2 provision. Abso if asy exceas
.'“'d‘ knowingly or intentionally, tbe amoust in excess of the actoal seed will be treatcd
1 Reserve’

Examples : Provisions are created for the fulfilment of various objectives :
(1) Provision for Depreciation, Repairs asd Reacwals of Asscts.
(2) Provision for Tuxation,
(3) Provision for Bad and Doubtful Debts.

(4)  Provision for Discount on Debiors.

(5) Provision for Fluctuations in the vabee of Investments,
Characteristics or Features of Provisions :

1) Provision is made (o a known lisbility.
[ﬂ:; The Iia:‘iI;' is knmﬁ the amount of such liabality cannot be determined even with
reasonable fi , coniingencies or Bad debis prosision etc.

B) Misa mﬂ.ﬁ mm reduces the profits for the year in which, it is ereated

Dject of Purpose of Provision : i tain the true profit of
I of the business — In order to ascert e e

buriness mit?. et ::iu:n?f::egpmaidns R0 R o et RN S5 Sl tanug Ssia

be debiled | mlm account aed a provision should abso be mads for expenscs or liabilities

i amounl of which cannot be cuimated with reasonable accuracy. For cxampl, the provision should

b made for ful becaise the ameunt of such bad-debis cannot be mmm%f:“'u:ft

doubtful delbts, =The Balance 1 wall e prc
2 true financial position o the business sion
E!:dlrkmurmma positi of the business oaly if adequate provision is made for all

aticipated losses and exp Funds will be required to meet the losses and
To &fmwl'ﬂ*hlm_ = made to ide [unds
‘*ﬁg)nmp:,?ﬁ:h. {0 occur in the ncas fuluge. AS “ﬂ'ﬁ,l"""h“‘"“um‘.'; i "",g:""’mW
““ﬂhrmm“ﬂ-awﬁmfﬂn“ 4 .
"hh-lolr'lscl'rmapcnm;uuwdmhﬂ —For cxample, f 8 machine is estimated to run
i ) For the equitable ﬂhui:l:::“"::m o be incurred during its eatire life span is Rs.
Years and the total amownt

rsmim; for any known liability of which the amount

fog




Rund, of Business 4

118

40,000, a “provision for repairs a/c” will be created by debiting Rs, 4,000 1o cach year's
Account. Actual expenses of repairs incurred cach year will be debited 1o this BCCoun].
I burden on the Profit & Loss Account of each

L oqua

Rt

mhmdmo!mmz

will be very light in the carlier years but definitely heavy in the later years,
Difference between Reserve and Provision

Basis of Reserve Provision ~
Dilference
1. |Meaning It is created to meet an unknown | It is created Io_r;;_r*;‘f“
liability. liability.
2. | Object or Tlmnbjcﬁefrmmishmﬁjuuklnpuﬁ&h
purpese strengthen the financial position of | depreciation, doubsiful debts g
the business, olher specific Habilities.,
% |lely Creation of reserves i discre- | Creation of provision is 5
tionary, it can be created only if necessily, provisions have o be
adequate profits have been carned. provided for even if there are e
profits,
4. | Creation It is created not by debiting to | It is created by debiting 10 PaL

5. | Presentation in
Balance Sheet

6. | Investment
oulside the
business.

7. | Utilisation for
dividends

8 | Wilisation for
other purposes.

Profit & Loss Account but through
Profit & Loss  Appropristion
Account. As such ils creation does
not reduce the net profil but
reduces the divisible profit,

It is shown on the liabilitics side
under the head ‘Reserves and
Surplus’,

Reserves may be invested outside
the busingss,

It can be utilised for distribution as
dividends among sharchold

It is not created to provide for a
specific loss and hence can be wsed

Alc and its creation reduces the s
profit. As such it is n charge agais!
Profits,

It is either shown on the assets sid
by way of deduction from the asa
for which it is ereated or as 2
separate item on the Babilities side.
Provisions are never invesied

outside the business.
It cannot be utilised for distribatios
as dividends among shareholders

I is created 1o provide for 3
specific loss and hence can oaly b

Very Short Questions & Ans

for any purpose or contingency.

Tesi Questions

QL. What are Reserves?

Ans : Reserves mean amo
Or 3 reserve means

cumhedinanrmy:omnclny

unit set aside oul
the amount

used for meeting that loss.

Wers « (Not exceeding 40 words)

of Profits and other surpluses to meel future neeessit®
st aside out of Profits and other surpluses, which are ™
particular liability known (o0 exist, on the date of Balance S
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Q.I-' - Give five exaniples of Reserye

ot Examples of Reserves
" (@) General Rescrve, (i) Capital Re
(i) Dmdvm:mﬁllﬂﬂ-lﬁmt:n ['“I'J Workmen's Compensation Eund,
() Debenture Redempiion Resere (3i) Investmest Fluctuation Fund,

What is meant by Provisign?

' ding 1o i “Provision'
Ans. £ m"‘s m‘:{zﬁdwﬁwh}m any of the following amount

h = Providing depreciation, renewals or diminution
in the value of asset, or (i) The amound retained by way of providing for any kaown liability

{ii) Provision for Bad and Doubiful Diebes
(ki) Provision for Discount on Debiors.
(i¥) Provision for Repairs and Rencwals
(v} Provision for Taxation,
(5. State two main features of Reserve
Ang. : Fealures of Reserve :
(i) Reserves are created voluntarily for streagthening the financial position of the Business.
(ii) Reserves are not created o meel any keown liability or depreciation but for mecting an
unknown liability or loss in foture.
Q6. What is meant by Specific Reserve 7
Ans, : Specific Reserve is a reserve which is ereated for some specific purpose and can be utilized
only for that purpose e.g. Dividend Equalisation Reterve, Reserve for Replacement of Assel elc.
Q7. What is meant by Capital Reserve 7 :
Ans, ; creal t of al profits are known as capital reserve. Capital profits are also
o mmn: h._ga::.sn:um :fy s:::rm aparl from pormal profits. Gemerally, these reserves
are not available for distibuting Dividends lo the share Bolders of a company.
Q8. Give a few examples of Capltal Profits
Ass. : Examples of Capital Profits are :
(i) Profit from sale of fixd :ﬁ':cd ok Rl
ii} Profit on the revaluation s :
:l:l Securilu:‘:.s l’n::ml= jum reccived on lssue of Shares and Debenturcs.
(i) Profit on the purchase of a runsing business.
(v) Profit on redemption of debenturcs.
What is meant by Secret : "hese reserves are created
T isclosed by the Balance Sheet. These c
Ms.: A seret reserve is one Mmdmr [hz that of the Actual profits or by showing the
by showing Profit at o figure @t T ope fgure.
assets at a lower figore and IBEEE Tt five examples.
Haw are Secret Reserve Created °
* Creation of Secret Reserve Profit & Loss Al
{iy Charging capital expenditere (0

Q.
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QL

Qi

Q3.
Ans.

8 At

(i) Under valuation of assets or by writing off excessive depreciation.
(iii) Showing an actual asset as contingent assel.

(iv) Over valuation of Liabilities.

{v) $howing contingent lizbility as an Aciual Liability.

What do you mean by Dividend Equalisation Reserve?

: Dividend Equalisation Reserve is created 1o maintain steady and uniform rate of dividen

shares isswed by a company. In those years in which the profils are adequate, 3 part by
same is transferred 10 such reserve and is wiilized 1o keep and maintain rate of d‘im'h
those. years in which the profits are inadequate. "
What is meant by Reserve for Replacement of an Asset ?

.:Mrmtlurwhmﬂumkmlommhlhemﬂ.

assel Ntk:nddhmﬂiceﬂﬁfe.ﬂemmﬂnfmuﬂdepuﬁuﬁmdmyﬂumkq
capable nfpm'ri!.ilglhcﬂr.i;hal cost of the asset but replacement may require large sum o
money due to inflationary trend of prices. As such, a reserve for replacement of

assel is created.

What are the objectives of creating General Reserve ?
Objectives of creating General Reserve are :

(i) For mecting unforseen losses

(i} For expansion of busincss with internal resources. It s called ploughing back of profits

(iii} For equalization of dividends over subsequent years.

{iv) For strengihening of financial p

of Busi

Short Questions and Answers : (Not exceeding 80 words)

Q1. Differentiate

between reserve and provision

Difference between Reserve and Provision

Ans. :
Basis of Reserve
P Provision
L. | Meaning It is crealed to meet an unknown | Ii is created 1o meet a known
liability. liability.
2. |Object or The object of rescrves is 1o joct i provide
The object s o fior
purpose strengthen the financial position of | depreciation, doubtful debts a8
the business. : other specific liabilities.
3. | Necessity Creation of reserves is discre- | Creation of provisionisa kegal pecesst)
tianary, it can be created only if | prosisions hawe to be peovided for cvot
adequate profits have been earned, | if there are no profits.
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ﬁ__h_
(7 [creation It is created =
* Profit & I.-m;“mhl‘ debiting 10 | Tt is created by debiting to P&L
Profit & Lo but through | Avc ard its creation reduces the net
Acoount, As saeh & Appropriation | profit, As such it is a charge againit
not reduce “ﬂ: e uos | W,
reduces the divible progy |
5 Eromeie:enfa. | on the liabikties side | It is either shown on the assets side
Balunce Sheet sﬂﬂdﬂ the hesd ‘Reserves and by way of deduction from the asset
urplus’ for which it is ecreated or as a
separale item on the labilities side.
6. |Invea ; Reserves may be imvested cuiside | Provisions are mever invested
:;u' P the ouiside the business.
ness.
7. | Utilisation for | It can be wilised for distribution a5 | It cammot be utilised for distribution
dividends dividends among shascholders as dividends among sharcholders
& |Utilisation for | It is nol created fo provide for a | It is created to provide for a
other purposes. | specific loss and hence can be wsed | specific loss and hence can only be
for any purpose or contingency. used for meeting that loas.
Q2 State the meaning of provision and give few examples.
Ass. @ Provision : According 1o j M&mm@anydml@mmm;
(1) The amount written off or retained by way of providing for depreciation, rencwals of
diminution in value of asets; or
{2) The amount retained by way of providing for any known liability of which the amount cannot
be determined with substantial sccuracy. g e _ )
1t should be clearly understood that if the amoust of known lisbility can be determined with
rensonable accuracy, it must be clasified as an oulright liability and not a provision. Also if
any excess provision is made kmowingly or intentionally, the amount in excess of actual need
will be treated as ‘Reserve’. . .
hampll:“&o:hm are created for the falfillment of various objectives. :
(1) Provision for Depreciation, Repairs and Resewals of Assels
(2) Provision for Taxation.
{3) Provision for Bad and Doubtful Debis.
{4) Provision for Discount on Deblors.
(5) Provision for Fluctuations in the value of favestments.
?:" Ddhc&mm.uwh!tmlm!

* Meaning of Secret ReServes : wm“mn,umm.ummmh

The term ‘Secret Reserres’ & led ‘Flidden Reservs’ or ‘Inicrnal Rescrvs’, Sach a
Mupmmwm.m It un;:uidlhu there is a surplus of assets
::::‘ hihllnll‘:l m::phs is not disclosed by the Balanece Sheet.
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:on of the companics Act. 1936, no company (other than a Banking oy,
!lmhcmmm‘;; not allowed to mainiain scorel FESCTVES.
Creathon of Secret Resene : 3
Such reserve may be created:in the following ways :
(1) Proving excessive depreciation on Fived Asscls.
(2) Undenvaluing the Goodwill.
(3) Undervaluing Stock, Iovestments elc.
{4) Not accounting for appreciation in the value of lixed assets.
(§) Making excessive provision for bad and doubtful debts etc. or for any other Cxpenses,
(6) Showing contingent liabilities as real labilities.
{7) Overstating liabilities or inducting fictitions labilities.
Q4. What is mean by Sinking Fund ? State its characteristics.
Ans. : Meaning of Sinking Fund =
It i fund created with a specific objective which may be as under :
(1) To redeem or repay a long-term liabilities, for example debentures ete.
(2) Tor replace a wasting assets for example, a mine or a oil well.
(3) To replace a asset of depreciable nature.
(4) To renew a Lease,
Characteristic of Sinking Fund : 2
The prircipal features of this fund are as under :
(i} It is always specilic and not general.
(i) It is created by seiting aside a certain sum every year (Annually).
(iii}) Money mk:idc is invested in first class (gilt-edged) securities, which are easily salesbl:
mi Qs .
(i) It is created for definite objective of purpose.
(a) To replace a worn-out and obsolete fixed or wasting asset;
(b) To repay a long-term liability.
Q3. Differentiate Between Sinking Fund to Redeem a liability or to Replace a Wasting Assel.
Ans. : Following are the point of dilference between the two
(i) When a sinking fund is created for repaying a liability or a loan, the annual contribution &
an appropriation of profit and thus is debited to profit and loss appropriation account. 08
l:cd ?}qrraw ?:nl}ilru conlribution to sinking fund created to replace a wasting assel al i
end of its useful life is in the nature of depreciation and is a cha inst prafit. Ths i
s debited to profit and loss account, L
(i) When a sinking fund is crealed for redemption of a liability, the sinking fund investmés®
H :rnl and the liability or debentures or loan account is closed by paying off the loas &
fiebentures oul of sale proceeds of the investments; the balance of in Sinking Fund Accos™
;cmmrw erred (o General Reserve, In case of a Sinking Fund to replace a wasting assch
't ::"’ m:;; ':, l':nsf;;r:d to sinking fund account and it is thus closed. The w¥
. rehased the proceeds of the sinking fund investments.
(iii) The following ledger accounts arc opened under the above two ;

L]
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() For repayment of labiligy 7
(i) Sinking fund accoun
(iii) Debentures or Rabilithes accouns
{b) For Replacement of an Asse
b - (i) Sinking, fund Account
(i) Sinkiog fund Tnvestment Account (i) New Asset Account.

pistinguish Between General Reserve and Specific i

pistinetion between General Reserve and Specific R g

(1) General Reserve is created for a geseral purpose of strergihening the financial position of
a business; whereas a Specific Reserve s restricted 1o a specific purpose and is ordinarily
aot used for any olher purpose,

(2) General Reserve is created out of divisible profits to provide for unexpected o unknown
future losses or to strengiben the financial position of the business; whereas Specific Roserve
is created 1o meet a farther labikity or loss such as Imvestment Fluctuation Resene to
puwide for loss in Muctuation in value of long-term Habikity or replacement of a fixed asszts.

What is meant by General Reserve ? What are the objectives of its creation 7

: Meaning of General Reserve : .
A general resenve is created by appropriation of profits. This reserve is created without any specific
or particular purpose. The aim is 1o provide additional working capital or 10 sirengthen the cash
resources of the business, out of profits of the company, from profit and loss appropriation account.
They may be utilized for mecting any unknown Esbiity It & also known as ‘Free Reserve’. Gencral
reserve is crealed oaly when sufficicnt profits are there in an caleqpaise.
Purpose of Objectives of Creation ;
(i) To strengthen the liquid resources of a business.
(i) To make available additional working capital )
(iii) To meet any known liability, contingency or gimilar other commitment. .
(iv) To equalise the rate of dividend in the years in which profits are inadequate (in the absence
i et
e o g e v A i
¥i) To com| require
(vi} PEIE ad, 1”‘:;;‘:';? Allowance Resenve. Development Allowance

. [Under Tax Act. 1961].
Rescrve, Forcign Projedt A

Ans, : Difference Between Revenue Reserve an
Capital Reserve
Bevenue Resene

—

These reserves are crealed oul of capital
i peofits which are not mormal profits.

(1) Sinking fund invesiment account

A Capital Reserve

Baas of
difference

L Creation
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2. Object The main objective of these reserves is to | The main objective of Frm
strengthen the financial position of the | reserves is to meet capital Josgeg Or fy
Business or to meet unforscen losses. the purpose laid down in Compapjs, i
3. Usage These reserves may be used for | These reserves mnm
dividend

carmarked or specific purpose and
General Reserve may be used for any
purpose even for distribution of
dividends.

distribution  as ",
shareholders. However, some POrtion i
may be distributed subject 1o fyg.

of certain condition.
—

Essay Type or Long Answers Questions :

1. What is meant by Reservese ? What are jts characteristics ? Explain different types of resery,

(See page nps. 11.1 and 11.2)
2. What do you understand by
(See page nps. 11.7)
3. Differentiate Between -
(1) Reserves and Provisions _
(i) Revenue Reserves and capital reserves
(iii) General reserve and specific reserve

provisions. Explain their importance.

(See page nps. 11.8)
(See page nps. 11.3)
(See page nps. 11.3)

4. State the meaning or Secret Reserve. How are such reserve created ? Give their merits and demerils

(Sec page nps. 11.4)

5. Distinguish between Sinking Fund to replace an Asset and Sinking Fund to repay the

Liabilities.  (See page nps. 11.5 and 11.6)
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